Form No. MGT-7

Annual Return (other than OPCs and Small Companies)

[Pursuant to sub-section (1) of section 92 of the Companies Act, 2013 and sub-rule (1) of rule 11 of the Companies (Management and Administration) Rules, 2014]

All fields marked in * are mandatory

Refer instruction kit for filing the form



Form language

I REGIST	RATION	OTHER	DFTAILS

i *Corporate Identity Number (CIN)

L52190BR2002PLC009872

ii (a) *Financial year for which the annual return is being filed (From date) (DD/MM/YYYY)

01/04/2024

(b) *Financial year for which the annual return is being filed (To date) (DD/MM/YYYY)

31/03/2025

(c) *Type of Annual filing

Original

Revised

(d) SRN of MGT-7 filed earlier for the same financial years

iii

Particulars	As on filing date	As on the financial year end date
Name of the company	ADITYA CONSUMER MARKETING LIMITED	ADITYA CONSUMER MARKETING LIMITED
Registered office address	GROUND FLOOR, M-19,ROAD NO. 02, S.K. NAGAR,Kidwaipuri,Phulwari,Patna,Bihar,India,80 0001	GROUND FLOOR, M-19,ROAD NO. 02, S.K. NAGAR,Kidwaipuri,Phulwari,Patna,Bihar,India,80 0001
Latitude details	25.615435	25.615435
Longitude details	85.126892	85.126892

(a)	*Photograph of the registered office of the Company
	showing external building and name prominently visible

Photograph of Director.pdf

(b) *Permanent Account Number (PAN) of the company

AA*****3N

(c) *e-mail ID of the company

*****ityaconsumer.com

(d) *Telephone number with STD code

06******54

(e) Website						
*Date of Incorporation	on (DD/MM	I/YYYY)		25/0	17/2002	
		e financial year end date) any/One Person Company)		Public company		
		as on the financial year end date) Company limited by guarantee/Unlimit	ted company)	Com	pany limited by shares	
(Indian Non-Gove	rnment com	iny (as on the financial year end da pany/Union Government Company/Sto npany/Subsidiary of Foreign Company	ate Government Compar	l l	n Non-Government company	
i *Whether company	is having sh	nare capital (as on the financial yea	ar end date)	Yes	S O No	
(a) Whether shares listed on recognized Stock Exchange(s)			Yes	S O No		
(b) Details of stock	exchanges	where shares are listed				
S. No.	Stock Ex	change Name		Code		
1		Bombay Stock Exchange (BSE)	A1 - Bombay Stock Exchange (BSE)		
iii Number of Registra	r and Trans	fer Agent		1		
CIN of the Registrar a	and	Name of the Registrar and Transfer Agent	Registered office ad the Registrar and Tr Agents		SEBI registration number of Registrar and Transfer Agent	
U67120TN1998PL0	C041613	CAMEO CORPORATE SERVICES LIMITED	SUBRAMANIANBUIL CLUBHOUSERO CHENNAI,Tar Nadu,India,600	DAD, mil	INR000003753	
x * (a) Whether Annua	l General N	Neeting (AGM) held		Yes	S O No	
(b) If yes, date of A	GM (DD/M	M/YYYY)		15/0	7/2025	
(c) Due date of AGM (DD/MM/YYYY)				30/09/2025		
(d) Whether any extension for AGM granted						
(d) Whether any ex	tension for	AGM granted		○ Yes	⊚ No	
	ne Service F	AGM granted Request Number (SRN) of the GNL	-1 application form	○ Yes	s	
(e) If yes, provide the filed for extens	ne Service F ion	-		(Yes	S NO	

	CIPAL BUSINESS ACTIVITIES mber of business activities	OF THE COMPANY				1		
5. No.	Main Activity group code	Description of Main Activity group	Business Ac	tivity	Descrip Busines	tion of s Activity	% of turnover	
1	G	Wholesale and retail trade; repair of motor vehicles and motorcycles	4.	7	of mo	rade, except tor vehicles notorcycles	100	
		BSIDIARY AND ASSOCIAT	E COMPANIES	(INCLUDIN	G JOINT V	ENTURES)		
*No	. of Companies for which in	formation is to be given	E COMPANIES	(INCLUDIN	Г	entures)		
*No		formation is to be given	registration	Name o	of the	0 Holding/	r/Associate/Jo re	% of share held
	. of Companies for which in	formation is to be given Other	registration	Name o	of the	0 Holding/ Subsidiary		share
SHAI	. of Companies for which in	formation is to be given Other numb	registration er	Name o compar	of the	0 Holding/ Subsidiary		share

Particulars	Authorised Capital	Issued capital	Subscribed capital	Paid Up capital
Total number of equity shares	15000000.00	14633887.00	14633887.00	14633887.00
Total amount of equity shares (in rupees)	150000000.00	146338870.00	146338870.00	146338870.00

Number of classes

1

Class of shares	Authorised Capital	Issued capital	Subscribed Capital	Paid Up capital
EQUITY				
Number of equity shares	15000000	14633887	14633887	14633887
Nominal value per share (in rupees)	10	10	10	10
Total amount of equity shares (in rupees)	150000000.00	146338870.00	146338870	146338870

(b) Preference share capital

Particulars	Authorised Capital	Issued capital	Subscribed capital	Paid Up capital
Total number of preference shares	0.00	0.00	0.00	0.00
Total amount of preference shares (in rupees)	0.00	0.00	0.00	0.00

Number of classes	0

Class of shares	Authorised Capital	Issued capital	Subscribed Capital	Paid Up capital
Number of preference shares				
Nominal value per share (in rupees)				
Total amount of preference shares (in				
rupees)				

(c) Unclassified share capital

Particulars	Authorised Capital	
Total amount of unclassified shares	0	

(d) Break-up of paid-up share capital

Particulars	Number of shares		Total Nominal Amount	Total Paid-up amount	Total premium	
	Physical	DEMAT	Total			
(i) Equity shares						
At the beginning of the year	0	14633887	14633887.00	146338870	146338870	
Increase during the year	0.00	0.00	0.00	0.00	0.00	0
i Public Issues	0	0	0.00	0	0	
ii Rights issue	0	0	0.00	0	0	
iii Bonus issue	0	0	0.00	0	0	
iv Private Placement/ Preferential allotment	0	0	0.00	0	0	
v ESOPs	0	0	0.00	0	0	
vi Sweat equity shares allotted	0	0	0.00	0	0	
vii Conversion of Preference share	0	0	0.00	0	0	
viii Conversion of Debentures	0	0	0.00	0	0	
ix GDRs/ADRs	0	0	0.00	0	0	
x Others, specify	0	0	0.00	0	0	
Decrease during the year	0.00	0.00	0.00	0.00	0.00	0
i Buy-back of shares	0	0	0.00	0	0	
ii Shares forfeited	0	0	0.00	0	0	
iii Reduction of share capital	0	0	0.00	0	0	
iv Others, specify	0	0	0.00		0	
At the end of the year	0.00	14633887.00	14633887.00	146338870.00	146338870.00	
(ii) Preference shares						
At the beginning of the year	0	0	0.00	0	0	
Increase during the year	0.00	0.00	0.00	0.00	0.00	0

Particulars		Number of shar	es	Total Nominal Total Paid-up Total Amount amount prem				
i Issues of shares	0	0	0.00	0	0			
ii Re-issue of forfeited shares	0	0	0.00	0	0			
iii Others, specify								
0	0	0	0.00	0	0			
Decrease during the year	0.00	0.00	0.00	0.00	0.00	0		
i Redemption of shares	0	0	0.00	0	0			
ii Shares forfeited	0	0	0.00	0	0			
iii Reduction of share capital	0	0	0.00	0	0			
iv Others, specify								
0		0	0.00		0			
At the end of the year	0.00	0.00	0.00	0.00	0.00	0		
ii Details of stock split/consolidation dur	ing the year (for	each class of sha	ares)	0				
Class of sha	ires							
Before split / Consolidation	Number of sl	hares						
	Face value po	er share						
After split / consolidation	Number of sl	hares						
	Face value po	er share						
iii Details of shares/Debentures Transfer since the incorporation of the compar		ate of last financ	cial year (or in the	e case of the first	return at any tin	ne		
✓ Nil								
Number of transfers								
Attachments:								

Details of shares/Debentures Trans	sfers					
Debentures (Outstanding as at the end of fi a) Non-convertible debentures	inancial year)					
Number of classes				0		
Classes of non-convertible debentures	Number of units		Nominal va per unit	llue		value tanding at the f the year)
Total						
Classes of non-convertible debentures	Outstanding as at the beginning of the year	Incre the y	ase during ear	Decrease during the	year	Outstanding as at the end of the year
Total						
Partly convertible debentures					'	
Number of classes				0		
	Number of units					
Classes of partly convertible debentures	Number of units		Nominal va per unit	ilue		value tanding at the f the year)
	Number of units		l	ilue	(Outs	tanding at the
Classes of partly convertible debentures Total Classes of partly convertible debentures	Outstanding as at the beginning of the year		l	Decrease during the	(Outs end o	tanding at the

*Number of classes								0			
Classes of fully conv	vertible debent	ures	Number of unit	1		Nomin per uni	er unit ((Out	Total value (Outstanding at the end of the year)	
Total											
Classes of fully conv	vertible debent	ures	Outstanding as a the beginning of the year		Increa	ase durir ear	ng	Decrease during the	year	Outstanding as at the end of the year	
Total											
Summary of Indebt	tedness		anding as at eginning of the		crease d e year	luring		rease ing the year		utstanding as at ne end of the year	
Non-convertible del	bentures		0.00		0.00	0		0.00		0.00	
Partly convertible d	ebentures		0.00		0.00	0		0.00		0.00	
Fully convertible de	ebentures		0.00		0.00	0		0.00		0.00	
Total			0.00		0.00	0		0.00		0.00	
Securities (other tha	n shares and de	ebentur	es)					0			
Type of Securities	Number of Securities	l l	Nominal Value of each Unit		Total N Value	lominal		Paid up Val of each Uni		Total Paid up Value	

V Turnover and net worth of the company (as defined in the Companies Act, 2013)

(c) Fully convertible debentures

ii * Net worth of the Company

206946508.59

VI SHARE HOLDING PATTERN

A Promoters

S. No	Category	Equity		Pre	ference
		Number of shares	Percentage	Number of shares	Percentage
1	Individual/Hindu Undivided Family				
	(i) Indian	8084315	55.24	0	0.00
	(ii) Non-resident Indian (NRI)	0	0.00	0	0.00
	(iii) Foreign national (other than NRI)	0	0.00	0	0.00
2	Government				
	(i) Central Government	0	0.00	0	0.00
	(ii) State Government	0	0.00	0	0.00
	(iii) Government companies	0	0.00	0	0.00
3	Insurance companies	0	0.00	0	0.00
4	Banks	0	0.00	0	0.00
5	Financial institutions	0	0.00	0	0.00
6	Foreign institutional investors	0	0.00	0	0.00
7	Mutual funds	0	0.00	0	0.00
8	Venture capital	0	0.00	0	0.00
9	Body corporate (not mentioned above)	0	0.00	0	0.00

10	Others					
		0	0.00	0	0.00	
	Total	8084315.00	55.24	0.00	0	

Total number of shareholders (promoters)

4			

B Public/Other than promoters

S. No	Category	Equity		Pref	ference
		Number of shares	Percentage	Number of shares	Percentage
1	Individual/Hindu Undivided Family				
	(i) Indian	4544129	31.05	0	0.00
	(ii) Non-resident Indian (NRI)	51000	0.35	0	0.00
	(iii) Foreign national (other than NRI)	0	0.00	0	0.00
2	Government				
	(i) Central Government	0	0.00	0	0.00
	(ii) State Government	0	0.00	0	0.00
	(iii) Government companies	0	0.00	0	0.00
3	Insurance companies	0	0.00	0	0.00
4	Banks	0	0.00	0	0.00
5	Financial institutions	0	0.00	0	0.00
6	Foreign institutional investors	0	0.00	0	0.00
7	Mutual funds	0	0.00	0	0.00
8	Venture capital	0	0.00	0	0.00
9	Body corporate (not mentioned above)	703000	4.80	0	0.00

10	Others				
	HUF, FPI, QIB, LLP	1251443	8.55	0	0.00
	Total	6549572.00	44.75	0.00	0

Total number of shareholders (other than promoters)

671

Total number of shareholders (Promoters + Public/Other than promoters)

675.00

Breakup of total number of shareholders (Promoters + Other than promoters)

Sl.No	Category	
1	Individual - Female	157
2	Individual - Male	316
3	Individual - Transgender	0
4	Other than individuals	202
	Total	675.00

C Details of Foreign institutional investors'	(FIIs) holding	shares of the compar	ıv
C Details of Foreign institutional investors	(i iis) iioiuiii	g silaies of the compai	ı٧

Name of the	Address	Date of Incorporation	Country of Incorporation	Number of shares held	% of shares held

VII NUMBER OF PROMOTERS, MEMBERS, DEBENTURE HOLDERS [Details of Promoters, Members (other than promoters), Debenture holders]

Details	At the beginning of the year	At the end of the year
Promoters	4	4
Members (other than promoters)	479	671
Debenture holders	0	0

VIII DETAILS OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

A Composition of Board of Directors

Category	Number of directors at the beginning of the year Number of directors at the end of the year		Percentage of shares held by directors as at the end of year			
	Executive	Non- executive	Executive	Non- executive	Executive	Non- executive
A Promoter	2	2	2	2	31.67	7.68
B Non-Promoter	0	2	0	2	0.00	0.00
i Non-Independent	0	0	0	0	0	0
ii Independent	0	2	0	2	0	0
C Nominee Directors representing	0	0	0	0	0.00	0.00
i. Banks and FIs	0	0	0	0	0	0
ii Investing institutions	0	0	0	0	0	0
iii Government	0	0	0	0	0	0
iv Small share holders	0	0	0	0	0	0
v Others						
Total	2	4	2	4	31.67	7.68

^{*}Number of Directors and Key managerial personnel (who is not director) as on the financial year end date

B (i) Details of directors and Key managerial personnel as on the closure of financial year

Name	DIN/PAN	Designation	Number of equity shares held	Date of cessation (after closure of financial year : If any) (DD/MM/YYYY)
YASHOVARDHAN SINHA	01636599	Managing Director	3385086	
SUNITA SINHA	01636997	Whole-time director	1249929	
VANDANA SINHA	01671087	Director	561857	
MEENA SHARMA	02004554	Director	561857	
ATUL SINHA	08948807	Director	0	

NUSRAT SYED HASSAN	01885538	Director	0	
HRIDAYA NARAYAN TIWARI	AGHPT5845K	Company Secretary	0	
ANIL KUMAR SINGH	AXMPS1667E	CFO	0	

B (ii) *Particulars of change in director(s) and Key managerial personnel during the year	B (i	ii)	*Particulars of	change in	director(s) and	l Key managerial	personnel d	uring the ye	ear
---	------	-----	-----------------	-----------	-----------------	------------------	-------------	--------------	-----

0		
---	--	--

Name	DIN/PAN	Designation at the beginning / during the financial year	Date of appointment/ change in designation/ cessation (DD/MM/YYYY)	Nature of change (Appointment/ Change in designation/ Cessation)

IX MEETINGS OF MEMBERS/CLASS OF MEMBERS/ BOARD/COMMITTEES OF THE BOARD OF DIRECTORS

A MEMBERS/CLASS / REQUISITIONED / NCLT/COURT CONVENED MEETINGS

*Number	of meetings	held

1

Type of meeting	Date of meeting (DD/MM/YYYY)	Total Number of Members entitled to attend meeting	Attendance	
			Number of members attended	% of total shareholding
ANNUAL GENERAL MEETING	02/08/2024	564	10	62.44

B BOARD MEETINGS

*Number of meetings hel

6

S.No	Date of meeting (DD/MM/YYYY)	Total Number of directors as on the date of meeting	Atte	endance
			Number of directors attended	% of attendance
1	24/05/2024	6	6	100
2	03/07/2024	6	6	100
3	28/10/2024	6	6	100

4	12/11/2024	6	6	100
5	17/02/2025	6	6	100
6	12/03/2025	6	6	100

C COMMITTEE MEETINGS

Numbei	of m	eetings	he	ld
--------	------	---------	----	----

7

S.No	Type of meeting	Date of meeting (DD/MM/YYYY)	Total Number of Members as on the date of meeting	Attendance	
				Number of members attended	% of attendance
1	AUDIT COMMITTEE	24/05/2024	3	3	100
2	AUDIT COMMITTEE	03/07/2024	3	3	100
3	AUDIT COMMITTEE	28/10/2024	3	3	100
4	AUDIT COMMITTEE	12/11/2024	3	3	100
5	AUDIT COMMITTEE	12/03/2025	3	3	100
6	NOMINATION & REMUNERATION COMMITTEE	12/03/2025	3	3	100
7	SHAREHOLDERS GRIEVANCE COMMITTEE	12/03/2025	4	4	100

D ATTENDANCE OF DIRECTORS

S. N o	Name of the Director	Воа	ard Meetings	S	Committee Meetings			Whether attended AGM held on
		Number of Meetings which director was entitled to attend	Number of Meetings attended	% of attenda nce	Number of Meetings which director was entitled to attend	Number of Meetings attended	% of attend ance	15/07/2025 (Y/N/NA)
1	YASHOVARDHAN SINHA	6	6	100	0	0	0	Yes
2	SUNITA SINHA	6	6	100	0	0	0	Yes
3	VANDANA SINHA	6	6	100	1	1	100	Yes

4	MEENA SHARMA	6	6	100	7	7	100	Yes
5	ATUL SINHA	6	6	100	7	7	100	Yes
6	NUSRAT SYED HASSAN	6	6	100	7	7	100	Yes

X REMUNERATION OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

l	V	i

A *Number of Managing Director, Whole-time Directors and/or I	Manager
whose remuneration details to be entered	

2			

S. No.	Name	Designation	Gross salary	Commission	Stock Option/ Sweat equity	Others	Total amount
1	YASHOVARDHAN SINHA	Managing Director	4260000	0	0	0	4260000.00
2	SUNITA SINHA	Whole-time director	12000000	0	0	0	12000000.00
	Total		16260000.00	0.00	0.00	0.00	16260000.00

В	*Number of	CEO, C	CFO and	Company	secretar	y whose i	remunera	tion
	details to h	a antai	rad					

2			

S. No.	Name	Designation	Gross salary	Commission	Stock Option/ Sweat equity	Others	Total amount
1	HRIDAYA NARAYAN TIWARI	Company Secretary	846300	0	0	0	846300.00
2	ANIL KUMAR SINGH	CFO	1367807	0	0	0	1367807.00
	Total		2214107.00	0.00	0.00	0.00	2214107.00

(^ *Number of	other	directors	whose	remuneration	details to	he entere	Ч

2

S. No.	Name	Designation	Gross salary	Commission	Stock Option/ Sweat equity	Others	Total amount
1	VANDANA SINHA	Director	1140000	0	0	0	1140000.00
2	MEENA SHARMA	Director	840000	0	0	0	840000.00
	Total		1980000.00	0.00	0.00	0.00	1980000.00

XI MATTERS RELATED TO CERTIFICATION OF COMPLIANCES AND DISCLOSURES

If No, give reason	s/observations				
	UNISHMENT – DETAILS ALTIES / PUNISHMENT II		NV/		
DIRECTORS/OFF		WPOSED ON COMPA	.NY/		
Name of the company/ directors/ officers	Name of the court/ concerned Authority	Date of Order (DD/MM/YYYY)	Name of the Act and section under which penalised / punished	Details of penalty/ punishment	Details of appeal (if any) including present status
*DETAILS OF COM Name of the company/ directors/	Name of the court/ concerned Authority	Date of Order (DD/MM/YYYY)	Name of the Act and section under which	Particulars of offence	Amount of compounding (in rupees)
officers			offence committed		
III Details of Share	eholder / Debenture ho	lder			
Number of shareh	nolder/ debenture holde	r		675	
IV Attachments					
(a) List of share ho	olders, debenture holde	rs		Details of Shareholder	r_31.03.2025.xlsm
(b) Optional Attac	hment(s), if any			MGT-	onsumer_Marketing_2

XV COMPLIANCE OF SUB-SECTION (2) OF SECTION 92, IN CASE OF LISTED COMPANIES

In case of a listed company or a company having paid up share capital of Ten Crore rupees or more or turnover of Fifty Crore rupees or more, details of company secretary in whole time practice certifying the annual return in Form MGT-8.

I/We certify that:

- (a) The return states the facts, as they stood on the date of the closure of the financial year aforesaid correctly and adequately.
- (b) Unless otherwise expressly stated to the contrary elsewhere in this return, the Company has complied with applicable provisions of the Act during the financial year.
- (c) The company has not, since the date of the closure of the last financial year with reference to which the last return was submitted or in the case of a first return since the date of incorporation of the company, issued any invitation to the public to subscribe for any securities of the company.
- (d) Where the annual return discloses the fact that the number of members, (except in case of one person company), of the company exceeds two hundred, the excess consists wholly of persons who under second proviso to clause (ii) of sub-section (68) of section 2 of the Act are not to be included in reckoning the number of two hundred.

I/ We have examined the registers, records and books and papers of

ADITYA CONSUMER MARKETING LIMITED as required to be

maintained under the Companies Act, 2013 (the Act) and the rules made thereunder for the financial year ended on

(DD/MM/YYYY) | 31/03/2025

In my/our opinion and to the best of my information and according to the examinations carried out by me/us and explanations furnished to me/ us by the company, its officers and agents, I/ we certify that:

A The Annual Return states the facts as at the close of the aforesaid financial year correctly and adequately.

- B During the aforesaid financial year the Company has complied with provisions of the Act & Rules made there under in respect of:
- 1 its status under the Act;
- 2 maintenance of registers/records & making entries therein within the time prescribed therefor;
- 3 filing of forms and returns as stated in the annual return, with the Registrar of Companies, Regional Director, Central
- Government, the Tribunal, Court or other authorities within/beyond the prescribed time;
- 4 calling/ convening/ holding meetings of Board of Directors or its committees, if any, and the meetings of the members of the company on due dates as stated in the annual return in respect of which meetings, proper notices were given and the proceedings including the circular resolutions and resolutions passed by postal ballot, if any, have been properly recorded in the Minute Book/registers maintained for the purpose and the same have been signed;
- 5 closure of Register of Members / Security holders, as the case may be.
- 6 advances/loans to its directors and/or persons or firms or companies referred in section 185 of the Act;
- 7 contracts/arrangements with related parties as specified in section 188 of the Act;
- 8 issue or allotment or transfer or transmission or buy back of securities/ redemption of preference shares or debentures/ alteration or reduction of share capital/ conversion of shares/ securities and issue of security certificates in all instances;
- 9 keeping in abeyance the rights to dividend, rights shares and bonus shares pending registration of transfer of shares in compliance with the provisions of the Act
- 10 declaration/ payment of dividend; transfer of unpaid/ unclaimed dividend/other amounts as applicable to the Investor Education and Protection Fund in accordance with section 125 of the Act;
- 11 signing of audited financial statement as per the provisions of section 134 of the Act and report of directors is as per subsections (3), (4) and (5) thereof;
- 12 constitution/ appointment/ re-appointments/ retirement/ filling up casual vacancies/ disclosures of the Directors, Key Managerial Personnel and the remuneration paid to them;
- 13 appointment/ reappointment/ filling up casual vacancies of auditors as per the provisions of section 139 of the Act;
- 14 approvals required to be taken from the Central Government, Tribunal, Regional Director, Registrar, Court or such other authorities under the various provisions of the Act;
- 15 acceptance/ renewal/ repayment of deposits;
- 16 borrowings from its directors, members, public financial institutions, banks and others and creation/ modification/ satisfaction of charges in that respect, wherever applicable;
- 17 loans and investments or guarantees given or providing of securities to other bodies corporate or persons falling under the

provisions of section 186 of the Act; 18 alteration of the provisions of the Memorandum	and/ or Articles of Association of t	ne Company;		
To be digitally signed by		DEEPAK KUMAR DHIR	Digitally rigned by DEEPAK RIMAR Date: 2005.09.09 13.48.22 + 407.00	
Name		DEEPA	K KUMAR DHIR	
Date (DD/MM/YYYY)		09/09/	/2025	
Place		NEW [DELHI	
Whether associate or fellow:				
○ Associate				
Certificate of practice number		1*2*6		
XVI Declaration under Rule 9(4) of the Companies ((Management and Administration	Rules, 2014		
*(a) DIN/PAN/Membership number of Designated Po	erson	01636	599	
*(b) Name of the Designated Person		YASHO	OVARDHAN SINHA	
Declaration				
I am authorised by the Board of Directors of the Cor	mpany vide resolution number*	10		dated*
	o sign this form and declare that all		•	
and the rules made thereunder in respect of the subwith. I further declare that: 1 Whatever is stated in this form and in the attachm subject matter of this form has been suppressed or 2 All the required attachments have been complete	nents thereto is true, correct and co concealed and is as per the origina	omplete and n I records main	o information mater	ial to the
*To be digitally signed by		Yasho han Si		
*Designation (Director /Liquidator/ Interim Resolution Professional (IRP)/Resolu	ution Professional (RP))	Directo	or	
*DIN of the Director; or PAN of the Interim Resolutio Professional (IRP) or Resolution Professional (RP) or I		0*6*6	*9*	

*To be digitally signed by	Hridaya Narayan Tiwari
Company Secretary Company secretary in practice	
*Whether associate or fellow:	
AssociateFellow	
Membership number	4*2*4
Certificate of practice number	
Note: Attention is drawn to provisions of Section 448 and 449 of the Companies Act, 20 statement / certificate and punishment for false evidence respectively.	13 which provide for punishment for false
For office use only:	
eForm Service request number (SRN)	AB6642958
eForm filing date (DD/MM/YYYY)	09/09/2025
This eForm has been taken on file maintained by the Registrar of Companies through e statement of correctness given by the company	ectronic mode and on the basis of

Sr.	Type of	Category of	Details of	Name of shareholder/ debenture	Type of	Class of	Folio	DP ID-	Nationa	Gender	Type of	Identificati	Occupatio	Number of	Nominal	Total
No.	sharehold	shareholder	shareholder/	holder	security	security	Number /	Client Id-	lity/		Identifier	on No.	n	security	value per	amount of
	er/		debenture		held	held	Reference	Account	Countr					held	security	securities
	debenture		holder				Number	Number	y of							held (in
	holder	Other than	Not	MAHENDRA GIRDHARILAL				12010400	incorpo		Income	AAAPW1				INR)
1	Individual			WADHWANI	Equity			00056261	India	Male	Tax PAN	327L	Others	30000	10	300000
<u> </u>	marriada	'	Not	TO ASTROPAGE				12010600	maia	Maio	Income		Professio			
2	Individual			RAVHEE LADDHA	Equity			00542122	India	Male	Tax PAN		nal	1000	10	10000
		•	Not		1 - 1			12010600			Income	AJEPD31				10000
3	Individual		l .	RAJESH HIRALALJI DANGRA	Equity			02372598		Male	Tax PAN		Business	1000	10	10000
			Not		' '			12010600			Income		Housewif			
4	Individual	promoter	applicable	DEEPTI SOOD	Equity			03065606	India	Female	Tax PAN	29L	е	2000	10	20000
			Not					12010600			Income	MTVPS03				
5	Individual	promoter	applicable	ARYAN SHARMA	Equity			03703828	India	Male	Tax PAN	04P	Others	1000	10	10000
		Other than	Not					12010600			Income	AAOHP77				
6	Individual	promoter	applicable	PANKAJ MOHAN HUF	Equity			03878631	India	Male	Tax PAN	75D	Business	1000	10	10000
		Other than	Not					12010600			Income	AACHM4				
7	Individual			ML LOHIA AND SON HUF	Equity			04278965	India	Male	Tax PAN	754R	Business	1000	10	10000
		Other than	Not					12010600			Income	AGLPV48				
8	Individual			SATYA VEER	Equity			04884351	India	Male	Tax PAN		Others	1000	10	10000
		Other than	Not					12010604			Income	APZPS64				
9	Individual			SURANDER KUMAR SOOD	Equity			00094611		Male	Tax PAN		Others	1000	10	10000
		Other than	Not					12010604			Income	BLXPS03				
10	Individual		_ ' '	AMIT SOOD	Equity			00101799		Male	Tax PAN		Service	1000	10	10000
		Other than	Not					12010605			Income	AANHR15	1			
11	Individual	-		RAJ KUMAR GUPTA HUF	Equity			00411240		Male	Tax PAN			8000	10	80000
			Not					12010900			Income		Housewif			
12	Individual			SHANTABEN MANGILAL BAFNA	Equity			03363267	India	Female	Tax PAN	37C	е	1000	10	10000
			Not					12010900			Income	AACPH32	1			
13	Individual			REKHA ASHOK JAIN	Equity			04899361	India	Female	Tax PAN		е	1000	10	10000
l			Not		<u>_</u>			12010900			Income	DRXPS87				
14	Individual			PUNIT KUMAR SINGH .	Equity			09666571		Male	Tax PAN		Business	2000	10	20000
l			Not	l.,,	L			12010900			Income	ABDFS17				
15	Individual	•	 ' ' 	KSHITIJ AGRAWAL .	Equity			10111698		Male			Business	21000	10	210000
4.0	ا العالم على		Not	ANULL BANGAL				12010900		NA-1-	Income	AGEPB37	D	4000	40	10000
16	Individual			ANUJ BANSAL	Equity			15070007		Male	Tax PAN			1000	10	10000
17	Individual		Not	KAILASH SARDA	Equity			12010900		Mole	Income	ABNFM00	1	2000	10	20000
17	Individual	ļ'	applicable Not	NAILAON SAKUA	Equity			16242686 12010900		Male		20E ATDPC45	Business	2000	10	20000
10	Individual			NITESH KUMAR CHAHAR	Equity			17171061		Mala	Income		Others	1000	10	10000
18	Individual		applicable Not	INTEST KUIVIAK CHAHAK	Equity			12010900		Male		AAEPR71	Others	1000	10	10000
19				RAJSHRI CHOUDHARY	Equity			17220741		Female	Income Tax PAN		Others	26000	10	260000
19	iriuiviuual	'	Not	TASSITA CHOODHAN	Lquity			12010900		i ciliale	Income	AMDPB87	Outers	20000	10	200000
20	Individual			MAMTA BANSAL	Equity			20224694		Female			Others	2000	10	20000
20	iriuiviuuai		Not		Lquity			12010900		i ciliale	Income	AQZPK90	Ouicis	2000	10	20000
21	Individual			ABHISHEK KASHYAP	Equity			27848681		Male			Others	9000	10	90000
			Not	, ADITION EN TAGENTAL	Legaily			12010900		IVIUIC	Income	AGEPN47	001013	0000	10	30000
22	Individual			SUDHIR KUMAR NAYAK	Equity			34804346		Male			Others	15000	10	150000
~~	iriuiviuual	Promore	labbiicanie		-quity			0+004040	Illula	Iviaic	iavi.√un	סטט	Outers	13000	اا	100000

		041	TN1-4	T	Г	140040004		T	lı	IDDODK64				1
23	Individual	Other than	Not	SHLOK KUMAR	Equity	12010924 00118903	India	Male	Income Tax PAN	BRQPK61 38R		1000	10	10000
23	Individual	promoter		SHLOK KUWAK	Equity	12011700	muia	iviale		AACPD89	Service	1000	10	10000
24	امينامانياما	Other than	Not	NAU ECU DDIVAKANT DALAI	Courie.		مانم	Mala	Income			10000	10	100000
24	Individual	promoter	 ' ' 	NAILESH PRIYAKANT DALAL	Equity	00002099	india	Male	Tax PAN		Business	10000	10	100000
0.5		Other than	Not		,	12013200			Income	AGDPA59		4000	1.0	10000
25	Individual	promoter		SAURABH AGARWAL	Equity	00325767	India	Male	Tax PAN		Student	1000	10	10000
		Other than	Not			12013200			Income	ABKPG58			1	
26	Individual	promoter		RAM PRAKASH GARG	Equity	00423211	India	Male	Tax PAN	10H	Business	3000	10	30000
		Other than	Not			12013200			Income	ABKPG58				
27	Individual	promoter		RAJEEV KUMAR GARG	Equity	00423226	India	Male	Tax PAN		Business	3000	10	30000
		Other than	Not			12013200			Income		Housewif			
28	Individual	promoter		KIRAN BALA GARG	Equity	00423298	India	Female	Tax PAN	28P	е	3000	10	30000
		Other than	Not			12013200			Income		Housewif			
29	Individual	promoter	applicable	SAVITA GUPTA	Equity	00442931	India	Female	Tax PAN	473A	е	3000	10	30000
		Other than	Not			12013200			Income	AMLPM41				
30	Individual	promoter	applicable	PRATYUSH MITTAL .	Equity	00635586	India	Male	Tax PAN	19R	Service	40000	10	400000
		Other than	Not			12013200			Income	BMEPG8				
31	Individual	promoter	applicable	SHUBHI GARG	Equity	01676603	India	Female	Tax PAN	234R	Student	2000	10	20000
		Other than	Not			12013200			Income	ACSPT97				
32	Individual	promoter	1	ASHOK THUKRAL	Equity	01784011	India	Male	Tax PAN		Retired	1000	10	10000
-		Other than	Not			12013700			Income	AAVPN10			1	10000
33	Individual	promoter	1	SHAILENDRA NAHAR	Equity	00046558	India	Male	Tax PAN	18L	Business	2000	10	20000
-	marriadai	Other than	Not			12013700	maia	Maio	Income	AALHD93	Bueinese		1.0	20000
34	Individual	promoter	1	DEWANSHU MAHESHWARI HUF .	Equity	00507544	India	Male	Tax PAN		Business	1000	10	10000
	marviadai	Other than	Not	DEW/((VOITO W/(TEO)) (V/(TTO))		12013700	maia	Ividic	Income	ALEPD74	Dusiness	1000	110	10000
35	Individual	promoter	1	FORUM MAHESH DOSHI	Equity	00510477	India	Female	Tax PAN		Others	4000	10	40000
55	Illulviduai	Other than	Not	I OROW WATESTI BOSTII	Legalty	12017500	IIIula	l ciliale	_	AEJPB86	Others	14000	110	140000
26	Individual	1	1	VIMAL SUDARSHAN BAFNA	Equity	00534612	India	Female	Income Tax PAN		Business	7000	10	70000
36	Individual	promoter	applicable Not	VIIVIAL SUDARSHAN BAFNA	Equity	12017500	IIIuia	remale	1 -	AKWPB1	Dusiness	7000	110	70000
27	ا مان با مان	Other than		TE LA CIAVANII CLIDA DOLLANI DA ENIA	is		l al: a		Income		D	2000	10	20000
37	Individual	promoter	applicable	TEJASWANI SUDARSHAN BAFNA	Equity	00534650	india	Female	Tax PAN		Business	3000	10	30000
00		Other than	Not	D/OTIMODI		12018600		L .	Income	ALYPM58				
38	Individual	 '	t.: '.	JYOTI MODI	Equity	00086597	India	Female	Tax PAN	18K	е	2000	10	20000
		Other than	Not			12018800			Income	AHCPK24			1	
39	Individual	promoter	+ ' '	DHEERAJ KUMAR LOHIA	Equity	00001155	India	Male	Tax PAN		nal	277000	10	2770000
		Other than	Not			12018800			Income	AAFPL00				
40	Individual	promoter	applicable	RAJ KUMAR LOHIA	Equity	00002577	India	Male	Tax PAN		Business	10000	10	100000
		Other than	Not			12018800			Income	AAFHD77				
41	Individual	promoter	applicable	DHEERAJ KUMAR LOHIA HUF .	Equity	00004137	India	Male	Tax PAN		Business	24000	10	240000
		Other than	Not			12019101			Income	AGAPM3				
42	Individual	promoter	applicable	SAMRESH MAGGON	Equity	00304988	India	Male	Tax PAN	172H	Others	2000	10	20000
		Other than	Not			12019101			Income	EMLPK50	Housewif			
43	Individual	promoter	applicable	SANGEETA KHIMESARA	Equity	03204113	India	Female	Tax PAN	84H	е	2000	10	20000
		Other than	Not			12019101			Income	DRDPK11				
44	Individual	promoter	1	SHAHNAJ KHATOON	Equity	04531095	India	Female	Tax PAN	99H	е	1000	10	10000
		Other than	Not			12019101			Income	BFUPT72			†	
45	Individual	promoter	1	MANINDER THAKUR	Equity	04822562	India	Male	Tax PAN		Others	1000	10	10000
		Other than	Not		1-1-1-11	12019101			Income	BZEPS39	3	1.000	1.	
46	Individual		1	LILADHAR SHARMA	 Fauity	05428984	India	Male	Tax PAN		Business	12000	10	120000
+0	iriuiviuual	Promoter	Tahhiiranie	LILADI IAIX OI IAIXIVIA	Equity	00420304	iriuia	liviaic	I I av L'AIN	1430	Draginess	12000	110	120000

		Other than	Not	HEMANTKUMAR		12019101	T	T	Incomo	BSZPM63	I		T	T
47	Individual	promoter		BHAGWANTRAO MANE	Equity	05810461	1	Male	Income Tax PAN		Business	2000	10	20000
47	IIIuiviuuai	Other than	applicable Not	BHAGWANTRAO WANE	Equity	12019101		iviale	 	AAXPA12		2000	10	20000
۸٥	Individual				Equity			Male	Income Tax PAN	80H	1	12000	10	120000
48	Individual	promoter	applicable	VINOD KUMAR AGRAWAL	Equity	05820366	india	iviale	Tax PAIN	ООП	Business	12000	10	120000
		Other then	Body			12010101		Not	linaamaa	A A C E \ A (O				
40	□	Other than	corporate			12019101		Not	Income	AACFW0	Durainasa	500	10	5000
49	Entity	promoter	(not	WHAMIA TRADERS LLP	Equity	05837397	india	applicable				500	10	5000
	La alla dala a a l	Other than	Not		- :	12019101		NA-1-	Income	ACAPL53	1	0000	10	00000
50	Individual	promoter		DARSHAN CHHABRA	Equity	06016438		Male	Tax PAN	97B	Business	9000	10	90000
_,	La alla dala a a l	Other than	Not	CURORUMOUM	- :	12019103		NA-1-	Income	AWHPM6	1	0000	10	00000
51	Individual	promoter		SUBODH MOHAN	Equity	00280580		Male	Tax PAN	902E	Others	2000	10	20000
		Other than	Not	POOLANI OLIALI	,	12020000			Income	CHXPS93		4000		40000
52	Individual	promoter	applicable	POOJAN SHAH	Equity	00361269		Male	Tax PAN		Business	4000	10	40000
		Other than	Not			12020000		l	Income	BHKPA43	1		1.	
53	Individual	promoter	applicable	HEMANG AGRAWAL	Equity	00393850		Male	Tax PAN	88P	Others	6000	10	60000
		Other than	Not			12020000		l	Income	BKWPS3			1.	
54	Individual	promoter	applicable	RISHABH RAMESH SHAH	Equity	00462231	India	Male	Tax PAN	817E	Business	2000	10	20000
		Other than	Not	l		12020000	l	<u>_</u> .	Income	GDOPS2	Professio		1	1
55		promoter	applicable	NIKITA SHARMA	Equity	00490597	India	Female	Tax PAN	428M	nal	1000	10	10000
		Other than	Not			12020600			Income	ALTPK67	Housewif			
56	Individual	promoter		MADHU KHANDELWAL	Equity	00077171	India	Female	Tax PAN	62D	е	1000	10	10000
		Other than	Not			12020600			Income		1			
57	Individual	promoter	1 1 1	RAJ KUMARI DEVI	Equity	01892741		Female	Tax PAN	74E	nal	2000	10	20000
		Other than	Not			12020600	1		Income	BQSPB01				
58	Individual	promoter		DINESH MANJI BARVADIA	Equity	02761405	India	Male	Tax PAN	03N	Business	2000	10	20000
			Body											
		Other than	corporate	WAYS VINIMAY PRIVATE		12023500		Not	Income	AABCP70				
59	Entity	promoter	(not	LIMITED	Equity	00351154	India	applicable	Tax PAN	37N	Business	563000	10	5630000
		Other than	Not			12024200			Income	ATNPA18				
60	Individual	promoter	applicable	RIZWAN ALI	Equity	00800081	India	Male	Tax PAN	14C	Others	1000	10	10000
		Other than	Not			12024200			Income	ЕМЕРМ0	Housewif			
61	Individual	promoter	applicable	MAYA .	Equity	00985771	India	Female	Tax PAN	788M	е	2000	10	20000
		Other than	Not			12024200			Income	CBNPS91				
62	Individual	promoter	applicable	RAKESH SOM	Equity	00985917	India	Male	Tax PAN	71E	Others	1000	10	10000
		Other than	Not			12024200			Income	BSZPS69				
63	Individual	promoter	applicable	SANTOSH KUMAR SHARMA	Equity	01136001	India	Male	Tax PAN	16B	Others	3000	10	30000
		Other than	Not			12027000			Income	AYUPV85				
64	Individual	promoter	applicable	NITU VISHNOI	Equity	00672195	India	Female	Tax PAN	83B	Others	4000	10	40000
		Other than	Not			12027000			Income	CPRPR50				
65	Individual	promoter	applicable	RAVITASH .	Equity	00961914	India	Male	Tax PAN	65J	Others	1000	10	10000
		Other than	Not			12027000			Income	AYUPV85				
66	Individual	promoter	applicable	RAMESHWAR VISHNOI	Equity	00977451	India	Male	Tax PAN	82A	Others	2000	10	20000
		Other than	Not			12029900			Income	ACRPJ89				
67	Individual	promoter	applicable	SACHIN JINDAL	Equity	03435082	India	Male	Tax PAN	24D	Business	1000	10	10000
		Other than	Not			12029900			Income	ACMPJ69	Professio			
68	Individual	promoter	applicable	SANTOSH KUMAR JINDAL	Equity	05206250	India	Male	Tax PAN	00A	nal	4000	10	40000
		Other than	Not			12029900			Income	ARDPM5	Housewif			
69	امطابياطييما	promoter	applicable	MALTI.	Equity	05604369	India	Female	Tax PAN	729J	е	3000	10	30000

	Ι	Other than	Not	1		12030000	1	I	Incomo	ALOPT16	Γ	1	1	
70	Individual	I		ASHVIN H TANK	Equity	00968024	India	Mala				1000	10	10000
70	Individual	promoter	applicable Not	ASTIVIN T TANK	Equity		india	Male		FXFPS59	Others	1000	10	10000
74	los alicciales al	Other than		TANKA DANLIEEV CLIADAA		12030400	 	F	Income		C414	2000	10	20000
71	Individual	promoter	applicable	TANYA RANJEEV SHARMA	Equity	00941454	india	Female	Tax PAN	68J	Student	3000	10	30000
			Body	ALITOFOOLIO CONOLII TANITO		4000000								
70	- ···	Other than	corporate	AUTOFOCUS CONSULTANTS	,	12032300		Not	Income	AAICA62	<u>.</u>	40000	1.0	100000
72	Entity	promoter	(not	INDIA PRIVATE LIMITED	Equity	05478561	India	applicable			Business	19000	10	190000
70		Other than	Not		,	12032300	ļ		Income	ATQPK40		4000	1.0	1,000
73	Individual	promoter		ANUJ KUMAR .	Equity	12653454	India	Male			Others	1000	10	10000
	l	Other than	Not			12032800	l		Income	AHXPC24				
74	Individual	promoter	applicable	SARIN CHERIAN .	Equity	00699888	India	Male	Tax PAN		Others	5000	10	50000
		Other than	Not			12033200	l		Income	AKCPA49			1	1
75	Individual	promoter	applicable	BHASKAR AGARWAL	Equity	07539320	India	Male	Tax PAN		nal	1000	10	10000
		Other than	Not			12033200			Income	BEKPA03				
76	Individual	promoter	applicable	BISHNU DEBANANDA AGRAWAL	Equity	15832830	India	Male	Tax PAN		Others	2000	10	20000
		Other than	Not			12033200			Income	AXSPC28				
77	Individual	promoter	applicable	Swadesh Kumar Chaurasiya	Equity	21255349	India	Male	Tax PAN		Others	2000	10	20000
		Other than	Not			12033200			Income	JVNPK09				
78	Individual	promoter	applicable	Anju Kumari	Equity	34740129	India	Female	Tax PAN		Others	2000	10	20000
		Other than	Not			12033200			Income	ALOPB45				
79	Individual	promoter	applicable	Amit Bhadoriya	Equity	36707259	India	Male	Tax PAN	59L	Others	3000	10	30000
		Other than	Not			12033200			Income	AYGPM8				
80	Individual	promoter	applicable	BHUNESHWAR KUMAR MAHTO	Equity	56301282	India	Male	Tax PAN	650C	Business	1000	10	10000
		Other than	Not			12033200			Income	BAGPS35				
81	Individual	promoter	applicable	ABHINAV SHEKHAR	Equity	57051037	India	Male	Tax PAN	24N	Others	1000	10	10000
		Other than	Not			12033200			Income	DSFPK90	Professio			
82	Individual	promoter	applicable	SHAURYA KUMAR	Equity	88165534	India	Male	Tax PAN	23P	nal	1000	10	10000
		Other than	Not		. ,	12033201			Income	OSVPS51				
83	Individual	promoter	applicable	PRAKASH KUMAR SAHOO	Equity	03334403	India	Male	Tax PAN	84J	Business	1000	10	10000
		ľ	1 ' '							 	Governm			
		Other than	Not			12033201			Income	AEOPT99	ent			
84	Individual	promoter		DAYA SHANKER THAKUR	Equity	93857111	India	Male			Services	2000	10	20000
		Other than	Not			12033202				BEMPK20				
85	Individual	promoter		AJAY KUMAR	Equity	20388835	India	Male			Others	2000	10	20000
		Other than	Not	GOPAL KRISHNA		12033202				AANPJ80				
86	Individual	promoter	applicable	JHUNJHUNWALA	Equity	21394477	India	Male			Business	1000	10	10000
		Other than	Not			12033202			Income	LCMPS07			1	1
87	Individual	promoter	applicable	SANGEETA SANGEETA	Equity	51755291	India	Female			Others	2000	10	20000
		Other than	Not		1-127	12033202			Income	FASPS16	3513		1.0	+
88	Individual	promoter	applicable	SANYUKTA SINGH	Equity	53946163	India	Female			Others	1000	10	10000
	a.viadai	Other than	Not	2 3 3	1-47	12033202		. Silialo	Income	CSUPD06		1.555	+	+:5555
89	Individual	1	applicable	DEEPSHIKHA DEEPSHIKHA	Equity	61692101	India	Female			Others	3000	10	30000
	a.viauui	Other than	Not		1–44m.)	12033203	aiu	. Silialo		ALBPC84	31013		+'-	
90	Individual	promoter	applicable	SHALU AMIT CHAWLA	Equity	08106173	India	Female			Business	2000	10	20000
5 5	maividual	Other than	Not	OTTALO / NIVIT OTTAVVLA	- quity	12033203	mula	Tomale	Income	ATAPA26	מפטוווכטט	2000	10	2000
91	Individual	promoter		BABITA AGRAWAL	 Equity	08905071	India	Female			Others	3000	10	30000
<i>3</i> I	inuividual	Other than	Not	PRAVEEN CHANDRA	Lequity	12033203	illula	i ciliale		AHMPC6	Outers	13000	10	30000
വ	Individual	1			 Equity		India	Mala	Income		Rucinoss	1000	10	10000
92	Individual	promoter	applicable	CHAURASIA	Equity	29854801	muia	Male	Tax PAN	439Q	Business	1000	10	10000

		lou u	The c	T	1 1	14000000	1	<u> </u>	1.	D711DD40	1	Ī	1	
		Other than	Not	DUGUBAN IAL LIGUNA DI		12033203				BZHPR42	011	4000	10	10000
93	Individual	promoter	 ' ' 	PUSHPANJALI KUMARI	Equity	38328520	India	Female	_		Others	1000	10	10000
		Other than	Not			12033500			Income	ABFPK64			1	
94	Individual	promoter	 ' ' 	VIJENDER KUMAR	Equity	01603844	India	Male			Business	1000	10	10000
		Other than	Not			12033500			Income	AJCPR23	Housewif			
95	Individual	promoter		POONAM RANI	Equity	01671284	India	Female	Tax PAN	71L	е	2000	10	20000
		Other than	Not			12033500			Income	AZKPC11				
96	Individual	promoter	 	SAHIL CHHABRA	Equity	02217462	India	Male	Tax PAN		Others	11000	10	110000
		Other than	Not			12033500			Income	AESPJ19				
97	Individual	promoter	applicable	NIRMALA JAIN	Equity	02760796	India	Female	Tax PAN	48L	Others	1000	10	10000
		Other than	Not			12033500			Income	AGGPC1	Housewif			
98	Individual	promoter	applicable	MAMTA .	Equity	02886870	India	Female	Tax PAN	237K	е	6000	10	60000
		Other than	Not			12033600			Income	ABIPS000	Housewif			
99	Individual	promoter	applicable	HEMAL CHURCHILL SHAH	Equity	00016387	India	Female	Tax PAN	6M	е	5000	10	50000
		Other than	Not			12033900			Income	AMRPS87				
100	Individual	promoter	applicable	MEGHA SANJAY BANSAL	Equity	00209328	India	Female			Others	1000	10	10000
100		Other than	Not			12034500			Income	AHBPM68			1	10000
101	Individual	promoter		SHYAMAL MITRA	Equity	00779999	India	Male	Tax PAN			2000	10	20000
	marriadai	Other than	Not		Lagary	12034500	maia	iviale	Income	NJOPS27	Buomicoo		1.~	20000
102	Individual	promoter		AVINASH SINGH	Equity	00875294	India	Male			Others	4000	10	40000
102	IIIdividuai	Other than	Not		Legalty	12034500	IIIula	Iviaic		EEUPA72	Otricis	1-000	110	140000
103	Individual	promoter	I	ARMAN AGARWAL	Equity		India	Male			Student	2000	10	20000
103	IIIuiviuuai	Other than	Not	ANWAN AGANWAL	Equity	12034500	IIIuia	iviale	Income	CCEPP20	Student	2000	110	20000
104	امياناناناما			DOO IA BANDEY	Fauity		India	Famala			Business	10000	10	100000
104	Individual	promoter		POOJA PANDEY	Equity	00952480	muia	Female			Business	10000	10	100000
405	La diada a	Other than	Not		leit.	12034500	11:	NA - 1 -		BOMPS8	041	0000	10	00000
105	Individual	promoter	_ ' '	RAJKUMAR SHAW	Equity	00956531	india	Male	Tax PAN		Others	2000	10	20000
		Other than	Not			12034500		l	Income	BXWPC3			1.	
106	Individual	promoter	 ' '	CHANDAN CHOWDHURY	Equity	00977560	India	Male	Tax PAN		Business	2000	10	20000
		Other than	Not			12034500			Income	AAIHA97			1	
107	Individual	promoter	 ' '	ABHINANDAN S JAIN HUF .	Equity	00995913	India	Male	Tax PAN		Business	8000	10	80000
		Other than	Not	ALPESHBHAI RASIKLAL SHAH		12035000			Income	AAOHA05				
108	Individual	promoter	applicable	(HUF)	Equity	01489411	India	Male			Business	1000	10	10000
		Other than	Not			12036000			Income	AKQPA11				
109	Individual	promoter	applicable	ANDREW ALPHONSO	Equity	00968703	India	Male	Tax PAN	50M	Others	2000	10	20000
		Other than	Not			12036000			Income	BDZPB88	Housewif			
<u>110</u>	Individual	promoter	applicable	SNEHA BANKA	Equity	05182247	India	Female	Tax PAN	72J	e	1000	10	10000
		Other than	Not			12036000			Income	ASHPK74				
111	Individual	promoter	applicable	MUKESH KUMAR KALYAINYA	Equity	07814798	India	Male	Tax PAN	50K	Service	22000	10	220000
		Other than	Not			12037600			Income	GOGPR8				
112	Individual	promoter	I	SUSHMA RANI	Equity	05585221	India	Female			Others	1000	10	10000
	·	Other than	Not			12041500			Income	CKZPS82				
113	Individual	I		SANGITA HIREN SHAH	Equity	02208561	India	Female		54B	e	1000	10	10000
+		Other than	Not		17	12041800			Income	ACZFS49		1	1	1
114	Individual	promoter		ALOK SINGH	Equity	00111479	India	 Male			Business	5000	10	50000
1 1-7	a.viduai	Other than	Not	,	- yany	12042200	maia	IVIGIO	Income	ALSPS60			1	
115	Individual	promoter		RACHITA SHRIPALKUMAR SHAH	Fauity	00020841	India	Female		l a 4 B		1000	10	10000
113	iriuiviuuai	Other than	Not	TAGENTA GENERAL ROWAR SHAFT	Lequity	12042200	iiiuia	i ciliale		AJBPJ99	е	1000	10	10000
116	Individual				Equity	00155048	India	Female	Income		Studont	1000	10	10000
110	Individual	Ibroulorei	applicable	SAKSHI SHRIPAL SHAH	Equity	100133048	iiiuiä	Female	Tax PAN	08Q	Student	1000	10	10000

		I	ID - d-	T	T T		ı			ı		T	Ŧ	
		Other than	Body corporate			12043700		Not	Income	AABCB45				
117	Entity	promoter		B B COMMERCIAL LTD	Equity	01653631	India	applicable			Others	1000	10	10000
	Littly	Other than	Not	B B COMMERCIAL ETB	Equity	12044400	IIIuia	арріісаріе	Income		Housewif	1000	10	10000
118	Individual	promoter		PALLAVI SANJAYBHAI JOSHI	Equity	00237278	India	Female		33L	n lousewii	5000	10	50000
110		Other than	Not	ALLAVI GANGAT BITAI 300111	Equity	12044400	IIIdia	Citiale	Income	AGXPJ12	Housewif	3000	110	30000
110		promoter		KAMLABEN DILIPBHAI JOSHI	Equity	00237599	India	Female		24E	n lousewii	5000	10	50000
113		Other than	Not		Equity	12044700	IIIdia	Citiale	Income	ARXPD51	C	3000	110	30000
120		promoter		VIRENDRA DHAKA	Equity	06872424	India	Male			Student	2000	10	20000
120	ITIGIVIGUAI	promoter	Not	VIICEIVEIVE	Equity	12044700	IIIdia	IVIAIC	Income	AEWPV8	Otagoni	2000	110	20000
121	Individual	Promoter		YOSHAM VARDHAN	Equity	07431896	India	Female			Business	449157	10	4491570
	ITIGIVIGUAI	i romotor	Not	TOOTIV WIT VY (LOTIV (LV	Equity	12044700	IIIdia	Citiale	Income	ABXPS90	Dusiness	1440107	110	14431070
122	Individual	Promoter		YASHOVARDHAN SINHA	Equity	07623549	India	Male			Business	3385086	10	33850860
122		Other than	Not	TACTIONAL CITY IN	Equity	12044700	IIIdia	IVIAIC		AANHA73	Dusiness		110	00000000
123		promoter		AJAY KUMAR HUF .	Equity	07724581	India	Male			Business	825443	10	8254430
120	IIIdividual	promotor	Not	TOTAL TOTAL	Equity	12044700	maia		Income	BBAPS46	Buoillooo	020110	1.0	0201100
124	Individual	Promoter		MEENA SHARMA	Equity	07726063	India	Female			Others	561857	10	5618570
121	IIIdividual	i romotor	Not		Equity	12044700	maia	Tomaio	Income	ADXPV25	0 11010	001007		0010070
125	Individual	Promoter		RASHI VARDHAN	Equity	07726097	India	Female			Others	1876429	10	18764290
120	IIIdividual	i romotor	Not	TO COLLI VI IL COL	Equity	12044700	maia	Tomaio	Income		Housewif	1070120		10701200
126	Individual	Promoter		VANDANA SINHA	Equity	07815852	India	Female	Tax PAN		e	561857	10	5618570
120	marriadai	Other than	Not	77.11.27.11.71.31.11.71	Lquity	12044700	maia	Torriare	Income	BOOPK0		001001		10010070
127	Individual	promoter	I	ANGAD KUMAR	Equity	07893636	India	Male	Tax PAN		Others	800000	10	8000000
		Other than	Not	7.4167.65 116177.41	Lquity	12044700	maia	Maio	Income	AKHPS83	0 11010			
128		promoter	I	RINU SINHA	Equity	08303003	India	Female	Tax PAN		Others	1095129	10	10951290
	a.r.aaa.	Other than	Not			12044700	maia	- Cinais	Income	ALCPA68	0 111010	1000120	1.5	1.000.1200
129	Individual	promoter		ROHIT KUMAR AGARWAL	Equity	09076413	India	Male			Student	5000	10	50000
	a.r.aaa.	Other than	Not		qan.y	12044700	maia	i i i i i i i i i i i i i i i i i i i	Income	BMXPG3	- Ctadont		' '	
130 li	Individual	promoter	I	AJAY KUMAR GUPTA	Equity	09370906	India	Male			Business	1000	10	10000
1		Other than	Not			12044700				BJQPK34			1	1.0000
131	Individual	promoter		AMRITA KUMARI	Equity	09645006	India	Female			Business	3000	10	30000
		Other than		CHANDRA SHEKHAR PRASAD		12044700				AFEPG49				
 132	Individual	1		GUPTA	Equity	09709705	India	Male		l	Service	14000	10	140000
		Other than	Not			12044700				BNCPR41			-	
 133	Individual			MAYANK RAJ	Equity	10250808	India	Male			Others	1000	10	10000
		Other than	Not			12044700				ACUPA38				
134	Individual	promoter	applicable	SEEMA AGRAWAL	Equity	11252133	India	Female			Business	1000	10	10000
		Other than	Not			12044700				AASHM19				
135	Individual	promoter		MUNDADA SANJAY HUF .	Equity	14829038	India	Male	Tax PAN		Business	1000	10	10000
		Other than	Not			12044700				EYOPS93				
136	Individual	promoter	applicable	SHASHANK SHEKHAR	Equity	22319354	India	Male		67A	Others	1000	10	10000
		Other than	Not			12044700				ADPPK73				
137	Individual	promoter	applicable	ARVIND KUMAR KANDHWAY	Equity	22898520	India	Male			Others	1000	10	10000
			Body											
		Other than	1 -	JAI MATA DI FINANCIAL		12044700		Not	Income	AACCJ01				
138 I	Entity	promoter		SOLUTIONS PRIVATE LIMITED	Equity	23901261	India	applicable			Business	24000	10	240000
	-	Other than	Not			12044700				BGGPA9				
		promoter	applicable	ANIMESH ANKUR	Equity	27687214	la e	Male	Tax PAN	432H	Others	3000	10	30000

		Other than	Not	Ī	T T	12044700	1		Incomo	ITCPS161	Ī	<u> </u>	Т	<u> </u>
140	Individual	promoter		KUMAR SHUBHAM	Equity	28019563		Male	Income Tax PAN	7E	Others	2000	10	20000
140	muividuai	Other than	applicable Not	KUWAK SHUBHAW	Equity	12044700		Iviale	†	BWPPG4	Others	2000	110	20000
111	lndividual	1		CHIVANII CLIDTA	Cauity			Famala	Income	883B	Othoro	4000	10	40000
141	Individual	promoter Other then	applicable Not	SHIVANI GUPTA	Equity	28104959 12044700		Female	Tax PAN	AHRPN22	Others	4000	10	40000
440	امينامانياناما	Other than			Facility		1	Famala	Income			1000	10	10000
142	Individual	promoter	1 1 1	RASHMI NARAYAN	Equity	29226620	india	Female	Tax PAN	54R	nal	1000	10	10000
			Body			10011000		.						
	–	Other than	corporate	NNM OF OUR DITIES	,	12044800		Not	Income	AAACN80		0000		00000
143	Entity	promoter	11	NNM SECURITIES	Equity	00019179		applicable			Business	6000	10	60000
		Other than	Not	KETAN YASHWANT		12046200		L	Income	ANRPS03			1.0	
144	Individual	promoter	applicable	SHRIMANKAR	Equity	00009473		Male	Tax PAN	35E	Business	1000	10	10000
l l		Other than	Not			12046200			Income	AAJHJ06			1	
145	Individual	promoter	applicable	JATIN KANUBHAI PATEL (HUF) .	Equity	00026818	India	Male	Tax PAN	96Q	Business	1000	10	10000
											Governm			
		Other than	Not			12047200			Income		ent			
146	Individual	promoter		PANKAJ KUMAR	Equity	06265289		Male	Tax PAN	58E	Services	1000	10	10000
		Other than	Not			12047200			Income	AFMPN75				
147	Individual	promoter	applicable	SHARAD NATANI	Equity	09329950	India	Male	Tax PAN	61G	Others	1000	10	10000
		Other than	Not			12047200			Income	AEZPS03				
148	Individual	promoter	applicable	SUNIL SHARAN SINHA	Equity	09688304	India	Male	Tax PAN	21R	Retired	1000	10	10000
		Other than	Not			12047200			Income	ALDPN65	Housewif			
149	Individual	promoter	applicable	NANISHA A	Equity	10783484	India	Female	Tax PAN	71D	е	1000	10	10000
		Other than	Not			12047200			Income	ANHPA85			1	
150	Individual	1		AMITA .	Equity	11039982		Female	Tax PAN	72H	Others	1000	10	10000
		Other than	Not			12047200			Income	CCKPD89				
151	Individual	promoter	1	PIMMA DEVI	Equity	15418391		Female	Tax PAN	47F	Others	1000	10	10000
		Other than	Not		1 - 4 - 1 - 1	12047200			Income	AFHPK35		1.000		
152	Individual	promoter	1	RAJEEV KUMAR	Equity	17324287	India	Male	Tax PAN		Business	3000	10	30000
102	marriadai	promotor	аррпоавто	10.0224.1000.11	Legally	17.02.1207	maia	Maio	Taxiii	10011	Governm		1.0	
		Other than	Not			12047200			Income	ANGPM7	ent			
153	Individual	promoter	1	MANOJ KUMAR GUPTA	Equity	18899955		Male	Tax PAN		Services	2000	10	20000
100		Other than	Not	WANCO KOWAK GOLTA	Lquity	12047200		Iviaic	Income		Professio	2000	110	20000
151	Individual			SUSHIL KUMAR MAHESHWARI	Equity	19620818		Male	Tax PAN		nal	1000	10	10000
134	IIIuiviuuai	promoter	арріісаріе	3031 IL KOWAK WAITESI WAKI	Equity	19020010	IIIuia	Iviale	IAXIAN	010	Governm	1000	10	10000
		Other then	Not			12047200			Incomo	BGNPS47				
155	Individual	Other than	Not	ATUL KUMAR SOOD	Equity	23335566		Male	Income			1000	10	10000
100	Individual	promoter Other than	+ ' '	ATUL KUIVIAK SUUD	Equity			iviale	Tax PAN		Services	1000	10	10000
150	اصطنينطييط	Other than	Not		Cauity	12047200		Mala	Income	BWPPK9	Othora	1000	10	10000
100	Individual	promoter	+ • • • • • • • • • • • • • • • • • • •	AJAY KUMAR .	Equity	43967458		Male	Tax PAN	304M	Others	1000	10	10000
, _ ,	La alta di T	Other than	Not	AMISHA SANKETKUMAR	it.	12048900			Income			4000	140	40000
15/	Individual	promoter	applicable	PRAJAPATI	Equity	00769416		Female	Tax PAN	84L	e	1000	10	10000
		Other than	Not		<u> </u>	12048900		<u> </u>	Income			1000	1.0	40000
158	Individual	+	 ' ' _ 	KINJAL HIRENKUMAR DALWADI	Equity	00770761		Female	1	83P	е	1000	10	10000
		Other than	Not			12049200			Income	ADWPN8				
159	Individual	promoter	 ' ' 	MOHAMMAD NIAZUDDIN	Equity	00545679	+	Male	Tax PAN	+	Business	1000	10	10000
		Other than	Not			12049200			Income	AHZPG17				
160	Individual	promoter	 ' ' 	HARI RAM GAUR .	Equity	03370364	India	Male	Tax PAN	28P	Others	1000	10	10000
		Other than	Not			12049200			Income	EHNPK56				
161 l	Individual	promoter	applicable	MUHAMMED RUSHAID.	Equity	04153686	India	Male	Tax PAN	00J	Others	1000	10	10000

		Other than	Not			12049800	I		Income	AEMPC74	Housowif	1	1	
162	Individual			VARSHA CHIICH			India	Famala			Housewii	12000	10	120000
162	Individual	promoter		VARSHA CHUGH .	Equity	00229411	india	Female	Tax PAN	94J	e	12000	10	120000
		041 41	Body	INDO THALOGOLIDITIES LIMITED		40050000		NI-4	1					
		Other than		INDO THAI SECURITIES LIMITED-		12050900	l	Not	Income	AAACI43		5000	1,0	50000
163	Entity	promoter	1	INVESTMENT ACCOUNT	Equity	00037521	India	applicable				5000	10	50000
. <u>.</u> .		Other than	Not	l		12050900	l		Income	AAOHA46			1	
164	Individual	promoter	 ' ' _ _	ASHISH JALAN HUF .	Equity	00048320	India	Male	Tax PAN		Business	2000	10	20000
		Other than	Not			12050900	l		Income	AAOHA19			1	
165	Individual	promoter	 ' ' _ _	ANAND AGARWAL HUF .	Equity	00055393	India	Male			Others	3000	10	30000
		Other than	Not			12050900			Income	AKRPR30				
166	Individual	promoter	+ ' '	SHWETA RATHORE	Equity	00084395	India	Female			Business	1000	10	10000
		Other than	Not			12052700			Income	ACYPG91				
167	Individual	promoter	_ ' '	GULABCHAND JAIN	Equity	00051406	India	Male	Tax PAN		Business	1000	10	10000
		Other than	Not			12054500			Income	AAEHD84				
168	Individual	promoter	 ' ' _ _	DINESH KUMAR BAJAJ .	Equity	00152002	India	Male	Tax PAN		Business	1000	10	10000
		Other than	Not			12061400			Income	AAGHK62				
169	Individual	promoter	 ' ' 	KISHORE KUMAR MUNDRA HUF .	Equity	00113265	India	Male	Tax PAN		Others	1000	10	10000
		Other than	Not			12061400			Income	AABPB74				
170	Individual	promoter	applicable	KRUTI NITIN BRAHMBHATT	Equity	00566269	India	Female	Tax PAN	60L	Student	8000	10	80000
		Other than	Not			12061400			Income	AABPB71				
171	Individual	promoter	applicable	NITIN AMRATLAL BRAHMBHATT	Equity	01153819	India	Male	Tax PAN	97G	Others	8000	10	80000
		Other than	Not			12064200			Income	ACRPJ89				
172	Individual	promoter	applicable	SACHIN JINDAL	Equity	00426422	India	Male	Tax PAN	24D	Others	4000	10	40000
		Other than	Not			12064200			Income	AXTPK06				
173	Individual	promoter	applicable	SURESH KUMAR KESHRI	Equity	10440577	India	Male	Tax PAN	85K	Others	1000	10	10000
		Other than	Not			12064400			Income	AFXPJ13				
174	Individual	promoter	applicable	ARIHANT SURESH JAIN	Equity	00004960	India	Male	Tax PAN	86C	Others	20000	10	200000
		Other than	Not			12064400			Income		Housewif			
175	Individual	promoter	applicable	DIMPAL ABHINANDAN JAIN	Equity	00021657	India	Female		71P	е	8000	10	80000
		Other than	Not			12066900			Income	AZSPG40				
176	Individual	promoter	applicable	NITIN KUMAR GUPTA	Equity	00971532	India	Male	Tax PAN		Others	1000	10	10000
		Other than	Not			12066900			Income	BZYPS47				
177	Individual		1	VAIBHAV KUMAR SULTANIA	Equity	01211870	India	Male			Others	3000	10	30000
		Other than	Not			12066900		+	Income	GHDPS0			1	1
178	Individual		applicable	ALOK SINGH	Equity	08303252	India	Male		851R	Business	2000	10	20000
		Other than	Not			12066900				DKQPK76			1	1
179	Individual	promoter		SUNNY KUMAR	Equity	08303267	India	Male			Business	4000	10	40000
 			Body		1 - 4 - 1 - 1	00000=0.						1.000	1	+13000
		Other than	1 ,	ADROIT SHARE AND STOCK		12070300		Not	Income	AAFCA50				
₁₈₀	Entity	promoter		BROKER PVT.LTD	Equity	00020119	India	applicable			Business	56000	10	560000
-55	y	Other than	Not		1-4-1-1	12071000		2PP110GD10	Income	AAJPS86	2 43111000		†	+
₁₈₁	Individual			VASANT NANJI SHAH	Equity	00045308	India	Male			Others	1000	10	10000
``	a.viauui	Other than	Not	TRIVEDI HARSHKUMAR	1–44)	12071000	maia			AVAPT74	31013	1.000	+:-	+
₁₈₂	Individual	promoter		PANKAJKUMAR	Equity	00145201	India	Male	Tax PAN		Others	1000	10	10000
102	marvidual	Other than	Not	I A WIN WINDING	Legalty	12079700	mula	IVIGIO	Income	AAEPR96		1000	10	1.0000
182	Individual	promoter	I	NARENDER KUMAR RASTOGI	Equity	00027831	India	Male	Tax PAN		Business	9000	10	90000
103	nuividual	Other than	Not		Legaity	12080600	iliula	IVIAIC	Income	AOAPR29		13000	10	130000
₁₈₄	Individual			SHRIPRIYA RATHI	 Fauity	00001069	India	Female			Student	5000	10	50000
104	Individual	Promoter	Tahhiirania		Equity	100001009	Inidia	li ciliale	IANFAIN	IO IE	Jordaetti	10000	110	10000

г т		lou	In a	T	1	140004000				D)/D D 0 0 0				
405		Other than	Not	DAY (1011 DAY (1011 OA) (1017	,	12081600				BXDPS22	0.11	4000	1.0	1,000
185	Individual	promoter		RAVISH RAVISH SAWANT	Equity	00601069	India	Male			Others	1000	10	10000
		Other than	Not			12081600			Income	AGQPT47			1	
186	Individual	promoter	 ' ' 	VAIBHAV TUSHAR	Equity	01136973	India	Male			Others	1000	10	10000
		Other than	Not			12081600			Income	AQGPH3				
187	Individual	promoter	applicable	HIMANSHU .	Equity	02095937	India	Male	Tax PAN		Others	1000	10	10000
		Other than	Not			12081600			Income	BCCPK83				
188	Individual	promoter	applicable	SHAILESH PRADEEP KHOSE	Equity	03606842	India	Male	Tax PAN		nal	6000	10	60000
		Other than	Not			12081600			Income	AFWPV5				
189	Individual	promoter	applicable	ANKIT VARDHAN	Equity	04398984	India	Male	Tax PAN	696J	Others	2000	10	20000
		Other than	Not			12081600			Income	CCEPK07				
190	Individual	promoter	applicable	SOURAV KEDIA	Equity	04452608	India	Male	Tax PAN	59G	Others	4000	10	40000
		Other than	Not			12081600			Income	BOOPG1				
191	Individual	promoter	applicable	KAMAL GORA	Equity	04481574	India	Male	Tax PAN	036D	Others	1000	10	10000
		Other than	Not			12081600			Income	BZZPS04				
192	Individual	promoter		SUMIT KUMAR SINGH	Equity	05071629	India	Male			Others	1000	10	10000
102	a.v.aaa.	promotor	аррисале			0007.1020	maia	i i i i i i i i i i i i i i i i i i i	1 6,7(1 7 11 4		Governm	1000	1.5	1.0000
		Other than	Not	PRASHANT GAJANAN		12081600			Income	AIAPT502				
103	Individual	promoter	I	TARAPURE	Equity	06756722	India	Male			Services	1000	10	10000
193	IIIuiviuuai	promoter	арріісаліс	TANA OIL	Legalty	00730722	IIIuia	iviaic	TAX I AIN		Governm	1000	110	10000
		Other than	Not			12081600			Incomo	ACXPY23				
104	lndividual	1	1	YASHPAL YADAV	Causty		India	Male				33000	10	220000
194	Individual	promoter	applicable Not	TASHPAL TADAV	Equity	07124126	muia	iviale			Services	33000	10	330000
405	ا من بامان بالماميا	Other than		DALILI CLIDTA		12081600	lua ali a	 NA=1=		BFRPG61	Ct d = .=t	4000	10	10000
195	Individual	promoter		RAHUL GUPTA	Equity	07640679	india	Male			Student	1000	10	10000
400		Other than	Not	A DUUGUEK OA VENIA		12081600		l	Income	DSBPS03	0.11	5000		50000
196	Individual	promoter	_ ' '	ABHISHEK SAXENA	Equity	07975451	India	Male			Others	5000	10	50000
		Other than	Not			12081600			Income	BMIPD20			1	
197	Individual	promoter	 ' '	SURAJ KUMAR DAS	Equity	09846046	India	Male			Others	1000	10	10000
		Other than	Not			12081600			Income	CXUPK40	Housewif			
198	Individual	promoter		RAJENDRA KUNWAR	Equity	10195277	India	Female	Tax PAN		е	2000	10	20000
		Other than	Not			12081600			Income	CEYPS70				
199	Individual	promoter	applicable	BUDUNKAILU SAIRAM SUBUDHI	Equity	12015804	India	Male	Tax PAN	85F	Business	2000	10	20000
		Other than	Not			12081600			Income	BEDPG79				
200	Individual	promoter	applicable	VICKEY GHALOT	Equity	12281371	India	Male	Tax PAN	75J	Student	18000	10	180000
		Other than	Not			12081600			Income	BAFPD65				
201	Individual	promoter	applicable	SANDEEP DHAKA	Equity	14550526	India	Male	Tax PAN	46J	Others	3000	10	30000
		Other than	Not			12081600			Income		Professio			
202	Individual	promoter	applicable	THOTATHIL THOMAS KOSHY	Equity	15898307	India	Male			nal	1000	10	10000
		Other than	Not		'	12081600				AGWPC8				
203	Individual	promoter	I	VASU DEV CHARAN	Equity	15973671	India	Male			Others	1000	10	10000
		Other than	Not	, , , , , , , , , , , , , , , , , , ,	' ' '	12081600				ARPPK46			1	
204	Individual	1		PRABHAT KUMAR	Equity	16004849	India	Male			Others	1000	10	10000
		Other than	Not			12081600	uiu		Income	JVPPS71	<u> </u>	1.000	+'-	1.0000
205	Individual	promoter		SAURABH SETHIYA	Equity	17155073	India	 Male			Business	1000	10	10000
200	muniqual	Other than	Not	CACABIT CETTIFIA	Legaity	12081600	iriuia	IVIAIC		HKYPK81	DUSII ICSS	1000	10	10000
206	Individual	1		NEHA KUMARI	Equity	17245053	India	Female			Others	1000	10	10000
200	Individual	promoter Other then	+	INLI IA NUWANI	Equity		iriuia	i emale		BOTPS48	Outers	1000	10	10000
207	Individual	Other than	Not	PANS CODAL SINCH	Equity	12081600	India	Mole			Others	1000	10	10000
20/	Individual	lbromorer	applicable	BANS GOPAL SINGH	Equity	17289760	ındıa	Male	Tax PAN	96A	Others	1000	10	10000

		12	1	1		1			1.		ı			
		Other than	Not			12081600	l		Income	AMVPP27	.			1
208	Individual	promoter		PRAMOD KUMAR	Equity	18318230	India	Male			Others	1000	10	10000
		Other than	Not			12081600			Income	AHIPV76				
209	Individual	promoter	 ' ' _ _	VISHAL VERMA	Equity	19246345	India	Male			Others	1000	10	10000
		Other than	Not			12081600			Income	AOHPC5				
210	Individual	promoter		SAGAR DATTATRAYA CHAVAN	Equity	19266543	India	Male	Tax PAN		Others	1000	10	10000
		Other than	Not			12081600			Income	AIHPN13				
211	Individual	promoter	applicable	SHASHANK BHOOSHAN NIGAM	Equity	19617220	India	Male	Tax PAN	95G	Others	6000	10	60000
		Other than	Not			12081600			Income	BAXPP18				
212	Individual	promoter	applicable	ANIL PRAKASH	Equity	19726764	India	Male	Tax PAN	08D	Others	1000	10	10000
		Other than	Not			12081600			Income	AJTPA98				
213	Individual	promoter	applicable	RAVIKUMAR MANIKRAO AMBAD	Equity	19762883	India	Male	Tax PAN	71H	Others	4000	10	40000
		ľ	' '								Governm			
		Other than	Not			12081600			Income	DLLPK02				
214	Individual	promoter	applicable	HARKESH KUMAR	Equity	19854588	India	Male	Tax PAN		Services	4000	10	40000
 	aiviaaai	Other than	Not		-	12081600	maia	ividio	Income	ADZPA40	30,7,300	1.000	+	1.0000
215	Individual			RAMASWAMY ANAND .	Equity	20470247	India	Male			Others	48000	10	480000
2.10	marviadai	Other than	Not	10 (10) (30) (10) (10)		12081600	maia	IVIGIO	Income	AEWPN1	Otrioro	10000	+''	100000
216	Individual	promoter		SUDHA NIGAM	Equity	20680595	India	Female			Business	1000	10	10000
210	IIIuiviuuai	Other than	Not	SODI IA INIGAM	Lquity	12081600	IIIuia	Terriale	1.	AGBPA87	Dusiness	1000	110	10000
217	Individual			ANAND MOHAN .	Equity	20704334	India	Male	Income Tax PAN		Others	15000	10	150000
217	IIIuiviuuai	promoter	 ' ' 	ANAND MOHAN .	Equity		iliula	iviale			Others	13000	110	130000
	La alla dala ad	Other than	Not	COMECUL CUIDTA	E	12081600	1	NA - 1 -	Income	BDTPG12	041	1000	140	10000
218	Individual	promoter	applicable	SOMESH GUPTA	Equity	21061027	india	Male	Tax PAN		Others	1000	10	10000
			.			10001000			l.		Governm			
		Other than	Not	MAHESHKUMAR		12081600	l		Income	BALPK56			1	
219	Individual	promoter	applicable	DHARAMSHIBHAI KUNDALIA	Equity	21721119	India	Male	 		Services	2000	10	20000
		Other than	Not			12081600			Income	APUPK42				
220	Individual	promoter		AMRENDRA KUMAR	Equity	23019125	India	Male	Tax PAN		Business	1000	10	10000
		Other than	Not			12081600			Income	ACKPV14				
221	Individual	promoter		JAI DEEP VERMA	Equity	23474161	India	Male	Tax PAN		Others	18000	10	180000
		Other than	Not			12081600			Income	BJXPA95				
222	Individual	promoter	applicable	AKASH AGGARWAL	Equity	24658970	India	Male			Student	2000	10	20000
		Other than	Not			12081600			Income	AINPG47				
223	Individual	promoter	applicable	SANJAY KUMAR GUPTA	Equity	24967665	India	Male	Tax PAN	79K	Business	1000	10	10000
		Other than	Not			12081600			Income	BEKPA03				
224	Individual	promoter	applicable	BISHNU DEBANANDA AGRAWAL	Equity	25560959	India	Male			Others	3000	10	30000
		Other than	Not			12081600			Income	ECNPS48				
225	Individual	promoter		AKASH SAHAY	Equity	26613976	India	Male			Others	1000	10	10000
		Other than	Not		' '	12081600			Income	BCWPM2		1	1	1
226	Individual	promoter		ASHEESH MANGLA	Equity	26715522	India	Male			nal	1000	10	10000
	a.viauui	Other than	Not	,	- 1	12081600	aiu		Income	AJTPG48		1.000	+'-	1.0000
227	Individual			RATHI GAURAV	Equity	26818051	India	Male			nal	2000	10	20000
	iriuiviuual	Other than	Not	I VIIII OAOIVAV	Legaily	12081600	iiiuia	iviale	t	AIZPT457	iiai	2000	10	2000
220	Individual			SHANKAR HANMANT TEPUGADE	Equity	27926392	India	Mala	Income		Others	1000	10	10000
<u> </u>	Individual	promoter Other then	+ • • • • • • • • • • • • • • • • • • •	OLIANNAN LIANWAN LIEPUGADE	Lquity		iiiuid	Male	 			1000	10	10000
222	ا مناه با جاد ما	Other than	Not	A DU UNIANA MA INICI	Causity	12081600	ا المحالة	Mala	Income		Professio	6000	10	60000
<u> </u>	Individual	promoter	+ ' '	ABHINAV MAINGI	Equity	31066883	india	Male			nal	6000	10	60000
	La alta e e	Other than	Not	DANI HT KUNAAD DANIDA		12081600	1	NA - 1	Income	BGZPP21	Ott-	5000	10	F0000
230	Individual	promoter	applicable	RANJIT KUMAR PANDA	Equity	33380173	lindia	Male	Tax PAN	27D	Others	5000	10	50000

		lou "	la i	I	1	140004000	ı	1		I 4 7 D D 100	1	1		1
		Other than	Not		,	12081600			Income	AZPPJ03			1.0	
231	Individual	promoter		RAHUL JAISWAL	Equity	33598731	India	Male			Others	3000	10	30000
		Other than	Not			12081600			Income	CONPM6			1	
232	Individual	promoter	 ' ' 	MEGHA .	Equity	34229769	India	Male	Tax PAN		Student	1000	10	10000
		Other than	Not			12081600			Income	HZPPS26	Housewif			
233	Individual	promoter	applicable	MINABEN GIRISHBHAI SOLANKI	Equity	35288149	India	Female	Tax PAN	_	е	2000	10	20000
		Other than	Not			12081600			Income	GEBPD32				
234	Individual	promoter	applicable	SHAGUFTA BANU DESAI	Equity	38602176	India	Female	Tax PAN	25K	Others	1000	10	10000
		Other than	Not			12081600			Income	ALSPK63				
235	Individual	promoter	applicable	KSHITIZ KAUSHAL	Equity	38991342	India	Male	Tax PAN	87K	Business	1000	10	10000
		Other than	Not			12081600			Income	DXLPB16				
236	Individual	promoter		ARTIBEN RONAKBHAI SOLANKI	Equity	40088858	India	Female		80L	е	5000	10	50000
	marriadai	Other than	Not	7 II CHIBERT COLORING COEP II VIII		12081600	maia	Tomaio	Income	BOEPM4			1.~	100000
237	Individual	promoter		VIKASH MAHARIA	Equity	40592624	India	Male	Tax PAN		Others	1000	10	10000
231	IIIuiviuuai	Other than	Not	VITAGITIMATIANIA	Legalty	12081600	IIIuia	Iviale	Income	DKQPS07	Others	1000	110	10000
220	Individual	1	1	HARSHADA TANAJI SAWANT	Causty	41374070	India	Famala	Tax PAN		Others	2000	10	20000
230	Individual	promoter	applicable Not	HARSHADA TANAJI SAWANT	Equity		india	Female		MXEPS74		2000	10	20000
	La alla dala ad	Other than		MD CHAAD		12081600	11!	NA - 1 -	Income			4000	10	10000
239	Individual	promoter	applicable	MD SHAAD	Equity	42036702	india	Male	Tax PAN		Student	1000	10	10000
			l						_		Governm			
		Other than	Not			12081600				EFTPS00				
240	Individual	promoter	 ' ' 	SURBHI SINGH	Equity	42503029	India	Female	Tax PAN	42Q	Services	3000	10	30000
		Other than	Not			12081600			Income	DRXPS87	Professio			
241	Individual	promoter	applicable	PUNIT KUMAR SINGH	Equity	44228316	India	Male	Tax PAN	99M	nal	1000	10	10000
		Other than	Not			12081600			Income	AZNPS89	Housewif			
242	Individual	promoter	applicable	SEEMA SAHAL	Equity	47528159	India	Female	Tax PAN	77L	е	2000	10	20000
		Other than	Not			12081600			Income	AVIPA568				
243	Individual	promoter	applicable	HARINARAYAN AGRAWAL	Equity	47936157	India	Male	Tax PAN	9C	Business	1000	10	10000
		Other than	Not			12081600			Income	KJNPS85			1	10000
244	Individual	promoter		SHEELA.	Equity	48082845	India	Female		33Q	e	3000	10	30000
	marviadai	Other than	Not			12081600	maia	Tomalo	Income		Professio		1.0	
2/5	Individual	promoter		VIJAYAN SUDHAKAR UDHAYAN	Equity	48864067	India	Male			nal	1000	10	10000
240	IIIuiviuuai	Other than	Not	VIJATAN GODITANAN ODITATAN	Legalty	12081600	IIIuia	Iviale	Income	ECEPS19	Illai	1000	110	10000
246	Individual	1	1	MANORANJAN SAHOO		49124069	India	Male			Othoro	1000	10	10000
240	IIIuiviuuai	+	+ ' ' 	WANORANJAN SAROO	Equity	12081600	Illula	Iviale			Others	1000	10	10000
247	ا مناه با جاد ما	Other than	Not				ا الممالات	Mala		BXFPS24	Othors	2000	10	20000
241	Individual	+	 ' ' 	PRAMOD KUMAR SHARMA	Equity	49951552	iriuia	Male			Others	2000	10	20000
		Other than	Not	OWETA BANDEY	,	12081600	ļ	<u> </u> .	Income	EGCPP61		4000	1.0	10000
248	Individual	promoter	+ ' ' 	SWETA PANDEY	Equity	50596499	ındıa	Female		65F	е	1000	10	10000
		Other than	Not			12081600	l	<u>_</u>	Income	BMWPD4	<u>_</u> .		1	
249	Individual	promoter	 ' ' 	SARLA DEVI	Equity	51322841	India	Female			Business	1000	10	10000
		Other than	Not			12081600			Income	CKSPC84	Housewif			
250	Individual	promoter		AKANKASHA CHOUDHARY	Equity	53155619	India	Female			е	1000	10	10000
Ī		Other than	Not			12081600			Income	BCCPY90				
251	Individual	promoter	applicable	MANISH YADAV	Equity	53356141	India	Male	Tax PAN	64K	Student	2000	10	20000
											Governm			
		Other than	Not			12081600			Income	ABJPT53	ent			
252 l	Individual	promoter	l .	SOUMO THAKUR	Equity	53939281	India	Male			Services	1000	10	10000
		Other than	Not		'	12081600			Income	BZGPA81				
₂₅₃	Individual	1		CHANDINI AGRAWAL	Equity	54158241	India	Female			Business	1000	10	10000
_00	arviauai	Ib. ottloroi	Tabbuggoig	OTH REDITITION WAYNE	1-4-1.2	10 + 1002 + 1	IIIaia	I. Ciliaic	14/11/111	100/1	1240111000	11000		110000

		041	TN1-4			140004000	ı	1	II	I COLIDICATA	T	T	1	
		Other than	Not			12081600	l	<u> </u> .	Income	ESHPK77			1.0	1,000
254	Individual	promoter	applicable	JASKARAN JOT KAUR	Equity	54171685	India	Female	Tax PAN	80L	Student	1000	10	10000
											Governm			
		Other than	Not			12081600			Income	CKRPA80	ent			
255	Individual	promoter	applicable	ANKIT .	Equity	54786224	India	Male	Tax PAN	00K	Services	1000	10	10000
		Other than	Not	ARUN KUMAR SHARMA		12081600			Income	HOFPS80				
256	Individual	promoter	applicable	SURAKSHIT KUMAR	Equity	55026961	India	Male	Tax PAN	32N	Others	1000	10	10000
		Other than	Not			12081600			Income	AWAPK5				
257	Individual	promoter	applicable	ANIL KUMAR	Equity	55082691	India	Male	Tax PAN	707C	Business	15000	10	150000
		Other than	Not		' '	12081600			Income	ARRPN23				
258	Individual	promoter	applicable	SHUBHAM NAGPAL	Equity	55799558	India	Male	Tax PAN		Business	1000	10	10000
200	marviadar	Other than	Not	OTTO BT IT WITH TOT THE	Legany	12081600	maia	IVIGIO	Income	CYVPS32	Buomicoo	1000	1.0	10000
250	Individual	I		YOGENDRA SINGH	Equity	57662542	India	Male	Tax PAN		Retired	2000	10	20000
209	IIIuiviuuai	promoter	applicable	TOGENDRA SINGIT	Equity		IIIuia	iviale	ł — — — — — — — — — — — — — — — — — — —		Retired	2000	10	20000
		Other than	Not	DDAMAOD KUMAAD	Fit.	12081600	11!	NA-1-	Income	BADPK07	041	1000	10	40000
260	Individual	promoter	applicable	PRAMOD KUMAR	Equity	57721831	india	Male	!		Others	1000	10	10000
		Other than	Not			12081600	l	<u>_</u> .	Income	AFHPR65			1	
261	Individual	promoter	applicable	SONAL LOHIA	Equity	58402604	India	Female	Tax PAN	36A	nal	72000	10	720000
		Other than	Not			12081600			Income	BSUPP19	Housewif			
262	Individual	promoter	applicable	DEEPIKA RAJESH PATIL	Equity	58715458	India	Female	Tax PAN	-	е	1000	10	10000
		Other than	Not			12081600			Income	BCYPB85				
263	Individual	promoter	applicable	MAHARUDR SHANKAR BHOSLE	Equity	59064340	India	Male	Tax PAN	24P	Others	4000	10	40000
		Other than	Not			12081600			Income	BGEPP36				
264	Individual	promoter	applicable	RAJESH KANJI PATEL	Equity	59880288	India	Male	Tax PAN	94J	Others	2000	10	20000
		Other than	Not			12081600				EBIPS730				
265	Individual	promoter	applicable	ANAND SUMAN	Equity	60054441	India	Male	Tax PAN		Others	6000	10	60000
		Other than	Not		1-1	12081600			Income	ADTPF51			1	
266	Individual	promoter	applicable	FARHEEN TAJ	Equity	60532838	India	Female	Tax PAN		Others	1000	10	10000
200	marviadar	Other than	Not	I / II / I / I / I / I	Legalty	12081600	IIIdia	Terriale	Income	ADWPF8	Otricis	1000	1.0	10000
267	Individual	promoter	applicable	SHAIK FARID BASHA	Equity	60734442	India	Male			Others	1000	10	10000
201	IIIuiviuuai	promoter	Тарріісаріс	SHAIR FARID BASHA	Equity	00734442	IIIuia	Iviale	TAXEAN		Governm	1000	110	10000
		O415 a 11 415 a 15	N _a 4			10001000								
		Other than	Not	ALCOUNTA CHALIBULABY	,	12081600	l	₋ .	Income	BCCPC09		1000	40	40000
268	Individual		+ ' '	AKSHITA CHAUDHARY	Equity	62542786	india	Female			Services	1000	10	10000
		Other than	Not			12081600	l	<u>_</u> .		FKZPD62	Housewif		1	
269	Individual	promoter	applicable	BIMLA DEVI	Equity	63449851	India	Female	Tax PAN		е	2000	10	20000
		Other than	Not			12081600			Income	EDEPP52				
270	Individual	promoter	applicable	ANKIT KUMAR PAL	Equity	65954791	India	Male	Tax PAN		Others	1000	10	10000
											Governm			
		Other than	Not			12081600			Income	GMNPS3	ent			
271	Individual	promoter	applicable	ASHISH.	Equity	66481115	India	Male	Tax PAN	648H	Services	3000	10	30000
		Other than	Not			12081600			Income	AIFPJ345				
272	Individual	1	applicable	ANIL MAHADEV JADHAVA	Equity	67399701	India	Male			Others	1000	10	10000
	•	Other than	Not		' '	12081600			Income	GPHPS71			1	
273	Individual	promoter	applicable	KATHIRAVAN SARANYA	Equity	67525776	India	Female			Others	2000	10	20000
		12.5				3.323.10		3.110.10			Governm		1.5	1
		Other than	Not			12081600			Income	DSXPK19				
274	Individual	promoter	applicable	SUMIT KUMAR	Equity	68591615	India	Male		67E	Services	4000	10	40000
214	iriuiviuual	!	Not	GOWIT KOWAK	Lyuity		iliula	Iviale		BSPPJ10	OCI VICES	1+000	10	140000
275	احدادات المطان	Other than		CLIDLIAM IAINI		12081600	المطاح	Mole			Ducinasa	1000	10	10000
2/5	Individual	lhioinorer	applicable	SUBHAM JAIN	Equity	68966869	maia	Male	Tax PAN	08K	Business	1000	10	10000

		041	TN1-4	1	T T	140004000	ı	1	lı	LEKODDOO		1	1	
		Other than	Not			12081600	l	<u> </u> .	Income	EKSPP68			1.0	1,000
2/6	Individual	promoter	applicable	ANITA PANDA	Equity	69828882	India	Female	Tax PAN	,	e	1000	10	10000
		Other than	Not			12081600			Income	BFHPS29				
277	Individual	promoter	applicable	RUCHITA NITINKUMAR SANGHVI	Equity	70313064	India	Female	Tax PAN		nal	1000	10	10000
											Governm			
		Other than	Not			12081600			Income	AHOPV80	ent			
278	Individual	promoter	applicable	HARSH VASISHTHA	Equity	70439037	India	Male	Tax PAN	93P	Services	2000	10	20000
		Other than	Not			12081600			Income	ABRPY94	Professio			
279	Individual	promoter	applicable	RAJESH KUMAR YADAV	Equity	71116487	India	Male	Tax PAN	53H	nal	1000	10	10000
		Other than	Not			12081600			Income	LMKPS70	Housewif			
280	Individual	promoter	applicable	SUJATA.	Equity	71513494	India	Female	Tax PAN	21Q	е	4000	10	40000
		Other than	Not		<u> </u>	12081600			Income	BOJPG96				
281	Individual	promoter	applicable	SIDDHARTH GORA	Equity	72017052	India	Male	Tax PAN		Business	2000	10	20000
	marriadai	Other than	Not		Laguity	12081600	maia	IVIGIO	Income	DUNPS96			 '	20000
282	Individual	promoter	applicable	RAVINDER SHARMA	Equity	73122257	India	Male	Tax PAN		Others	2000	10	20000
202	IIIdividuai	Other than	Not	TAVINDER SHARWA	Equity	12081600	IIIuia	Iviaic	Income	FFGPS98	Others	2000	110	20000
202	Individual						India	Mala			Othere	1000	10	10000
200	Individual	promoter	applicable	SHASHANK SRIVASTAVA	Equity	74750923	india	Male	-		Others	1000	10	10000
004		Other than	Not	AAANEEOU	- ·,	12081600	ļ. _. .		Income	BHGPK63	ь .	45000	1.0	450000
284	Individual	promoter		MANEESH .	Equity	74976857	India	Male	Tax PAN		Business	15000	10	150000
		Other than	Not			12081600			Income	ASLPA54				
285	Individual	promoter	 ' ' 	MOHAMMAD SAGHIR ALAM	Equity	75254650	India	Male	Tax PAN		Others	1000	10	10000
		Other than	Not			12081600			Income	FPHPB79				
286	Individual	promoter		K K BASILA	Equity	76270524	India	Female	Tax PAN		Business	1000	10	10000
		Other than	Not			12081600			Income	APVPG20	Professio			
287	Individual	promoter	applicable	RAGHAV GUPTA	Equity	76826201	India	Male	Tax PAN	41M	nal	1000	10	10000
		i									Governm			
		Other than	Not			12081600			Income	DHBPS96				
288	Individual	promoter		MANISH SINGHAL	Equity	76918586	India	Male	Tax PAN		Services	1000	10	10000
	a.v.aaa.	Other than	Not			12081600	u.u	- Ividio	Income	BRKPM20		1000	+	1.0000
280	Individual	promoter	applicable	RISHABH MALHOTRA	Equity	77850327	India	Male	Tax PAN		Business	3000	10	30000
203	Individual	Other than	Not	RADHIKABEN MAHESHKUMAR	Legalty	12081600	IIIGIA	IVIAIC	Income	CGTPK92		10000	110	30000
200	Individual			KUNDALIYA	Equity	77899044	India	Female		52R	i iousewii	1000	10	10000
290	Individual	i'	applicable	KONDALITA	Equity		IIIuia	remale			Drofossio	1000	110	10000
204	ا ما دامان داما	Other than	Not		i4	12081600 80089848	 	Nacio		ANEPS79		2000	10	20000
291	Individual	promoter	+ ' '	ANUPAM SINGLA	Equity		india	Male			nal	2000	10	20000
	La albada e e	Other than	Not	ICHOLINAL ATA NIEUDA		12081600			Income	AZIPN237	D	7000	40	70000
292	Individual	promoter	applicable	KUSUMLATA NEHRA	Equity	81354308	ındıa	Female			Business	7000	10	70000
		Other than	Not	1		12081600	<u>.</u> .,	L	Income	BWHPK7	.			
293	Individual	promoter	applicable	ADITYA KUMAR	Equity	81730852	India	Male	Tax PAN		Others	4000	10	40000
											Governm			
		Other than	Not			12081600			Income	AFBPH47	ent			
294	Individual	promoter	applicable	HARISH .	Equity	82122784	India	Male	Tax PAN	02A	Services	2000	10	20000
		Other than	Not			12081600			Income	AVMPN04				
295	Individual	promoter	applicable	UMANG BHUSHAN NIGAM	Equity	82159390	India	Male		80A	Business	2000	10	20000
		Other than	Not			12081600			Income	BMSPS29				
296 l	Individual	promoter	applicable	SANCHIT SAXENA	Equity	82902336	India	Male			Others	2000	10	20000
		Other than	Not		17	12081600				BTKPS19		T	1	
297	Individual	promoter	applicable	AKANKSHA SHARMA	Equity	83109781	India	Female	Tax PAN	17A	P	3000	10	30000
	marvidual	Other than	Not		Legaity	12081600	maia	Citiale	Income	AWWPK4			10	
200	Individual			ANIL KUMAR	Equity	84743393	India	Male			Rucinoco	5000	10	50000
∠90	Individual	promoter	applicable	ANIL KUWAK	Equity	04743393	Innaia	Male	Tax PAN	1000	Business	13000	10	150000

		1	1	T				1	-			,	,	
		Other than	Not			12081600			Income	ADGPM3				
299	Individual	promoter		RAJESH KUMAR MALHOTRA	Equity	85696803		Male	Tax PAN		Business	1000	10	10000
		Other than	Not			12081600			Income	CRSPR26				
300	Individual	promoter	 ' ' 	FELIX RAJU	Equity	86750416		Male	Tax PAN	17D	nal	1000	10	10000
		Other than	Not			12081600			Income	FTGPS09	Housewif			
301	Individual	promoter		SAPNA .	Equity	87024471	India	Female	Tax PAN	02D	е	7000	10	70000
		Other than	Not			12081600			Income		Housewif			
302	Individual	promoter		ANITA MANGWANI	Equity	90133929		Female	Tax PAN		е	1000	10	10000
		Other than	Not			12081600			Income	ADAPA19				
303	Individual	promoter	 ' ' 	SANGEETA AGARWALA	Equity	90299451		Female	Tax PAN		Business	2000	10	20000
		Other than	Not			12081600			Income	AHOPA04				
304	Individual	promoter		RACHIT KUMAR AGARWAL	Equity	90528705		Male	Tax PAN		Business	1000	10	10000
		Other than	Not			12081600			Income	GDRPK7				
305	Individual	promoter		KABITA KUMARI	Equity	93118364		Female	Tax PAN		Others	1000	10	10000
		Other than	Not			12081600			Income	ADLPJ68				
306	Individual	promoter	applicable	AMIT KUMAR JAIN	Equity	94470102	India	Male	Tax PAN	26B	Business	13000	10	130000
		Other than	Not			12081600			Income	ATNPA79				
307	Individual	promoter	applicable	SIVA CHIDANANDA AGRAWAL	Equity	95908210	India	Male	Tax PAN		Business	3000	10	30000
		Other than	Not			12081600			Income	AIOPY23	Housewif			
308	Individual	promoter	applicable	KOMAL YADAV	Equity	96632329	India	Female	Tax PAN	89Q	е	5000	10	50000
		Other than	Not			12081600			Income	AGRPY69				
309	Individual	promoter	applicable	POHAP SINGH YADAV	Equity	96987352	India	Male	Tax PAN	71D	Others	1000	10	10000
		Other than	Not			12081600			Income	AOWPP5				
310	Individual	promoter	applicable	VINAYAK MADHUKAR PARAB	Equity	97385773	India	Male	Tax PAN	744G	Others	1000	10	10000
		Other than	Not			12081600			Income	BRJPB13				
311	Individual	promoter	applicable	ASTIK SHANKAR BHOSLE	Equity	97424235	India	Male	Tax PAN	47N	Others	1000	10	10000
		Other than	Not			12081600			Income	GVNPM8	Housewif			
312	Individual	promoter	applicable	Santra Meena	Equity	97798881	India	Female	Tax PAN	831F	е	2000	10	20000
		Other than	Not			12081600			Income	HMWPS5			İ	
313	Individual	promoter	applicable	SARTHAK SAXENA	Equity	98214539		Male			Others	2000	10	20000
		Other than	Not			12081601			Income	AQCPS58				
314	Individual			PARAAG DIPAK SHAH	Equity	02138991	India	Male			Business	1000	10	10000
		Other than	Not			12081601	+		Income	FNSPK99				
315	Individual	promoter		SHUBHI KASERA	Equity	03857858		Female	Tax PAN	1.00	e	1000	10	10000
		Other than	Not		' '	12081601			Income	AEEPY99				
316	Individual	promoter	I	RITESH KUMAR YADAV	Equity	04637366		Male	Tax PAN		nal	11000	10	110000
		Other than	Not		' '	12081601			Income	MDUPK0			-	
317	Individual	promoter	applicable	HEMANT KUMAR	Equity	07404949		Male	Tax PAN		Student	1000	10	10000
		Other than	Not	2	' '	12081601	†	<u> </u>	Income	AAVPY75			-	
₃₁₈	Individual	promoter		RAMESH SINGH YADAV	Equity	07916883	India	Male	Tax PAN		Retired	1000	10	10000
		1				1 2 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2					Governm			1
		Other than	Not			12081601			Income	CMTPK46				
319	Individual	promoter		WARSHA KUMARI	Equity	08440529		Female				2000	10	20000
5.5	a.viauui	Other than	Not	TO THE COUNTY		12081601		. Silialo	Income	CHFPS24			-	1-000
320	Individual	promoter		ROSHNI SANJAY CHHAJED	Equity	09181482		Female			e	1000	10	10000
520	a.viduai	Other than	Not	TOOTHY CHINALD	- Yang	12081601		, omale	Income	ADIPY74		1000		1.0000
321	Individual	promoter		MANISH KUMAR YADAV	Equity	09222716		Male	Tax PAN		Others	2000	10	20000
JZ I	inuividual	Other than	Not		Legaity	12081601		Iviaic	Income	EGCPA11	Outers	2000	10	20000
322	Individual		I	JALIL AHMED	Fauity	10426393		Male	Tax PAN		Business	1000	10	10000
JZZ	muividual	promoter	Jappiicable	DALIL ALIMED	Equity	110420393	Inula	liviaie	IAXFAIN	125	Dusiliess	11000	110	110000

		Other than	Not			12081601			Income	AGLPA76				
323	Individual	promoter		GOVINDRAM AGRAWAL	Equity	11899056	India	Male			Business	2000	10	20000
		Other than	Not			12081601			Income	AAUPA37				
324	Individual	promoter	 ' ' 	RAJIB KUMAR AGRAWAL	Equity	12012113	India	Male	Tax PAN		Business	3000	10	30000
		Other than	Not			12081601			Income	AEAPY50				
325	Individual	promoter	applicable	MONIKA YADAV	Equity	12012740	India	Female			Others	6000	10	60000
		Other than	Not			12081601			Income	ATIPH716	Housewif			
326	Individual	promoter	applicable	HASEENA BANU	Equity	12173079	India	Female	Tax PAN	5G	е	3000	10	30000
		Other than	Not			12081601			Income	KQKPS35	Housewif			
327	Individual	promoter	applicable	POOJA SHARMA	Equity	12698402	India	Female	Tax PAN	09E	е	1000	10	10000
		Other than	Not			12081601			Income	MRVPK28	Housewif			
328	Individual	promoter	applicable	MONIKA KUMARI	Equity	13630602	India	Female	Tax PAN	76E	е	1000	10	10000
		Other than	Not			12081601			Income	ACFPA10				
329	Individual	promoter	I	SABITRI AGRAWAL	Equity	13686939	India	Female			Others	3000	10	30000
		Other than	Not			12081601			Income	HMUPD6			1	
330	Individual	promoter	I	KAMLA DEVI	Equity	14198090	India	Female	Tax PAN		Others	2000	10	20000
-	marriadai	promotor	аррисавіс		Equity	1110000	maia	Ciriaio	10/(17/11		Governm		+'*	20000
		Other than	Not			12081601			Income	EFKPS63				
331	Individual	promoter	1	MAHIPAL SINGH	Equity	14722146	India	Male			Services	1000	10	10000
331	marviduai	Other than	Not	WATHI AL OHOT	Legalty	12081601	IIIuia	IVIAIC	Income	BOEPS93		1000	110	10000
222	Individual	promoter		SAURABH ARORA	Equity	14740138	India	Male			nal	1000	10	10000
332	IIIuiviuuai	Other than	applicable Not	SAURABH ARORA	Equity	12081601	IIIuia	iviale		AKJPK63	Пап	1000	10	10000
222	امينامانيا				Fauity		India	Mala	Income		Othoro	1000	10	10000
<u> </u>	Individual	promoter		PRAMOD KUMAR	Equity	18432035	india	Male			Others	1000	10	10000
		Other than	Not	BOODALI	,	12081601			Income	AKCPR21		4000		10000
334	Individual	promoter	 	ROOPALI .	Equity	19450115	india	Female	Tax PAN		Business	1000	10	10000
		Other than	Not	AADT!		12081601	ļ		Income	BXOPA46		0000		
335	Individual	promoter		AARTI .	Equity	21243981	India	Female			nal	2000	10	20000
		Other than	Not			12081601			Income	BJIPP486	Housewif		1	
336	Individual	promoter		Geeta Jagdish Patil	Equity	21966262	India	Female		6P	е	1000	10	10000
		Other than	Not			12081601				CACPS12				
337	Individual	promoter		BRAJESH SING SIKARWAR	Equity	23232480	India	Male	Tax PAN		Others	1000	10	10000
		Other than	Not			12081601			Income	MPZPK89	Housewif			
338	Individual	promoter	applicable	SINTU KANVAR	Equity	23380669		Female	Tax PAN		е	2000	10	20000
		Other than	Not			12081601				DLEPK85				
339	Individual	promoter	 ' ' 	PRADEEP KUMAR	Equity	24261093	India	Male	Tax PAN		Others	2000	10	20000
		Other than	Not			12081601			Income	CNKPS99	Housewif			
340	Individual	promoter	applicable	NEETA SINHA	Equity	24281175		Female	Tax PAN	11B	е	5000	10	50000
	<u> </u>	Other than	Not			12081601			Income	JZNPK13				
341	Individual	promoter	applicable	SONIKA KUKNA	Equity	25145688	India	Female	Tax PAN	81R	Others	1000	10	10000
		Other than	Not			12081601			Income	BBJPS72				
342	Individual	promoter	applicable	JOGINDER SINGH	Equity	26479044	India	Male	Tax PAN	86R	Business	6000	10	60000
		Other than	Not			12081601			Income	CLIPS211				
343	Individual	promoter	applicable	MONIKA SINGLA	Equity	27483400	India	Female	Tax PAN	5R	Others	2000	10	20000
		Other than	Not			12081601			Income	IJNPD846	Housewif			
344	Individual	promoter		MEERA DEVI	Equity	31833861	India	Female		3C	le	6000	10	60000
	-	Other than	Not		' '	12081601				DWZPS4	Professio			
₃₄₅	Individual	promoter		PRANJALI RAVIKUMAR AMBAD	Equity	32303584	India	Female			nal	8000	10	80000
		Other than	Not		1	12081601	1			DWPPR9			1	1
346	Individual		I	MADHU JAIN	Equity	32690563	India	Female			Others	1000	10	10000
J 70	a.vidaai	INITION	Tabbilognic	100 07 til 1	I-Aant)	10200000	Inidia	i omaic	TUAL AIN	10,00	10000	11000	1.0	110000

		la	I	1		1,,,,,,,	Т	T	ı.			1		T 1
		Other than	Not			12081601			Income	BRCPG2				
347	Individual	promoter		ANUJ GUPTA	Equity	33598947	India	Male	Tax PAN		Business	3000	10	30000
		Other than	Not			12081601			Income	EFHPR34	Housewif			
348	Individual	promoter	applicable	RUCHI .	Equity	35164963	India	Female		82D	е	3000	10	30000
		Other than	Not			12081601				AAUPA37				
349	Individual	promoter	applicable	RAJESH KUMAR AGRAWAL	Equity	35681810	India	Male	Tax PAN	81C	Business	3000	10	30000
		Other than	Not			12081601			Income	BMBPA43				
350	Individual	promoter	applicable	RISHABH AGARWAL	Equity	35917107	India	Male	Tax PAN	15E	Others	2000	10	20000
		Other than	Not			12081601			Income	CYMPS67				
351	Individual	promoter	applicable	RANAVIR SINGH	Equity	37339122	India	Male	Tax PAN	87E	Business	1000	10	10000
		Other than	Not	SHAHREE MOHAMMED		12081601			Income	AKTPH87				
352	Individual	promoter	applicable	SUFFYAN HUSSAIN	Equity	37971958	India	Male	Tax PAN	38D	Others	1000	10	10000
		Other than	Not			12081601			Income	ASKPK62				
353	Individual	promoter	applicable	NIKHIL KOHLI	Equity	38261425	India	Male			Business	8000	10	80000
		Other than	Not			12081601			Income	HPOPK87				
354	Individual	promoter		SUNIL KUMAR	Equity	38570994	India	Male	Tax PAN		Others	1000	10	10000
		Other than	Not		- 1-···)	12081601		1	Income	AATHA12	3513	1.555	1	
355	Individual	promoter		ANIL KUMAR HUF	Equity	39585947	India	Male			Business	6000	10	60000
	marviadai	promotor	арриодые	7 II		00000017	India	Iviaio	1471711		Governm		10	100000
		Other than	Not			12081601			Income	CPWPM2				
356	Individual	promoter	1	MANJEET .	Equity	40036157	India	Male	Tax PAN	063J	Services	5000	10	50000
330	IIIuiviuuai	promoter	арріісаріе	WANGET.	Legalty	40030137	Illula	Iviale	TAXEAN		Governm	13000	10	30000
		Other than	Not			12081601			Incomo	BUCPD70				
257	Individual			SHILPA DASS	Equity	42165239	India	Female				2000	10	20000
337	maividuai	promoter	applicable	SHILPA DASS	Equity	42 100239	India	remale	TAX PAIN		Services	2000	10	20000
		Other then	Not			12001601			la como o		Governm			
ا محما	La diada a	Other than	Not	DALAK BUGTACI		12081601	1	F I -	Income	BZQPR52		4000	10	40000
358	Individual	promoter		PALAK RUSTAGI	Equity	45453452	india	Female		84K	Services	1000	10	10000
		Other than	Not			12081601	l	L	Income	APVPM75			1.0	
359	Individual	promoter		GAURAV MAHAJAN	Equity	45855755	India	Male	Tax PAN		Business	1000	10	10000
		Other than	Not			12081601	l	<u></u>	Income	DBQPP61	Housewif			
360	Individual	promoter		CHINMAYEE PANDA	Equity	47600187	India	Female	Tax PAN	77K	е	1000	10	10000
		Other than	Not			12081601			Income	ADXPR39				
361	Individual	<u>'</u>	+	Manoj Kumar Rai	Equity	47948815		Male	Tax PAN		Others	2000	10	20000
		Other than	Not			12081601			Income	AEAPY50				
362	Individual	promoter	+ • • • • • • • • • • • • • • • • • • •	GAUTAM YADAV	Equity	48517900		Male	Tax PAN		Others	2000	10	20000
		Other than	Not			12081601	1		Income	AMJPB23				
363	Individual	promoter		KIRAN BALA	Equity	48785380		Female			Others	2000	10	20000
[Other than	Not			12081601				CTNPK53	Housewif			
364	Individual	promoter	applicable	NIKITA KOHLI	Equity	49365866		Female	Tax PAN	37C	е	3000	10	30000
		Other than	Not			12081601			Income	BAIPK715				
365	Individual	promoter	applicable	KRISHAN KUMAR	Equity	50465987	India	Male	Tax PAN	0A	Others	2000	10	20000
		Other than	Not			12081601			Income	ANJPA67				
366	Individual	promoter	applicable	ARJUN .	Equity	51022511	India	Male	Tax PAN	42M	Others	1000	10	10000
		Other than	Not			12081601			Income	HYHPK49	Housewif			
367	Individual	promoter	applicable	HIMANSHI KHARE	Equity	51499049	India	Female			е	1000	10	10000
		Other than	Not			12081601				AYNPK96				
368	Individual	promoter		RAKESH KUMAR	Equity	51683898		Male			Others	1000	10	10000
-		Other than	Not		' '	12081601			Income	AAJPA00				
369	Individual			Rajvanshi Adarsh	Equity	55522345		Male			Retired	1000	10	10000
لتتا		II	1277000.0	1,	JJ	1555225.0	1	1	/ 11 4	1	1	1.555	1	

		100 0	The c	1		140004004	1	1	1.	1400DI(70	1	1	1	1
		Other than	Not	HOMENAKOLILI		12081601	l		Income	ASCPK78		1000	10	40000
370	Individual	promoter	applicable	HONEY KOHLI	Equity	57864501	India	Male	Tax PAN		Business	1000	10	10000
			.			40004004			 -		Governm			
		Other than	Not			12081601	l	<u> </u> .	Income	AUCPR13		1,000	1.0	1,000
3/1	Individual	promoter	applicable	Reena Budania	Equity	60442586	India	Female	Tax PAN		Services	1000	10	10000
		Other than	Not			12081601	l	<u> </u>	Income	GOTPM8	Housewif		1.0	1,000
372	Individual	promoter	applicable	Anamika Mishra	Equity	66258065	India	Female	Tax PAN	862M	е	1000	10	10000
		Other than	Not			12081601	l	<u>_</u> .	Income	ALLPG20	 		1	
3/3	Individual	promoter	applicable	Parush Gaur	Equity	70591279	India	Female	Tax PAN		Others	1000	10	10000
		Other than	Not	l		12081601	l	<u>_</u> .	Income	ANIPL613	Housewif		1	
	Individual	promoter	applicable	Lakhani Kavitaben Sanjaykumar	Equity	72271026	India	Female	Tax PAN	8P	е	3000	10	30000
		Other than	Not			12081601			Income	CSXPD33	Housewif			
	Individual	promoter	applicable	Jyoti Devi	Equity	72696380	India	Female	Tax PAN	82B	е	1000	10	10000
		Other than	Not			12081601			Income	JXXPD22	Housewif			
376	Individual	promoter	applicable	Suman Devi	Equity	73515767	India	Female	Tax PAN	05K	е	4000	10	40000
											Governm			
		Other than	Not			12081601			Income	CFAPK79				
377	Individual	promoter	applicable	Sunil Kumar	Equity	73765525	India	Male	Tax PAN	97F	Services	3000	10	30000
											Governm			
		Other than	Not			12081601			Income		ent			
378	Individual	promoter	applicable	Ashok .	Equity	76188011	India	Male	Tax PAN	65L	Services	3000	10	30000
											Governm			
		Other than	Not			12081601			Income	EMWPK9	ent			
379	Individual	promoter	applicable	Karmveer Yadav	Equity	77667975	India	Male	Tax PAN	153C	Services	2000	10	20000
		Other than	Not			12081601			Income	CQCPJ87				
380	Individual	promoter	applicable	Yashaswi Vijaykumar Jaju	Equity	81458352	India	Female	Tax PAN	87K	Student	1000	10	10000
		Other than	Not			12081800			Income	AGKPC53				
381	Individual	promoter	applicable	DILIP CHARAN	Equity	03155900	India	Male	Tax PAN	38H	Others	1000	10	10000
		Other than	Not			12081800			Income	COBPK23				
382	Individual	promoter	applicable	SHUBHAM KEYAL	Equity	07591590	India	Male	Tax PAN	10A	Business	1000	10	10000
		Other than	Not			12081800			Income	CVAPP05				
383	Individual	promoter	applicable	ABHAY PANDEY	Equity	08024547	India	Male	Tax PAN	18B	Others	1000	10	10000
		Other than	Not			12081800				BJXPA95				
384	Individual	promoter	applicable	AKASH AGGARWAL	Equity	16353748		Male			Others	1000	10	10000
		Other than	Not			12081800			Income	AKHPP59				
385	Individual	promoter	applicable	SARITA PANDEY	Equity	16498797		Female	Tax PAN		Others	2000	10	20000
		Other than	Not			12081800			Income	AOLPM42	Housewif			
386	Individual	promoter	applicable	MANGIPUDI USHA	Equity	17170326		Female		61N	е	1000	10	10000
-	-	Other than	Not		 	12081800			Income	DLEPK19			1	
387	Individual	promoter	applicable	VIRENDRA KHATKE	Equity	23436645		Male		I	Others	1000	10	10000
			11		' '	1 1 1 1 1 1 1	1				Governm	1	†	
		Other than	Not			12081800			Income	ABJPI584				
388	Individual	promoter	applicable	BABU LAL INDLIYA	Equity	41638537		Male	Tax PAN		Services	2000	10	20000
220		Other than	Not		1-17	12081800			Income	+	Housewif		1.5	
389	Individual	promoter	applicable	BIBHA KUMARI	Equity	43353414		Female	Tax PAN		e	5000	10	50000
333	marvidual	Other than	Not	DID: II CICOWII (I (I	Laguity	12081800		- Officio	Income	ANPPP74	 		+'-	
390	Individual	promoter	applicable	SYAM LAL	Equity	52887610		Male	Tax PAN		Business	1000	10	10000
	marvidual	Other than	Not	OTT WILLIAM	Legaity	12081800		IVIGIO	Income	EDCPP56	Dasinoss	1000	+10	10000
301	Individual		applicable	KAUSTUBH PRAKARSH	Fauity	57430599		Male	Tax PAN		Student	1000	10	10000
JJI	murvidual	Promoter	Jappiicabie	INVOCTORILLENAVAROL	Equity	101400099	Inna	Iniaic	LIAN FAIN	IZL	Joudelli	11000	110	110000

		lou "	IN .	T	<u> </u>	140004000	1	1	Ι.	0000000		<u> </u>		
		Other than	Not			12081800	l	l	Income	CQPPP88	Housewif			
392	Individual	promoter		PRIYANKA PANDEY	Equity	64138758	India	Female	Tax PAN	74G	е	2000	10	20000
		Other than	Not			12081800			Income	APXPM47				
393	Individual	promoter	applicable	DEBNATH MONDAL	Equity	70978301	India	Male	Tax PAN		Others	1000	10	10000
		Other than	Not			12081800			Income	ALDPG26				
394	Individual	promoter	applicable	VICKY GUPTA	Equity	85000791	India	Male	Tax PAN	27H	Business	1000	10	10000
		Other than	Not			12081801			Income	COTPC49				
395	Individual	promoter	applicable	KAJAL CHAUDHARY	Equity	14588470	India	Female	Tax PAN		Business	1000	10	10000
		Other than	Not		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	12081801			Income	ANHPM2	2 0.0	1.000		10000
396	Individual	promoter		SANJAY KUMAR MISHRA	Equity	15779596	India	Male	Tax PAN		Student	3000	10	30000
000	marviadai	Other than	Not	CANOAL ROWN IN MICHIEV	Legarty	12081801	IIIdia		Income	AFPPJ02	Otadoni		10	00000
207	Individual			ABHISHEK JAMUAR	Equity	32106408	India	Male	Tax PAN		Business	1000	10	10000
391	Individual	promoter	 ' '	ABHISHER JAWUAR	Equity		IIIuia	iviale				1000	10	10000
		Other than	Not			12081801	l	l	Income		Housewif	1,000	1.0	
398	Individual	promoter		PRIYANKA JAIN	Equity	34521431	India	Female	Tax PAN	66P	e	1000	10	10000
		Other than	Not			12081801			Income	AJWPH57	Housewif			
399	Individual	promoter	applicable	SHABA HAIDER	Equity	43320931	India	Female	Tax PAN	95C	е	1000	10	10000
											Governm			
		Other than	Not			12081801			Income	ABRPV35	ent			
400	Individual	promoter	applicable	venkatesh palyam kodandaram	Equity	55416233	India	Male	Tax PAN	70E	Services	1000	10	10000
		Other than	Not			12081801			Income	DBOPB10	Housewif			
401	Individual	promoter		manisha maharudra bhosale	Equity	72288834	India	Female	Tax PAN	69J	e	5000	10	50000
	mannadar	Other than	Not	manera manaradia presais	Equity	12082500	maia	Cinalo	Income	CBBPS86			1.0	00000
402	Individual	promoter		SUDARSHAN SINGH	Equity	00433692	India	 Male	Tax PAN		Others	2000	10	20000
402	IIIuiviuuai	+-	Not	SUDANSI IAN SINGI I	Lequity	12083400	IIIuia	Iviale		AVAPS79	Others	2000	10	20000
400	1	Other than		ANALT OF LIGHT			1	NA - 1 -	Income		D	1000	10	40000
403	Individual	promoter		AMIT SEHGAL	Equity	04664194	india	Male	Tax PAN		Business	1000	10	10000
		Other than		BURHANUDDIN YUSUFI		12083400	l		Income	BVWPB4				
404	Individual	promoter		BAGASRAWALA	Equity	20821761	India	Male	Tax PAN		Others	2000	10	20000
		Other than	Not			12085300			Income	DZSPK09				
405	Individual	promoter	applicable	RITA KUMAR	Equity	03183156	India	Female	Tax PAN	07E	Others	3000	10	30000
		Other than	Not			12086700			Income	EFSPK60				
406	Individual	promoter	applicable	VIBHOR KUMAR	Equity	00027461	India	Male	Tax PAN	27J	Business	10000	10	100000
		Other than	Not			12086700			Income	BLLPS49				
407	Individual	promoter	applicable	SATISH SHARMA	Equity	00690751	India	Male	Tax PAN		Business	2000	10	20000
		Other than	Not			12086700			Income	ALAPM36				
408 l	Individual			SANDEEP MALHOTRA	Equity	06466246	India	Male			nal	1000	10	10000
100	marviadar	Other than	Not	CANADELL IVIALITOTICA		12086700	IIIdia	IVIGIO	Income	AEXPA68	i i di	1000	10	10000
400	Individual	promoter		SATYA NARAYAN AGRAWAL	Equity	11633572	India	 Male	Tax PAN		Business	63000	10	630000
409	Illulviduai	 ' 	 ' ' 	SATTA NAKATAN AGRAWAL	Equity		IIIuia	iviale			Dusilless	03000	10	030000
440		Other than	Not		F	12086700	1	NA - 1 -	Income	OSVPS51	D	1000	10	40000
410	Individual	promoter	 ' ' 	PRAKASH KUMAR SAHOO	Equity	12573726	india	Male	Tax PAN		Business	1000	10	10000
		Other than	Not			12088700			Income	CZQPM0				
411	Individual	promoter	 ' ' 	AKRITI MAHAJAN	Equity	05933691	India	Female	Tax PAN		Business	2000	10	20000
		Other than	Not			12088700			Income	ADCPY76				
<u>412</u>	Individual	promoter	applicable	DEEPAK RAJNATH YADAV	Equity	06022615	India	Male	Tax PAN		Others	1000	10	10000
		Other than	Not			12088700			Income	ACIPL755				
413	Individual	promoter	applicable	SOM NATH LOONIA	Equity	06296160	India	Male	Tax PAN	8A	Others	7000	10	70000
		Other than	Not			12088700			Income	BWPPK0				
414	Individual			KAMAL THALOR	Equity	11694289	India	Male			Others	2000	10	20000
	airiadai	15.01110101	sppiioubio		1-42.67	11.100-1200	1.1.414	1α.ο	. 47. 1 7 11 1	 - 	100.00	1-000	ı. <u> </u>	1-0000

		ı					1	_	ı	1	10		_	
			.			40000700					Governm			
		Other than	Not	NUTINI (CINAR BANIGUA)		12088700	1	l	Income	BHBPP51		4000		10000
415	Individual	promoter		NITIN KUMAR PANCHAL	Equity	13801719	_	Male			Services	1000	10	10000
		Other than	Not			12088700			Income	AZGPN55	Housewif		1	
416	Individual	promoter	applicable	NEETU YADAV	Equity	14657099		Female	Tax PAN	20R	е	2000	10	20000
l l		Other than	Not			12088700				BUQPA87			1	
417	Individual	promoter	applicable	MOHHAMMED ZEESHAN ALAM	Equity	19625380		Male			Business	1000	10	10000
		Other than	Not			12088700			Income	BGZPP21				
418	Individual	promoter	applicable	RANJIT KUMAR PANDA	Equity	20047565		Male			Others	1000	10	10000
		Other than	Not			12088700				DWTPS1				
419	Individual	promoter	applicable	POOJA SHRIVASTAVA	Equity	21715448		Female	Tax PAN		Business	2000	10	20000
		Other than	Not			12088700	1		Income	EVJPM03				
420	Individual	promoter	applicable	SAMBIT MOHANTY	Equity	23251238		Male	Tax PAN		Student	1000	10	10000
		Other than	Not			12088700			Income	DDRPK44				
421	Individual	promoter	applicable	MAHENDRA KUMAR KHOKHAR	Equity	29709030	India	Male	Tax PAN	35G	Others	1000	10	10000
		Other than	Not			12088700			Income	DFZPS47				
422	Individual	promoter	applicable	BRAJAKISHORE SAHOO	Equity	33275507	India	Male	Tax PAN	69K	Others	1000	10	10000
		Other than	Not			12088700			Income	CCUPS67				
423	Individual	promoter	applicable	PRAMOD SHUKLA	Equity	43492293	India	Male	Tax PAN	81A	Others	1000	10	10000
		Other than	Not			12088700			Income	FSJPS01				
424	Individual	promoter	applicable	AMIT KUMAR SINGH	Equity	50339728		Male			Others	3000	10	30000
		Other than	Not		' '	12088700			Income	BSMPM3				
425	Individual	promoter	applicable	RAJESH MAHAPATRA	Equity	56343000	1	Male	Tax PAN		Student	1000	10	10000
	a.v.aaa.	Other than	Not			12088700		i i i i i i i i i i i i i i i i i i i	Income	AYPPB70		1.000	1.5	1.0000
426	Individual	promoter	applicable	RAVI KUMAR BANSAL	Equity	58185116	1	Male	Tax PAN		Student	2000	10	20000
120	marviadai	Other than	Not	HARSHKUMAR PANKAJKUMAR		12088700		IVIGIO	Income	AVAPT74	Otadoni	2000	1.0	20000
427	Individual	promoter	applicable	TRIVEDI	Equity	65172688		Male	Tax PAN		Others	1000	10	10000
421	IIIuiviuuai	Other than	Not	TRIVEDI	Legalty	12088700		Iviale	Income	BFPPK30	Others	1000	110	10000
120	Individual			SUSHIL KUMAR	Equity	65390399	1	Male	Tax PAN		Others	1000	10	10000
420	IIIuiviuuai	promoter Other then	applicable Not	SUSFIL KUWAK	Equity	12088700		iviale		AEFPJ83	Officis	1000	10	10000
400	ا ما داداد داد	Other than			E avvite a				Income		During	2000	10	20000
429	Individual	promoter	applicable	APARAJITA JHA	Equity	68454769		Female	Tax PAN		Business	2000	10	20000
400		Other than	Not	NUTIONALGONIA		12088700			Income	BJRPL49		4000	1.0	10000
430	Individual	promoter	applicable	NITISH LOONIA	Equity	78444867	india	Male	Tax PAN			1000	10	10000
			.			40000700					Governm			
404		Other than	Not			12088700		l			ent	0000		
431	Individual	promoter	applicable	SOMENDRA SINGH	Equity	82581091	India	Male	Tax PAN			2000	10	20000
		l	.								Governm			
		Other than	Not			12088700				CFQPD32			1	
432	Individual	promoter	applicable	BALBEER SINGH DUKIYA	Equity	83437044	+	Male		09H	Services	1000	10	10000
		Other than	Not			12088701			Income	CHDPA86				
433	Individual	•	applicable	ABHAY AGGRAWAL	Equity	11084839		Male			nal	1000	10	10000
		Other than	Not			12088701			Income	CUAPK44				
434	Individual	promoter	applicable	SURENDRA KUMAR KURI	Equity	17415777		Male	Tax PAN		Others	2000	10	20000
		Other than	Not			12088701	1		Income	FADPK04				
435	Individual	promoter	applicable	SHUBHAM KUMAR	Equity	30223251		Male	Tax PAN		Others	1000	10	10000
		Other than	Not			12088701			Income	CPSPJ97				
436	Individual	promoter	applicable	MANTAVYA JAIN	Equity	34966401	India	Male	Tax PAN	14H	Student	2000	10	20000
		Other than	Not			12088701			Income	BCGPM5				
127	Individual	promoter	applicable	MUNISH .	Equity	45543049	India	Male		743K	Others	1000	10	10000

		04141	TN1-4	Γ	T	40000704	I	1	II	A 71D 1470		<u> </u>		
		Other than	Not	COLUDAD LAIN	,	12088701		.	Income	AZIPJ470	.	4000	1,0	40000
438	Individual	promoter	applicable	GOURAB JAIN	Equity	67667969	India	Male			Business	1000	10	10000
		Other than	Not			12088701	l		Income	JAXPS00	Housewif		1	
439	Individual	promoter	applicable	PRIYA DEVI	Equity	68235096	India	Female		63M	е	1000	10	10000
		Other than	Not			12088701			Income	BHGPV94				
440	Individual	'	applicable	SUSEELAN NAIR MINU VISHNU	Equity	70354647	India	Male	Tax PAN		Others	1000	10	10000
		Other than	Not			12088701			Income	DJIPS444	Housewif			
441	Individual	promoter	applicable	PINKY TRIPURARI SHARMA	Equity	77112993	India	Female	Tax PAN	5F	е	1000	10	10000
											Governm			
		Other than	Not			12088701			Income	CQLPS80	ent			
442	Individual	promoter	applicable	SANDEEP.	Equity	89680361	India	Male	Tax PAN	37A	Services	1000	10	10000
		Other than	Not			12088701			Income	CCDPM9	Housewif			
443	Individual	promoter	applicable	ROMIKA MAHAJAN	Equity	94973445	India	Female	Tax PAN	427L	е	1000	10	10000
		Other than	Not			12088701			Income	ANHPM2	Professio			
444	Individual	promoter	applicable	SANJAY KUMAR MISHRA	Equity	97024885	India	Male	Tax PAN	061R	nal	9000	10	90000
			' '								Governm			
		Other than	Not			12088702			Income		ent			
445	Individual	promoter	I	AMIT KUMAR	Equity	06723369	India	Male			Services	1000	10	10000
	marriadai	Other than	Not	7 4011 1 1010 4 1	Equity	12088702	maia	IVIGIO	Income	CHCPR90		1000	1.0	10000
446	Individual	promoter		RAJENDRA KUMAR .	Equity	31717381	India	Male			Others	1000	10	10000
770	Individual	Other than	Not	TRACENDIVA NOMARY.	Legalty	12088702	IIIdia	IVIAIC	Income	CSSPS72		1000	10	10000
447	Individual	promoter	applicable	KANAK LATA SINHA	Equity	44727331	India	Female	Tax PAN	98L	n lousewii	1000	10	10000
447	Illulviuuai	Other than	Not	RANAR LATA SINTIA	Equity	12088702	IIIuia	remale		BVBPS50	U .	1000	10	10000
110	Individual		1	KRISHNA PRATAP SHARMA	Fauity		India	Male			Duoiness	2000	10	20000
440	Individual	 	applicable Not		Equity	49190250	india	iviale	†		Business	2000	10	20000
440	La alta dala a a l	Other than		YESHWANT SUBHASH	:	12088702	11!	NA-1-	Income	AWVPK1	0	4000	40	40000
449	Individual	promoter	applicable	KANOLKAR	Equity	51907256	india	Male	Tax PAN		Service	1000	10	10000
		Other than	Not) (I) (E) (((((((((((((((((12088702	l	l	Income	AURPP71			1,	
450	Individual	promoter	applicable	VIVEK KUMAR PATEL	Equity	53317745	India	Male	Tax PAN		Business	2000	10	20000
		Other than	Not			12088702			Income	AXHPS88				
451	Individual	promoter	applicable	VISHAL SHARMA	Equity	65741653	India	Male	Tax PAN		Others	5000	10	50000
											Governm			
		Other than	Not			12088702				BBQPK35	ent			
452	Individual	promoter	applicable	SURESH KUMAR	Equity	66162781	India	Male	Tax PAN	29J	Services	2000	10	20000
		Other than	Not			12088702			Income	FFHPD51				
453	Individual	promoter	applicable	SHIVANI DAWAS .	Equity	76970923	India	Female	Tax PAN	30P	Others	1000	10	10000
											Governm			
		Other than	Not			12088702			Income	CEMPP21	ent			
454	Individual	promoter	applicable	SONAL PATEL	Equity	77833974	India	Male	Tax PAN		Services	1000	10	10000
		Other than	Not			12088702				BATPC39				
455	Individual	promoter	applicable	RAM SINGH CHOUDHARY.	Equity	92032929	India	Male			Others	1000	10	10000
		Other than	Not			12088703		1 -		BEHPK41		<u> </u>	 	1
456	Individual		applicable	TARUNA MANGLA .	Equity	01088449	India	Female			nal	1000	10	10000
.55	a.riadai	Other than	Not		1-4	12088703		, c.maio	Income	AEAPY50			 . 	1.5555
457	Individual	promoter	applicable	MONIKA YADAV .	Equity	09410634	India	Female			Others	2000	10	20000
701	muniqual	Other than	Not	MONITADAY.		12088703	iiiuia	Tomale		FFQPS08	Outors	2000	10	20000
150	Individual			BISHNUPRIYA SAHOO .	Equity	16305110	India	Female			Others	1000	10	10000
400	Individual	promoter Other then	applicable	DISHNUFRITA SAROO .	Equity		illula	i emale			Outers	1000	10	10000
450	In dividual	Other than	Not		Fauity	12088703	India	Mala		BJKPY44	Othoro	1000	10	10000
459	Individual	Promoter	applicable	AJAY YADAV	Equity	48304306	mula	Male	Tax PAN	00Q	Others	1000	10	10000

П		Other than	Not	T	<u> </u>	12088703		1	Income	BILPG597			T	<u> </u>
460	Individual	promoter		PRAVEEN KUMAR GOYAL	Fauity	63534451	India	Male	Tax PAN		Business	1000	10	10000
400	IIIuiviuuai	promoter	applicable	PRAVEEN KUWAR GOTAL	Equity	03334431	IIIuia	iviale	TAX PAIN			1000	10	10000
		Otle on the on	Net			4000000					Governm			
404	la di dala al	Other than	Not	DODA O KUMA D MAIN		12088800	la alta	NA-1-	Income	ADYPN42		4000	10	10000
461	Individual	promoter	applicable	PORAS KUMAR NAIN	Equity	01465891	india	Male	Tax PAN		Services	1000	10	10000
			.						l.		Governm			
		Other than	Not			12088800	l	l	Income	AKOPN88			1	
462	Individual	promoter		PRIYANK NIGAM	Equity	01956497	India	Male	Tax PAN	79N	Services	1000	10	10000
		Other than	Not			12088800			Income	EYJPS57				
463	Individual	promoter	applicable	RAM KUMAR SRIVASTAVA	Equity	02339521	India	Male	Tax PAN		Others	1000	10	10000
											Governm			
		Other than	Not			12088800			Income	ADNPP06	ent			
464	Individual	promoter	applicable	GIRISH CHANDER PANT	Equity	08624827	India	Male	Tax PAN	25Q	Services	1000	10	10000
		Other than	Not			12088800			Income	DVYPS16	Housewif			
465	Individual	promoter	applicable	SUMAN SRIVASTAVA	Equity	42474987	India	Female	Tax PAN	74G	е	1000	10	10000
		Other than	Not		' '	12090600			Income	ANFPG37				
466	Individual	promoter		ARVIND KUMAR GATTANI	Equity	01849301	India	Male			Others	1000	10	10000
		Other than	Not	2 12 21 21 17 11 11		12092100			Income	AEMPJ51			 	1
467	Individual	promoter		JABRARAM POSARAM GEHLOT	Equity	01116294	India	Male	Tax PAN		Business	2000	10	20000
	marriadai	Other than	Not	0,1210,110,11011 00,110,1101 02,1201	Leganty	12092900	maia	IVIGIO	Income	EMEPM0	Bueineee		1.0	20000
468	Individual	promoter	l .	MAYA.	Equity	07602304	India	Female	Tax PAN		Others	4000	10	40000
700	marviduai	Other than	Not	IWATA:	Legalty	13012400	IIIuia	Terriale	Income	AFJPS52	Otricis	1-000	10	1-0000
460	Individual	promoter		SANDEEP SINGLA	Equity	03906122	India	Male			Business	19000	10	190000
409	IIIuiviuuai	Other than	applicable Not	SANDEEF SINGLA	Equity	13012400	IIIuia	iviale		ATLPK10	Dusiness	19000	10	190000
470	امينامانياناما	1	1	KICHODE KADTHIKEVAN	Lawit.		ladia	Mala	Income		Othors	1000	10	10000
4/0	Individual	promoter		KISHORE KARTHIKEYAN	Equity	04258571	inuia	Male	•		Others	1000	10	10000
474		Other than	Not	IKUMAR ARUUGUEK	,	13012400			Income	AJTPA84	<u>.</u>	44000	1.0	440000
4/1	Individual	promoter	applicable	KUMAR ABHISHEK	Equity	04655494	India	Male	Tax PAN		Business	11000	10	110000
			.						l.		Governm			
		Other than	Not			13012400	l	<u>_</u> .	Income	BDZPS49			1	
472	Individual	promoter		SWATI RANJIV SHARMA	Equity	05584511	India	Female	Tax PAN		Services	2000	10	20000
		Other than	Not			13012400			Income	EHEPK57				
473	Individual	promoter	applicable	SHAILZA KOHLI	Equity	05614511	India	Female	Tax PAN		Business	1000	10	10000
		Other than	Not			13015200			Income	AFQPS34	Housewif			
474	Individual	promoter	applicable	ALKABEN MANGALDAS SHAH	Equity	00174358	India	Female	Tax PAN	60M	е	5000	10	50000
		Other than	Not			13020700			Income	APKPS83	Housewif			
475	Individual	promoter	applicable	PROMITA SINGLA	Equity	00014259	India	Female	Tax PAN	04N	е	17000	10	170000
		Other than	Not			13023400			Income	ADLPG24				
476	Individual	promoter	applicable	ANUVA GOENKA	Equity	00513524	India	Female	Tax PAN	10N	Business	1000	10	10000
		Other than	Not			13023400			Income	ADDPT91				
477	Individual	promoter		MAYA TIWARI	Equity	00582031	India	Female	Tax PAN	72C	le	1000	10	10000
		Other than	Not			13023400			Income	AAHPT24			 	1
478	Individual			BADRI NARAYAN TIWARI	Equity	00582046	India	Male			Retired	3000	10	30000
		Other than	Not		1-47	13061300				AFUPG73			+	
470	Individual	promoter	applicable	VIMAL KUMAR GUPTA	Equity	00032651	India	Male			Service	1000	10	10000
713	muniqual	Other than	Not	VIVIAL ROMAR GOLLA	Legaity	16014301	inula	IVIAIC	Income	AHHPA81	OCI VICE	1000	10	10000
180	Individual	1		SHUBHAM AGARWAL	Fauity	04762464	India	Male			Rusinoss	1000	10	10000
+00	Individual	promoter Other then	+		Equity		illula	IVIAIC		AAJHR69	Business	1000	10	10000
404	Individual	Other than	Not	RAJINDER KUMAR AGGARWAL	Equity	IN300118	India	not	Income		Others	2000	10	30000
40 T	Individual	Phomoret	applicable	HUF	Equity	10818573	pridia	not	Tax PAN	22F	Others	3000	10	30000

		1011 11	la i	1	 	Liviono	140				A I D D A 470	l., .e	1		1
400		Other than	Not		,	IN300 ²				Income	AIRPM78		4000	10	10000
482	Individual	promoter	applicable	NAINA MAHAJAN	Equity	30350		ndia	Female	Tax PAN	48P	е	1000	10	10000
		Other than	Not			IN300 ²				Income	AALHS42			1.0	1,000
483	Individual	promoter	applicable	SUDHIR KUMAR GARG HUF	Equity	30423		ndia		Tax PAN	78M	Others	1000	10	10000
		Other than	Not			IN3002				Income	AGEPP55				
484	Individual	+	applicable	GENDALAL DEORAM PATIL	Equity	105023		ndia		Tax PAN	84G	Service	1000	10	10000
		Other than	Not			IN3002				Income	AJAPA99				
485	Individual	promoter	applicable	VIKAS KISHIN AMESAR	Equity	13251		ndia		Tax PAN	48A	Others	1000	10	10000
		Other than	Not			IN3002				Income	AHGPG6				
486	Individual	promoter	applicable	KESHAV GARG	Equity	156469		ndia		Tax PAN		Business	1000	10	10000
		Other than	Not			IN3002				Income	AKRPS29	Housewif			
487	Individual	promoter		SARITA ARVIND SOMANI	Equity	17061	432 In	ndia		Tax PAN	95R	е	1000	10	10000
		Other than	Not			IN3002	214			Income	AHEPG92				
488	Individual	promoter	applicable	ADITYA GIRI	Equity	17438	711 In	ndia		Tax PAN	41J	Student	2000	10	20000
		Other than	Not	JOY CHENATHU PARAMBIL		IN3002	214			Income	AISPC48				
489	Individual	promoter	applicable	POULOSE	Equity	176050	697 In	ndia		Tax PAN	97P	Service	1000	10	10000
		Other than	Not			IN3002	214			Income	AEOPT99				
490	Individual	promoter	applicable	DAYA SHANKER THAKUR	Equity	20775	416 In	ndia		Tax PAN	03P	Service	2000	10	20000
		Other than	Not			IN3002	214			Income	AHZPP44				
491	Individual	promoter	applicable	AARTI PARAGKUMAR PATEL	Equity	23101	154 In	ndia		Tax PAN	81G	Service	2000	10	20000
		Other than	Not		' '	IN3002				Income	AHTPB18				
492	Individual	promoter	applicable	HITESH VASANTLAL BHAVSAR	Equity	263980	010 lin	ndia		Tax PAN	88R	Others	1000	10	10000
		Other than	Not		 	IN3002				Income	ADHPA52				
493	Individual	1	applicable	GUNJAN DUBLISH	Equity	32370		ndia			68L	Others	3000	10	30000
		Other than	Not		 	IN3002				Income	AABPB72				
494	Individual	promoter	applicable	YASH RAMESH BRAHMBHATT	Equity	392230		ndia		Tax PAN	37P	Others	8000	10	80000
		Other than	Not			IN3002				Income	ADIPV24			1	
495	Individual		applicable	VANDHANA P	Equity	414659		ndia		Tax PAN		Business	1000	10	10000
		Other than	Not		1=955)	IN3002				Income		Housewif	1.000	1	1.0000
496	Individual	promoter		PREETI MALPANI	Equity	41838		ndia			805E	e	1000	10	10000
100	marriadai	Other than	Not	PASALAPUDI LAKSHMI	Legalty	IN3002		IGIG		Income	AKNPP54		1000	+	10000
497	Individual	1	applicable	SIREESHA	Equity	423483		ndia			56A	e	1000	10	10000
	marriadai	Other than	Not		Legaity	IN3002		IGIG			DRKPS86		1000	+	10000
498	Individual	promoter	1	BIPUL OMPRAKASH SINGH	Equity	44079		ndia		Tax PAN	93P	Others	1000	10	10000
130	marviadai	Other than	Not	BIT GE CIVIL TO TO TO CITY CITY CITY	Lquity	IN3002		IGIG		Income	BDCPG5	Others	1000	10	10000
499	Individual	promoter	applicable	REKHA GAUR	Equity	555670		ndia			215M	Business	4000	10	40000
733	marvidual	Other than	Not	NAYANABEN ANILKUMAR	L-Mairy	IN3002		iuia		Income		Housewif	1000	10	70000
₅₀₀	Individual	promoter	applicable	PRAJAPATI	Equity	14391		ndia		Tax PAN	33D	le	1000	10	10000
300	iriuiviuual	Other than	Not	I IVAVALATI	Equity	IN3002		iuia		Income	AFPPK03		1000	10	10000
₅₀₁	Individual	promoter	applicable	RAJESH KUNAL KESHRI	Equity	14509		ndia		Tax PAN	77L	Business	16000	10	160000
301	muividual	promoter	Body	INAUESII KUIVAL KESIIKI	Lquity	145094	+33 111	iuia		IAX PAIN		Dusiness	10000	10	100000
		Other than	1	GLOBE STOCKS AND		IN3003	227			Incomo	AABCG00				
500	Entity	Other than			Equity			odio		Income		1	2000	10	20000
3UZ	Entity	Other then	(not	SECURITIES LTD.	Equity	103143		ıuıa		Tax PAN	32A	Others	2000	10	20000
	ا منامان المصا	Other than	Not	SHANTIBEN SURESHKUMAR		IN3003		امانہ		Income	AFBPG36	Duais	1000	10	10000
203	Individual	promoter	applicable	GOYAL	Equity	106799		iuia			83F	Business	1000	10	10000
ا در ۱	المسال المسال	Other than	Not	AMPENIDDA KUMAD ODGO		IN3004		_ al: -		Income	ASQPS76	1	0000	10	20000
ວ∪4 	Individual	promoter	applicable	AMRENDRA KUMAR SINGH	Equity	41225		ndia		Tax PAN	49D	Business	2000	10	20000
	ا - داخلونا المصا	Other than	Not	DDAKACH CHANDDA CHANDAK		IN3004		مائم		Income	ACYPC48	Comite	05000	10	050000
5U5	Individual	Ipromoter	applicable	PRAKASH CHANDRA CHANDAK	Equity	41663	237 IN	ndia		Tax PAN	71D	Service	25000	10	250000

Other than Not applicable VIKRAM BANKA Equity 15512422 India Tax PAN 11G Business 2000 Other than Not Other than Not applicable ABHISHEK KASHYAP Equity 19860196 India Tax PAN 00F Others 8000 Other than Not Other than Not ASIAN OTHER TAX PAN 11G Business 2000 Other than Not Other than Not ASIAN OTHER TAX PAN NOTHER TAX P	10 10 10 10 10 10 10	20000 10000 80000 80000 40000 210000
Other than Not applicable MANOJ KUMAR BARNWAL Equity 19860196 India Tax PAN 93B Service 1000 Other than Not IN300513 Income AQZPK90 Others 8000 Other than Not IN300513 Income APPR25 Other than Not IN300513 Income ABYPR25 Others A000 Other than Not IN300513 Income ABYPR25 Other than Not IN300513 Income ABYPR25 Other than Not IN300513 Income ABYPR25 Others A000 Other than Not IN300513 Income AYIPH07 Other ADVING IN300513 Income AXIPH07 Other AXIPH07 Other ADVING IN300513 Income AXIPH07 Other AXIPH07 Other AXIPH07 Other AXIPH07 Other AXIPH07 Other AXIPH08 Other A	10 10 10 10 10 10 10	10000 80000 80000 40000 210000
Individual promoter Applicable MANOJ KUMAR BARNWAL Equity 19860196 India Tax PAN 93B Service 1000	10 10 10 10 00 10	80000 80000 40000 210000
Other than Not applicable ABHISHEK KASHYAP Equity 21950108 India Tax PAN 00F Others 8000 Other than Not applicable AJAY DANGRA Equity 22795603 India Tax PAN 88J Business 8000 Other than Not IN300513 Income ABYPR25 India Tax PAN 94P Others 4000 Other than Not Other than Not IN300513 Income ABYPR25 India Tax PAN 94P Others 4000 Other than Not IN300513 Income APYPR25 India Tax PAN 94P Others 4000 Other than Not IN300513 Income APYPR25 India Tax PAN 94P Others 4000 Other than Not IN300513 Income APYPR25 India Tax PAN 94P Others 4000 Other than Not IN300513 Income APYPR25 India Tax PAN 94P Others 4000 Other than Not IN300513 Income APYPR25 India Tax PAN 94P Others 4000 Other than Not IN300513 Income APYPR25 India Tax PAN 94P Others 4000 Other than Not IN300513 Income APYPR25 India Tax PAN 94P Others 4000 Other than Not IN300513 Income APYPR25 India Tax PAN 94P Others 4000 Other than Not IN300513 Income APYPR25 India Tax PAN 94P Others 4000 Other than Not IN300513 Income APYPR25 India Tax PAN 94P Others 4000 Other than Not IN300513 Income APYPR25 India Tax PAN 73E Service 1000 Other than Not IN300513 Income APYPR25 India Tax PAN 73E Service 1000 Other than Not IN300513 Income APYPR25 India Tax PAN 73E Service 1000 Other than Not IN300513 Income APYPR25 India Tax PAN 73E Service 1000 Other than Not IN300513 Income APYPR25 India Tax PAN 73E Service 1000 Other than Not IN300513 Income APYPR25 India Tax PAN 73E Service 1000 Other than Not IN300513 Income APYPR25 India Tax PAN 73E Service 1000 Other than Not IN300513 Income APYPR25 India Tax PAN 509K Others 7000 Other than Not IN300513 Income APYPR25 India Tax PAN 509K Others 7000 Other than Not India Tax PAN 509K Others 7000 Other Tax P	10 10 10 10 00 10	80000 80000 40000 210000
Individual promoter applicable ABHISHEK KASHYAP Equity 21950108 India Tax PAN 00F Others 8000	10 10 00 10 10	80000 40000 210000
Other than Not applicable AJAY DANGRA Equity 22795603 India Tax PAN 88J Business 8000 Other than Not applicable AJAY DANGRA Equity 23361157 India Tax PAN 94P Others 4000 Other than Not IN300513 Income BITPS243 Housewif applicable AJAY DANGRA Equity 23364712 India Tax PAN 6N e 2100 Other than Not IN300513 Income AYIPH07 Date of the promoter applicable AJAY DANGRA Equity 23364712 India Tax PAN 94P Others 4000 Other than Not IN300513 Income AYIPH07 Date of the promoter applicable AJAY DANGRA Equity 23364712 India Tax PAN 6N e 2100 Other than Not IN300513 Income AYIPH07 Date of the promoter applicable AJAY DANGRA Equity B4761136 India Tax PAN 29H Service 1000 Other than Not IN300513 Income AKZPC88 Date of the promoter applicable FARZANA AYUBALI CHITAPURI Equity B5269010 India Tax PAN 73E Service 1000 Other than Not IN300513 Income ASWPP6 Others 7000 Other than Not IN300513 Income ASWPP6 Date of the promoter applicable RANI PRASAD Equity B5711973 India Tax PAN 509K Others 7000 Others 7000	10 10 00 10 10	80000 40000 210000
Individual promoter AJAY DANGRA Equity 22795603 India Tax PAN 88J Business 8000	10 10 10	40000 210000
Other than Not applicable SUDHIR KUMAR RAKESH Equity 23361157 India Tax PAN 94P Others 4000 Other than Not IN300513 Income BITPS243 Housewif 23364712 India Tax PAN 6N e 2100 Other than Not IN300513 Income AYIPH07 Service 1000 Other than Not IN300513 Income AYIPH07 Service 1000 Other than Not IN300513 Income AYIPH07 Service 1000 Other than Not IN300513 Income AXZPC88 Individual promoter applicable FARZANA AYUBALI CHITAPURI Equity 85269010 India Tax PAN 73E Service 1000 Other than Not IN300513 Income ASWPP6 Income AS	10 10 10	40000 210000
510IndividualpromoterapplicableSUDHIR KUMAR RAKESHEquity23361157IndiaTax PAN94POthers4000511IndividualOther than promoterNot applicableKAMINI SINHAEquity23364712IndiaTax PAN6Ne2100512IndividualpromoterapplicableHIRENPAL SINGH DEORAEquity84761136IndiaTax PAN29HService1000513IndividualpromoterapplicableFARZANA AYUBALI CHITAPURIEquity85269010IndiaTax PAN73EService1000514IndividualpromoterapplicableRANI PRASADEquity85711973IndiaTax PAN509KOthers7000	10	210000
Other than Not applicable KAMINI SINHA Equity 23364712 India Tax PAN 6N e 2100 Other than Not applicable HIRENPAL SINGH DEORA Equity 84761136 India Tax PAN 73E Service 1000 Other than Not Other than Not Other than Not AKZPC88 Other than Not Other than Not AMINIONS13 Income AKZPC88 Other than Not Other Tax PAN 509K Others 7000	10	210000
511IndividualpromoterapplicableKAMINI SINHAEquity23364712IndiaTax PAN6Ne2100512IndividualpromoterapplicableHIRENPAL SINGH DEORAEquity84761136IndiaTax PAN29HService1000513IndividualpromoterapplicableFARZANA AYUBALI CHITAPURIEquity85269010IndiaTax PAN73EService1000514IndividualpromoterapplicableRANI PRASADEquity85711973IndiaTax PAN509KOthers7000	10	
Other than Not applicable HIRENPAL SINGH DEORA Equity 84761136 India Tax PAN 29H Service 1000 Other than Not IN300513 Income AKZPC88 Service 1000 Other than Other than Not Other than Not IN300513 Income AKZPC88 Service 1000 Other than Not IN300513 Income ASWPP6 Other than Not IN300513 Income ASWPP6 Service 1000 Other than Not IN300513 Income ASWPP6 Others 7000 Other than Income ASWPP6 Other Tax PAN Income ASWPP6 Other Ta	10	
512 Individual promoterapplicableHIRENPAL SINGH DEORAEquity84761136 IndiaIndiaTax PAN29HService1000513 Individual promoterapplicableFARZANA AYUBALI CHITAPURIEquity85269010 IndiaTax PAN73EService1000514 Individual promoterapplicableRANI PRASADEquity85711973 IndiaTax PAN509KOthers7000		10000
Other than Not applicable FARZANA AYUBALI CHITAPURI Equity B514 Individual promoter applicable RANI PRASAD Equity B10300513 India Income AKZPC88 Service 1000 India Tax PAN 73E Service 1000 India Income ASWPP6 Service 1000 India Income ASWPP6 Service 1000 India Income ASWPP6 Income ASWPP6 Service 1000 India Income ASWPP6 Income ASWPP6 India Income Income ASWPP6 India Income Income ASWPP6 India Income Incom		10000
513 Individual promoterapplicableFARZANA AYUBALI CHITAPURIEquity85269010 IndiaTax PAN73EService1000514 Individual promoterapplicableRANI PRASADEquity85711973 IndiaTax PAN509KOthers7000		
Other than Not IN300513 India Income ASWPP6 State Individual promoter applicable RANI PRASAD Equity 85711973 India Tax PAN 509K Others 7000		
514 Individual promoter applicable RANI PRASAD Equity 85711973 India Tax PAN 509K Others 7000	10	10000
	10	70000
Other than Not IN300513 Income AAGFB55		
515 Individual promoter applicable VIKRAM BANKA Equity 86187721 India Tax PAN 85K Business 1000	10	10000
Other than Not IN300513 Income ABEPB45 Housewif		
516 Individual promoter applicable ANITA BANKA Equity 88006125 India Tax PAN 01C e 2000	10	20000
Other than Not IN300513 Income BIXPS617		
517 Individual promoter applicable NARENDRA SINGH Equity 90689827 India Tax PAN 1A Business 3000	10	30000
Other than Not IN300513 Income AKJPN26		
518 Individual promoter applicable ROSTIN WILBERT NAZARETH Equity 90935051 India Tax PAN 49D Service 5000	10	50000
Other than Not MUHAMMED SAJEER IN300513 Income GRCPM4		
519 Individual promoter applicable MULLASSERIYAKATH Equity 90962513 India Tax PAN 264F Service 3000	10	30000
Other than Not IN300513 Income BXOPS43		
520 Individual promoter applicable NISHANT KUMAR SINGH Equity 91223767 India Tax PAN 80K Others 2000	10	20000
Other than Not IN300513 Income ARTPG72		
521 Individual promoter applicable POOJA GOENKA Equity 91292162 India Tax PAN 58C Business 1000	10	10000
Other than Not IN300513 Income PAIPS796		
522 Individual promoter applicable AJEET SINGH Equity 92128999 India Tax PAN 9P Business 1000	10	10000
Other than Not IN300724 Income ANDPK36		
523 Individual promoter applicable MANPREET KAUR Equity 10177024 India Tax PAN 51M Service 1600	0 10	160000
Other than RAJASTHAN GLOBAL IN300724 Income AAACR41		
524 Entity promoter Others SECURITIES PRIVATE LIMITED Equity 10205278 India Tax PAN 22R Others 1000	0 10	100000
Other than Not IN300966 Income ADDPG8		
525 Individual promoter applicable DEVENDRA VEER GUPTA Equity 10158609 India Tax PAN 824A Others 2700	0 10	270000
Body	- 1.5	
Other than corporate IN300966 Income AALFD02		
526 Entity promoter (not DHARA TECHNOSYSTEM LLP Equity 10814077 India Tax PAN 56E Others 1100	00 10	1100000
Other than Not IN300966 Income AAZHR52		1.55555
527 Individual promoter applicable RAJESH KUMAR HUF Equity 11313377 India Tax PAN 19P Others 1000	10	10000
Other than Not IN300966 Income CCSPM2 Professio		1,000
528 Individual promoter applicable SANTOSH KUMAR MISHRA Equity 11337371 India Tax PAN 733G Inal 1000	10	10000
Other than Not IN301055 Income APCPM63		10000
	10	20000
529 Individual promoter applicable KAPIL MAHAJAN Equity 10603044 India Tax PAN 38N Service 2000		<u> </u> 20000

		I a	Table 1	1			1	1.	1	1			
-00	La alla dale cal	Other than	Not	DINIEGIA GUIDTA		IN301055		Income	AUWPG8		0000	40	00000
530	Individual	promoter		DINESH GUPTA	Equity	10794570		Tax PAN	250C	Service	3000	10	30000
		Other than	Not			IN301143		Income	ARQPS21			1	
531	Individual	promoter		PUSHPA PRAKASH SARDA	Equity	10951130		Tax PAN		Business	1000	10	10000
		Other than	Not			IN301143		Income	ABLFA23				
532	Individual	promoter		AAYUSH SANGHAL	Equity	11757499	India	Tax PAN		Business	6000	10	60000
		Other than	Not			IN301143		Income	AYAPM34				
533	Individual	promoter	applicable	ABHISHEK MAHESHWARI	Equity	11888072	India	Tax PAN	25D	Business	1000	10	10000
		Other than	Not			IN301143		Income	CDLPG84				
534	Individual	promoter	applicable	GOHIL BHIKHUBHAI JIVABHAI	Equity	11896755	India	Tax PAN	73P	Service	3000	10	30000
		Other than	Not			IN301143		Income	BGWPP6				
535	Individual	promoter	applicable	PRATIBHA MAHESHWARI	Equity	12063609	India	Tax PAN	264J	Business	1000	10	10000
		Other than	Not			IN301151		Income		Housewif		 • • • • • • • • • • • • • • • • • • •	1.0000
536	Individual	promoter		KANCHANBEN P RATILAL PATEL	Fauity	20238927	India	Tax PAN	46C	e	1000	10	10000
330	Individual	Other than	Not		Lquity	IN301151	IIIuia	Income	AEVPS89		1000	10	10000
537	Individual	promoter	1	PRAVEEN KUMAR SEKSARIA	Equity	20381880	India	Tax PAN	99B	Others	3000	10	30000
551	IIIuiviuuai	promoter		PRAVEEN KUWAR SEKSARIA	Equity	20361660	Illula	I AX PAIN	1990	Others	3000	10	30000
		041 41	Body			INIOOAAEA			A A A O 705				
		Other than	corporate	OA CARITAL OFFINIOFOLINATER	,	IN301151	ļ	Income	AAACZ25		0000	1.0	
538	Entity	promoter	(not	3A CAPITAL SERVICES LIMITED	Equity	21889966	India	Tax PAN	47A	Others	2000	10	20000
		Other than	Not			IN301151		Income	AKTPP72	Housewif			
539	Individual	promoter	applicable	SEEMA PUGALIA	Equity	22277516	India	Tax PAN	04L	е	2000	10	20000
		Other than	Not			IN301151		Income	ABQPG4				
540	Individual	promoter	applicable	SURAJ GOEL	Equity	23189312	India	Tax PAN	002R	Business	18000	10	180000
		Other than	Not			IN301151		Income	ABHPN08				
541	Individual	promoter	applicable	VALSALAKUMARI KESAVAN NAIR	Equity	25226567	India	Tax PAN	75E	Others	36000	10	360000
		Other than	Not			IN301364		Income	AOJPP18	Agricultur			
542	Individual	promoter	applicable	PARRIVEL SARAVANAN R	Equity	10021908	India	Tax PAN	49P	e	2000	10	20000
* 		Other than	Not			IN301436		Income	AHVPJ57			1.0	
543	Individual	promoter		AZAD KUMAR V JOSHI	Equity	81199238	India	Tax PAN	46L	Business	10000	10	100000
070	marviadai	Other than	Not	DAXABEN MAHESHBHAI	Lquity	IN301436	IIIdia	Income	BXNPB94	Dusiness	10000	10	100000
511	Individual	promoter	1	BHUTAKA	Equity	83335459	India	Tax PAN	50Q	Others	2000	10	20000
344	IIIuiviuuai	ļ'-	applicable Not	BIIOTAKA	Equity	IN301436	IIIuia	l .	AURPP71	Others	2000	10	20000
	ا ما دامان داما	Other than					lin all a	Income		D	4000	10	10000
545	Individual	!'	 ' ' 	VIVEK KUMAR PATEL	Equity	89056045			72R	Business	1000	10	10000
		Other than	Not			IN301436		Income	BKEPS21			1,	
546	Individual	 	+ · · 	YASH SINHA	Equity	91488168		Tax PAN	13R	nal	6000	10	60000
		Other than	Not		<u> </u>	IN301436		Income	BNCPK06			1	
547	Individual	promoter		VAIBHAV KOHLI	Equity	91766070		Tax PAN		Business	1000	10	10000
		Other than	Not			IN301436		Income	AQTPS39				
<u>548</u>	Individual	promoter	applicable	RAVI SHARMA	Equity	91815553	India	Tax PAN	35P	Student	3000	10	30000
		Other than	Not			IN301436		Income	AHYPJ80				
549	Individual	promoter	applicable	VIMLA SOHANLAL JOSHI	Equity	91872795	India	Tax PAN	23F	Business	1000	10	10000
		Other than	Not			IN301436		Income	ADRPJ56				
550 l	Individual	promoter	applicable	ASHISH JINDAL	Equity	92426093			51Q	nal	1000	10	10000
		Other than	Not	-		IN301436		Income	BGKPP54		1	1	1 2 2 2
₅₅₁	Individual	promoter	applicable	SANJAI KUMAR PANDAY	Equity	94377008		Tax PAN	72Q	nal	2000	10	20000
	marvidual	Other than	Not	CAUTOMINON AND AT	Legaity	IN301436		Income	BSZPS69	III	2000	110	20000
552	Individual			SANTOSH KUMAR SHARMA	 Fauity	97957926		Tax PAN	I	Rusinoss	6000	10	60000
JJZ	Individual	promoter Other then	applicable Not	OAN LOOL KUIVIAK SHAKIVIA	Equity					Business	10000	10	100000
	احدان الطانيا	Other than		DICHNILL DEDANIANDA ACDAVACAL		IN301436		Income	BEKPA03	Ducinces	1000	10	10000
<u>ეექ </u>	Individual	Ibromoter	applicable	BISHNU DEBANANDA AGRAWAL	⊏quity	98353668	India	Tax PAN	99P	Business	1000	10	10000

П		Other then	INIat	ī	<u> </u>	IN1204405	l	I II.		A D D D C Z O		T	T	$\overline{}$
 E	Individual	Other than	Not	DDAVEEN SANIZULA	Lauity	IN301485 10606735	India			ABPPS72 70Q	Ducinosa	5000	10	50000
554	Individual	promoter	 ' ' 	PRAVEEN SANKHLA	Equity		india			AIHPG98	Business	5000	10	50000
	ا منامان بالمان ما	Other than	Not	VICUINIU CODAL AKDIGUNANI	□ ait	IN301549					Camilaa	44000	10	140000
555	Individual	promoter	 ' ' 	VISHNU GOPALAKRISHNAN	Equity	17635724	india		ax PAN		Service	41000	10	410000
		Other than	Not	NUDLIA CLIANDAIC	,	IN301549	ļ. _. .		ncome	AGPPC83	Housewit	0000		
556	Individual	promoter		VIBHA CHANDAK	Equity	30076559	India			87B	е	6000	10	60000
		Other than	Not	l		IN301549	l			CWUPS3			1	'
557	Individual	promoter	applicable	VIRENDRA CHAND SINGH	Equity	35489752	India	 			Business	2000	10	20000
		Other than	Not			IN301549				APIPV766				'
558	Individual	promoter		RUCHI VERMA	Equity	51849705	India	T	ax PAN		Service	1000	10	10000
		Other than	Not			IN301549			ncome	AEZPK84				
559	Individual	promoter	applicable	GOPAL DAS KIRADOO	Equity	55199134	India	Т	ax PAN	18B	Business	1000	10	10000
		Other than	Not			IN301549		lı	ncome	BBAPS69				
560	Individual	promoter	applicable	PRABHAKAR PRAKASH SHINDE	Equity	55561715	India	Т	ax PAN	69J	Service	1000	10	10000
		Other than	Not			IN301549		lı .	ncome	AUIPK83				
561	Individual	promoter	applicable	ASHUTOSH KUMAR	Equity	55565937	India	т	ax PAN	18F	Business	30000	10	300000
		Other than	Not		' '	IN301549		lı lı	ncome	BJIPA690	Housewif			
562	Individual	promoter	applicable	NEHA AGARWAL	Equity	56103255	India			9G	е	1000	10	10000
		Other than	Not			IN301549		 	ncome	ABVPB72	Housewif		1	1
563	Individual	promoter		KAVITA K BADANI	Equity	56712285	India			09E	e	3000	10	30000
	marriadai	Other than	Not	SHAILESH SUBHASH	Legalty	IN301549	maia	 		ASZPS21			1.0	
564	Individual	promoter	applicable	SADAVARTE	Equity	56712566	India				Service	1000	10	10000
007	IIIdividadi	Other than	Not	CABAWATTE	Lquity	IN301549	IIIdid			ASKPK62	CCIVICC	1000	1.0	10000
565	Individual	promoter		NIKHIL KOHLI	Equity	57804377	India				Business	12000	10	120000
303	IIIuiviuuai	Other than	Not	NIKI IIE KOTIEI		IN301549	IIIuia	 		BODPK90		12000	110	120000
566	Individual	promoter		SHIKHA KOHLI	Equity	57871176	India			53F	O	2000	10	20000
300	IIIuiviuuai	<u> </u>	Not	SHIKHA KOHLI	Equity	IN301549	IIIuia	 		AMLPA90	Е	2000	10	20000
EG7	امينامان بأماريما	Other than		VIDINI ACDANAAI	Laurity .		امطام				Duainasa	1000	10	10000
700	Individual	promoter		VIPIN AGRAWAL	Equity	60418740	india	 			Business	1000	10	10000
-00		Other than	Not	DAGUAN IETUV	,	IN301549	ļ. _. .		ncome	AOOPJ02	.	4000	1.0	10000
568	Individual	promoter		RAGHAV JETLY	Equity	60697037	India				Business	1000	10	10000
		Other than	Not			IN301549	l			BCJPP36			1	
569	Individual	+'	applicable	PATEL SURESH GANGJI	Equity	61087424	India	 			Service	1000	10	10000
		Other than	Not			IN301549				AREPM07	Housewif			
570	Individual	promoter	+ ' '	POOJA MEHTA	Equity	63041393	India	T		64C	е	15000	10	150000
		Other than	Not			IN301549				AAFPM18				
571	Individual	promoter	applicable	MANJU MEHTA	Equity	63893047	India	<u> </u>	ax PAN	02P	Business	60000	10	600000
		Other than	Not			IN301549		In		AAFPM29				
572	Individual	promoter	applicable	SANJEEV MEHTA	Equity	63893055	India	Т	ax PAN	29P	Business	21000	10	210000
		Other than	Not			IN301549		lı lı	ncome	AAQHS76				
573	Individual	promoter	applicable	SANDEEP SINGLA HUF	Equity	64597794	India	Т	ax PAN	32Q	Others	2000	10	20000
		Other than	Not			IN301549		lı	ncome	AAEHA38				
574	Individual		applicable	ACHHAR LAL SINGLA HUF	Equity	64610124	India				Others	4000	10	40000
		Other than	Not		'	IN301549		 		AADHH43				1
575	Individual	promoter		HARI CHARAN MODI HUF	Equity	66633313	India				Others	3000	10	30000
		Other than	Not	LUV SHAILESH	1-1-1-1-1	IN301549		 		AQCPU9			+	1
576	Individual	promoter	applicable	UTTAMCHANDANI	Equity	66950569	India				Student	16000	10	160000
5,0	arvidual	Other than	Not			IN301549	iiidid	 		DHWPS0	Cladoni	1.0000	+''	100000
577	Individual			PARAMJIT SINGH	_{Equity}	67230020	India				Service	1000	10	10000
J11	murviuual	Promoter	Tahhiicania	II VIVVINILI OIIIOII	Equity	0/230020	Inidia	<u> </u>	ax FAIN	J 4 JC	OC! VICE	1000	110	110000

	Other than	Not	T	T I	IN301604		Income	 AEEDK77	1	I	1	1
ndividual			MVHENDVB KEDIV	Equity		India		1		2000	10	20000
Hulviduai	<u> </u>		WAITENDAN NEDIA			IIIula	-			2000	10	20000
ndividual			RISWA IIT MIDVA	Equity		India				annn	10	90000
Hulviduai	promoter	 ' ' 	DISWASII WIDTA		12707033	IIIula	I ax i Aiv	300W	Illai	19000	10	30000
	Other than	1 -			IN301629		Income	ARAFA67				
=ntity		- I	A7MAT TRADERS LLP	Equity		India			Others	500	10	5000
_iiity	!'			Legalty		IIIdia			Others	1000	10	3000
ndividual				Equity		India			Service	1000	10	10000
Haividuai				Legalty		IIIdia				1000	10	10000
ndividual				Fauity		India		1	P	1000	10	10000
	!		OTAT	Legalty		IIIdia			,	1000	10	10000
			RISHI AGRAWAL HUE	Fauity		India				5000	10	50000
	!		INIONI AGIVAWAL NOI	Legalty		IIIdia			Dusiness	10000	10	30000
			LIMESH PRASAD SINGH	Equity		India		1	Others	10000	10	100000
Haividuai	<u> </u>			Legalty		IIIdia				10000	10	100000
ndividual				Equity		India				27000	10	270000
Hulviduai	<u> </u>		LADINITA			IIIula				27000	10	270000
ndividual			SUMAN KOHU	Equity		India				4000	10	40000
Hulviduai	ļ'-		SOMAN ROTTET			IIIuia			1-	14000	10	40000
ndividual			SHIKHA KUHI I	Equity		India		1	on lousewii	6000	10	60000
Hulviduai	+•		SHIRHA ROHEI			IIIuia	_		-	10000	10	100000
ndividual			HONEA KOHI I	Equity		India			1	4000	10	40000
Hulviduai	<u> ' </u>		HONET ROTTE			IIIuia	<u>.</u>			14000	10	40000
ndividual			RARITA SHESHMA	Equity		India			i lousewii	2000	10	20000
			DADITA SI ILSI IWA			IIIuia	<u>.</u>		-	2000	10	20000
			HONEA KOHI I	Equity		India		1		16000	10	160000
Hulviduai	ł '		HONET ROTTE			IIIuia	-		Dusiness	10000	10	100000
ndividual			SHDEE BANSAI	Equity		India		1	Others	1000	10	10000
	!'		SHILL BANSAL			IIIuia			Others	1000	10	10000
			NISUITU MADCESU MEUTA	Equity		India			Rusinoss	1000	10	10000
Hulviduai	 '		MISHITTIMANGESHIMEHTA			IIIuia				1000	10	10000
ndividual			VIVEK KLIMAR PATEI	Equity		India			1	2000	10	20000
Hulviduai	 '		VIVERNOWARTATEE			IIIula				2000	10	20000
ndividual			ANII KUMAR BANSAI	Equity		India				1000	10	10000
Hulviduai	 '	+ ' '	ANIE KOWAK BANGAE			IIIula		_		1000	10	10000
ndividual			RITA KUMAR	Fauity		India				3000	10	30000
Haividuai	 		INTA NOWAK	Legalty		IIIdia				10000	10	30000
ndividual			RANJAN SAHAY	Fauity		India				18000	10	180000
Tarvidual	 ' 		100000000000000000000000000000000000000	i – quity		mula				10000	1'	100000
ndividual	I		SURINDER KAUR TEJA SINGH	Fauity		India		1		3000	10	30000
- I GI V I G G G I	+•			i – quity		ii idid		_			1.5	
ndividual				Fauity		India				1000	10	10000
	 '	+ • • • • • • • • • • • • • • • • • • •	122.07 (1.01	1-quity		maia				1000	1'5	10000
			AKASH VIMAL TELISARA	Fauity		India				1000	10	10000
G. V IGGGI	!		, to it with the file ion ii to	1-99"				_		1.555	 	1.0000
ndividual	promoter		VARSHA NITESH SHAH	Equity	11531222	India	Tax PAN		e	5000	10	50000
	16.0110101	Japphodolo	V 1 C	1-4411	111001222	maia	TUXTAN		1~	10000	1.0	100000
Hulviduai	Other than	Not	METHANIYA JAYESHKUMAR		IN301991		Income	AATHM16	S			
	Individual Individual Individual Individual Individual Individual Individual	Other than promoter Individual promoter Applicable Other than Body Other than Body Other than Body Other than Rot Individual promoter Applicable	Individual promoter applicable of the than	Individual promoter applicable Not Other than organization promoter applicable applicabl	Individual promoter applicable MAHENDAR KEDIA Equity 11843163 Individual Other than Not Other than O	Individual Dromoter Applicable MAHENDAR KEDIA Equity I1383163 India Individual Dromoter Applicable BiswaJIT MIDYA Equity I12787055 India Individual Dromoter Applicable September Applicable Applicable	Individual promoter applicable BISWAJIT MIDYA Equity 11843163 India Tax PAN	Individual promoter applicable MAHENDAR KEDIA Equity 11843163 India Tax PAN 56A CXXPM4 Individual promoter applicable BiSWAJIT MIDYA Equity 12787055 India Tax PAN 900M Promoter applicable BiSWAJIT MIDYA Equity 12787055 India Tax PAN 900M Promoter applicable BiSWAJIT MIDYA Equity 12078984 India Tax PAN 75D ANAPATE Equity 10079894 India Tax PAN ANAPATE Income ANAPATE Equity 10079894 India Tax PAN India Income Exception India India Income Exception India India Income Exception I	Individual promoter applicable more applicable more applicable appl	Individual promoter applicable MHENDAR KEDIA Equity 11843163 India Tax PAN S6A Service 200	Individual promoter Applicable MAHENDAR KEDIA Equity 1148/3168 India India India Income CXXPMA Forlessio Individual Promoter Applicable BISWAJIT MIDYA Equity India Income CXXPMA Forlessio Income Applicable Income App	

Other than Not Other than Other than Not Other than Other	602 Individual pr 603 Individual pr 604 Individual pr 605 Individual pr 606 Individual pr 607 Individual pr 608 Individual pr 609 Individual pr 610 Individual pr 611 Individual pr 612 Individual pr 613 Individual pr 614 Individual pr 615 Individual pr	Other than promoter	applicable Not applicable	GANGA SHREE KAKRANIA SALONI JHUNJHUNWALA SIMRAN JHUNJHUNWALA SANDHYA GUPTA	Equity Equity Equity Equity	10036095 IN302105 10461237 IN302105 10708194 IN302105 10752705 IN302269	India India	Tax PAN Income Tax PAN Income Tax PAN Income	20C AUCPK22 17M BDOPJ38 93C BCTPJ23 06N	e Housewif e Student	1000	10	20000 10000 20000
Other than Not	603 Individual pr 604 Individual pr 605 Individual pr 606 Individual pr 607 Individual pr 608 Individual pr 609 Individual pr 610 Individual pr 611 Individual pr 612 Individual pr 613 Individual pr 614 Individual pr 614 Individual pr	Other than promoter	Not applicable	GANGA SHREE KAKRANIA SALONI JHUNJHUNWALA SIMRAN JHUNJHUNWALA SANDHYA GUPTA	Equity Equity Equity Equity	IN302105 10461237 IN302105 10708194 IN302105 10752705 IN302269	India India	Income Tax PAN Income Tax PAN Income	AUCPK22 17M BDOPJ38 93C BCTPJ23 06N	Housewif e Student	1000	10	10000
B03 Individual promoter applicable GANGA SHREE KAKRANIA Equity 10461237 India Tax PAN 17M e 1000 10 1 1 1 1 1 1 1	603 Individual pr 604 Individual pr 605 Individual pr 606 Individual pr 607 Individual pr 608 Individual pr 609 Individual pr 610 Individual pr 611 Individual pr 612 Individual pr 613 Individual pr 614 Individual pr	Oromoter Other than Oromoter	applicable Not applicable Not applicable Not applicable Not applicable Not applicable Not applicable	SALONI JHUNJHUNWALA SIMRAN JHUNJHUNWALA SANDHYA GUPTA	Equity Equity Equity	10461237 IN302105 10708194 IN302105 10752705 IN302269	India	Tax PAN Income Tax PAN Income	17M BDOPJ38 93C BCTPJ23 06N	e Student	2000	10	20000
Other than Not South Individual Promoter South S	604 Individual pr 605 Individual pr 606 Individual pr 607 Individual pr 608 Individual pr 609 Individual pr 610 Individual pr 611 Individual pr 612 Individual pr 613 Individual pr 614 Individual pr 615 Individual pr	Other than promoter	Not applicable Not applicable Not applicable Not applicable Not applicable Not applicable	SALONI JHUNJHUNWALA SIMRAN JHUNJHUNWALA SANDHYA GUPTA	Equity Equity Equity	IN302105 10708194 IN302105 10752705 IN302269	India	Income Tax PAN Income	BDOPJ38 93C BCTPJ23 06N	Student	2000	10	20000
604 Individual promoter applicable SALONI JHUNJHUNWALA Equity 10708194 India Tax PAN 93C Student 2000 10 2 2 2 2 2 2 2 2 2	604 Individual pr 605 Individual pr 606 Individual pr 607 Individual pr 608 Individual pr 609 Individual pr 610 Individual pr 611 Individual pr 612 Individual pr 613 Individual pr 614 Individual pr	Oromoter Other than	applicable Not applicable Not applicable Not applicable Not applicable Not	SIMRAN JHUNJHUNWALA SANDHYA GUPTA	Equity	10708194 IN302105 10752705 IN302269		Tax PAN Income	93C BCTPJ23 06N	Student			
Other than Not Solida Differ than Dif	605 Individual pr 606 Individual pr 607 Individual pr 608 Individual pr 609 Individual pr 610 Individual pr 611 Individual pr 612 Individual pr 613 Individual pr 614 Individual pr	Other than promoter	Not applicable Not applicable Not applicable Not applicable Not applicable	SIMRAN JHUNJHUNWALA SANDHYA GUPTA	Equity	IN302105 10752705 IN302269		Income	BCTPJ23 06N				
	605 Individual pr 606 Individual pr 607 Individual Pr 608 Individual pr 609 Individual pr 601 Individual pr 611 Individual pr 612 Individual pr 613 Individual pr 614 Individual pr	Promoter Other than Oromoter Other than Oromoter Other than Oromoter Other than	applicable Not applicable Not applicable Not applicable	SANDHYA GUPTA	Equity	10752705 IN302269	India		06N	Student	3000	10	
Other than papicable SANDHYA GUPTA Equity 10166649 India Tax PAN 09P Others 15000 10 1 1 1 1 1 1 1 1	606 Individual pr 607 Individual Pr 608 Individual pr 609 Individual pr 610 Individual pr 611 Individual pr 612 Individual pr 613 Individual pr 614 Individual pr	Other than promoter Other than promoter Other than promoter Other than promoter	Not applicable Not applicable Not applicable	SANDHYA GUPTA	Equity	IN302269	India	Tax PAN		Student	3000	10	
606 Individual promoter applicable SANDHYA GUPTA Equity 10165649 India Tax PAN 09P Others 15000 10 1 1 1 1 1 1 1 1	606 Individual pr 607 Individual Pr 608 Individual pr 609 Individual pr 610 Individual pr 611 Individual pr 612 Individual pr 613 Individual pr 614 Individual pr 614 Individual pr	Promoter Other than promoter Other than promoter Other than promoter	applicable Not applicable Not applicable									1	30000
	607 Individual Procession of the procession of t	Promoter Other than promoter Other than promoter	Not applicable Not applicable					Income	JAEFPG98			1	
Not Applicable Promoter Applicable SAKET AGARWAL Equity 10242574 India Tax PAN 11P Others 1249929 10 1 1 1 1 1 1 1 1	607 Individual Procession 608 Individual procession 609 Individual procession 609 Individual procession 610 Individual procession 611 Individual procession 612 Individual procession 613 Individual procession 614 Individual procession 615 Individual procession 616 Individual procession 617 Individual procession 618 Individual procession 619 Individual procession 610 Individual procession 611 Individual procession 612 Individual procession 613 Individual procession 614 Individual procession 615 Individual procession 616 Individual procession 617 Individual procession 618 Individual procession 619 Individual procession 61	Promoter Other than promoter Other than promoter	Not applicable Not applicable				India	Tax PAN	08P	Others	15000	10	150000
100 100	608 Individual pr 609 Individual pr 610 Individual pr 611 Individual pr 612 Individual pr 613 Individual pr 614 Individual pr	Promoter Other than oromoter Other than oromoter	applicable Not applicable	SUNITA SINHA	1	IN302269						†	
Other than Not SAKET AGARWAL Equity 11000494 India Tax PAN 42C Aze 1000 10 1 1 1 1 1 1 1	608 Individual pr 609 Individual pr 610 Individual pr 611 Individual pr 612 Individual pr 613 Individual pr 614 Individual pr	Other than promoter Other than promoter	Not applicable		IFauity		India			1	1249929	10	12499290
608 Individual promoter applicable SAKET AGARWAL Equity 11000494 India Tax PAN 42C nal 1000 10 1 1 1 1 1 1 1	608 Individual pr 609 Individual pr 609 Individual pr 610 Individual pr 611 Individual pr 612 Individual pr 613 Individual pr 614 Individual pr	oromoter Other than oromoter	applicable		1		maia				12.10020	+	12.00200
Other than Not applicable ASHIM KUMAR Equity 14469928 India Tax PAN 68B Business 9000 10 9 9 10 10 10 10	609 Individual pr 610 Individual pr 611 Individual pr 612 Individual pr 613 Individual pr 614 Individual pr	Other than promoter		SAKET AGARWAI	Fauity		India			1	1000	10	10000
100 100	609 Individual pr 610 Individual pr 611 Individual pr 612 Individual pr 613 Individual pr 614 Individual pr	oromoter	Not I	SARET AGARWAL	Lquity		IIIula				1000	10	10000
Other than Not ACHATO Not ADHINA College ACHATO Not ADHINA ACHATO ACHATO Not ADHINA ACHATO Not ADHINA ACHATO ACHATO Not ADHINA ACHATO ACHATO Not ADHINA ACHATO ACHATO Not ADHINA ACHATO ACHA	610 Individual pr 611 Individual pr 612 Individual pr 613 Individual pr 614 Individual pr			A SHIMA KLIMAD	Fauity		India				0000	10	90000
610 Individual promoter Applicable AKSHAY KUMAR GOEL HUF Equity 109408484 India Tax PAN 12G Others 1000 10 1 1 1 1 1 1 1	610 Individual pr 611 Individual pr 612 Individual pr 613 Individual pr 614 Individual pr	Jiner inan 🗀		ASHIW KUWAK	Equity		India				19000	110	90000
Other than Oth	611 Individual pr 612 Individual pr 613 Individual pr 613 Individual pr 614 Individual pr			ALCOLIAN ICUMAR OCEL LILIE	,					1	4000	1.0	10000
Section Individual Indivi	611 Individual pr 612 Individual pr 613 Individual pr 613 Individual pr 614 Individual pr			AKSHAY KUMAR GOEL HUF	Equity		India			Otners	1000	110	10000
Other than Not ABHISHEK GUPTA Equity 10923086 India Tax PAN 421 Business 57000 10 5	612 Individual pr 613 Individual pr 613 Individual pr 614 Individual pr											1	
612 Individual promoter Applicable ABHISHEK GUPTA Equity 10923086 India Tax PAN 421 Business 57000 10 5 5 5 5 5 5 5 5 5	612 Individual pr O 613 Individual pr O 614 Individual pr			ABHINANDAN GUPTA	Equity		India	Tax PAN		Student	32000	10	320000
Other than Oth	613 Individual pr 614 Individual pr	Other than											
613 Individual promoter applicable ASHOK KUMAR GUPTA HUF Equity 10940587 India Tax PAN 24M Service 27000 10 2 2 2 2 2 2 2 2 2	613 Individual pr O 614 Individual pr	oromoter	applicable	ABHISHEK GUPTA	Equity	10923086	India	Tax PAN		Business	57000	10	570000
Other than promoter applicable part Mangaldas Shah Equity 10438054 India 11ax PAN 11ax Student 11bx Student 11bx Student 11bx PAN 11bx Student 11bx PAN 11bx Student 11bx PAN	614 Individual pr	Other than	Not			IN302365		Income	AAJHA54				
Other than promoter applicable part MANGALDAS SHAH Equity 10436054 India 116 Tax PAN 11R Student 117 Student 118 S	614 Individual pr	oromoter	applicable	ASHOK KUMAR GUPTA HUF	Equity	10940587	India	Tax PAN	24M	Service	27000	10	270000
Other than Not applicable AAKASHI NISHITH MEHTA Equity 10436239 India 1ncome ETTPS94 Housewif Tax PAN 91D e 4000 10 4 10436239 India 1ncome AIYPM71 Tax PAN 91D e 4000 10 4 10436239 India 1ncome AIYPM71 Tax PAN 91D e 4000 10 4 10436239 India 1ncome AIYPM71 Tax PAN 91D e 4000 10 4 10436239 India 1ncome AIYPM71 Tax PAN 91D e 4000 10 9 10 9 10 10 10 10 10 10 10 10 10 10 10 10 10		Other than	Not			IN302461		Income	ETUPS01				
Other than Not applicable AAKASHI NISHITH MEHTA Equity 10436239 India 1ncome ETTPS94 Housewif Tax PAN 91D e 4000 10 4 10436239 India 1ncome AIYPM71 Tax PAN 91D e 4000 10 4 10436239 India 1ncome AIYPM71 Tax PAN 91D e 4000 10 4 10436239 India 1ncome AIYPM71 Tax PAN 91D e 4000 10 4 10436239 India 1ncome AIYPM71 Tax PAN 91D e 4000 10 9 10 9 10 10 10 10 10 10 10 10 10 10 10 10 10		oromoter	applicable	PARTH MANGALDAS SHAH	Equity	10436054	India	Tax PAN	11R	Student	8000	10	80000
Composition of the Individual promoter AAKASHI NISHITH MEHTA Equity 10436239 India Tax PAN 91D e 4000 10 4					' '			Income	ETTPS94	Housewif			
Other than promoter applicable SUPARNA MADAN Equity 31133064 India Tax PAN 99L Service 9000 10 9 Other than Not SURYA CHANDRA RAJA IN302679 Income AQEPS32 India Tax PAN 00L Others 3000 10 3 Other than Not PRASAD BHALCHANDRA IN302679 Income ABBPT76 Income ABBPT76 Tax PAN 80H Service 1000 10 1 Other than Not Other than Not IN302679 India Tax PAN 80H Service 1000 10 1 Other than Not IN302679 India Tax PAN 80H Service 1000 10 1 Other than Not IN302679 India Tax PAN 31L nal 1000 10 1 Other than Not IN302679 India Tax PAN 31L nal 1000 10 1 Other than Not IN302679 India Tax PAN 31L nal 1000 10 1 Other than Not IN302814 Income ABXPT89 Income A				AAKASHI NISHITH MEHTA	Equity		India				4000	10	40000
Composition of the composition					- 1					 		+	1
Other than Not applicable KODURU Equity 33529403 India Tax PAN 00L Others 3000 10 3 Other than Not pRASAD BHALCHANDRA applicable THIPSAY Equity 37159500 India Tax PAN 00L Others 3000 10 10 10 10 10 10 10 10 10 10 10 10				SUPARNA MADAN	Fauity		India			Service	9000	10	90000
617 Individual promoter applicable KODURU Equity 33529403 India Tax PAN 00L Others 3000 10 3 Other than Not PRASAD BHALCHANDRA applicable THIPSAY Equity 37159500 India Tax PAN 80H Service 1000 10 1 Other than Not AAMPH02 Professio nal 1000 10 1 Other than Not Other than Not ABPT6 Income AAMPH02 Professio nal 1000 10 1 Other than Not IN302814 India Tax PAN 85F Business 1000 10 1 Other than Not ABPT89 Income ABXPT89 Income AJXPR24 Income AJXPR24 Income AJXPR24 Income AJXPR24 Income AJXPR24 Income AJXPR24 Income AAXPR24 Inc					Lquity		maia					+	
Other than Not PRASAD BHALCHANDRA Equity 37159500 India Tax PAN 80H Service 1000 10 1 Other than Not Prasad BHALCHANDRA Equity 37159500 India Tax PAN 80H Service 1000 10 1 Individual promoter applicable KHALID HUSSAIN Equity 37507966 India Tax PAN 33L nal 1000 10 1 Other than Not IN302814 Income ABXPT89 Business 1000 10 1 Other than Not IN302814 Income AJXPR24 621 Individual promoter applicable VINOD TULSHIRAM RASKAR Equity 12310267 India Tax PAN 37G Service 1000 10 1 Other than Not IN302902 Income AAEPD01					Fauity		India				3000	10	30000
Individual promoter Applicable THIPSAY Equity 37159500 India Tax PAN 80H Service 1000 10 1	- '				Legalty		IIIuia				15000	+10	150000
Other than promoter applicable KHALID HUSSAIN Equity 37507966 India Tax PAN 33L nal 1000 10 1 Other than Not applicable DOLLY THARAD Equity 10993960 India Tax PAN 85F Business 1000 10 1 Other than Not applicable DOLLY THARAD Equity 1093960 India Tax PAN 85F Business 1000 10 1 Other than Not IN302814 Income AJXPR24 Income AAEPD01 Income AAEPD01					Equity		India				1000	10	10000
619 Individual promoter applicable KHALID HUSSAIN Equity 37507966 India Tax PAN 33L nal 1000 10 1 Other than Not IN302814 Income ABXPT89 Income ABXPT89 Other than Not IN302814 Income AJXPR24 Income A				THE SAT	Lquity		iiiula				1000	+10	10000
Other than Not applicable DOLLY THARAD Equity IN302814 Income ABXPT89 Business 1000 10 1 Other than Not IN302814 Income ABXPT89 Business 1000 10 1 Other than Not IN302814 Income AJXPR24 Income AAEPD01 Income AAEPD0				INHALID HIREAIN			India			1	1000	10	10000
620 Individual promoter applicable DOLLY THARAD Equity 10993960 India Tax PAN 85F Business 1000 10 1 Other than promoter applicable VINOD TULSHIRAM RASKAR Equity 12310267 India Tax PAN 37G Service 1000 10 1 Other than Not IN302902 Income AAEPD01			- ' '	NUALID UOSSAIN	⊏quity		inula			ıılaı 	1000	110	10000
Other than Not applicable VINOD TULSHIRAM RASKAR Equity IN302814 India Income AJXPR24 Service 1000 10 1 Other than Not IN302902 Income AAEPD01 Income AAEPD								I		D is	4000	40	10000
621 Individual promoter applicable VINOD TULSHIRAM RASKAR Equity 12310267 India Tax PAN 37G Service 1000 10 1 Other than Not IN302902 Income AAEPD01			_ ' '	DOLLY THAKAD	⊏quity		ındıa			Business	1000	110	10000
Other than Not IN302902 Income AAEPD01	1			l									'
			- ' '	VINOD TULSHIRAM RASKAR	Equity		India			Service	1000	10	10000
622 Individual Internator Lapplicable LANLID DADLIKA Equity 141504466 India Tay DAN 1275 Others 14000 140 14		-							_				
	622 Individual pr		- ' '	ANUP DARUKA	Equity	41504166	India	Tax PAN	_	Others	1000	10	10000
Other than Not	0	Other than				IN302902		Income	ACQPJ74				
623 Individual promoter applicable AMITKUMAR NIHALCHAND JAIN Equity 41595383 India Tax PAN 89L Service 2000 10 2	623 Individual pr	oromoter	applicable	AMITKUMAR NIHALCHAND JAIN	Equity	41595383	India	Tax PAN	89L	Service	2000	10	20000
Other than Not IN302902 Income ARQPS85	O	Other than	Not			IN302902		Income	ARQPS85				
			applicable	RAKESH KUMAR SINGH	Equity	42892967	India	Tax PAN	15B	Service	2000	10	20000
Other than Not IN302902 Income AIWPR55 Housewif		oromoter										1	
	625 Individual pr			RITU SHAH	Equity	47237255	I I	Tax PAN			1	10	

		Other than	Not	1		IN302943		line	come	AAPPG35			<u> </u>	
626	Individual	promoter		RAKESH KUMAR GOEL	Equity	10000301	India				Business	2000	10	20000
020	IIIuiviuuai	Other than	Not	TAREST ROWAR GOLL	Lquity	IN302943	IIIuia			AABHR44	Dusilless	2000	10	20000
627	Individual	promoter		RAKESH GOEL HUF	Equity	10003100	India				Business	1000	10	10000
021	IIIuiviuuai	promotei	Body	NAREST GOEL HOP	Equity	10003100	IIIuia	l la	IX FAIN	3311	Dusiness	1000	110	10000
		Other than	1 -			IN302943		Inc	nomo	AAACD26				
620	Cotity.		corporate	DIAMOND DECOR (D) LTD	Fauity		India				Othere	9000	10	90000
028	Entity	promoter	(not Not	DIAMOND DECOR (P) LTD.	Equity	10008743	india				Others	8000	10	80000
620	امينامانية	Other than		CANIZET COEL	Lawit.	IN302943	ladia			AOSPG7	Dusinasa	2000	10	20000
629	Individual	promoter		SANKET GOEL	Equity	10088014	india				Business	3000	10	30000
000	ا ما بامان بالماما	Other than	Not	LUMANICIU COEL		IN302943	lia alta			AOSPG7	O4	2000	10	20000
630	Individual	promoter	applicable	HIMANSHI GOEL	Equity	10088080	india				Student	2000	10	20000
004	ا ما بامان بالماما	Other than	Not			IN302943	lia alta			ADMPK98	l	44000	10	140000
631	Individual	promoter	applicable	HIRA LAL KHATRI	Equity	10106519	india				Business	11000	10	110000
200		Other than	Not		,	IN302943				BJPPS06	Housewif	4000	40	40000
632	Individual	promoter		SHALINI SARAF	Equity	10222481	India	l la	x PAN	30D	е	1000	10	10000
		O415 a == 415	Body	COET TOUGH COMMEDCIAL		IN1000054		.		A A C C C C C				
		Other than	· •	SOFT TOUCH COMMERCIAL	,	IN302951				AAOCS22	l		1.0	
633	Entity	promoter	(not	PRIVATE LIMITED	Equity	20134646	India				Others	2000	10	20000
		Other than	Not			IN303028				AGTPG08			1.0	
634	Individual	promoter		CHANDRA KANTA GUPTA	Equity	10867592	India					5000	10	50000
		Other than	Not			IN303028	l l			AKXPJ92	Housewit			
635	Individual	promoter		ANJALI AZAD JOSHI	Equity	13096177	India				е	1000	10	10000
		Other than	Not			IN303028	l			CPVPJ17				
636	Individual	·		SAJAL JINDAL	Equity	13346910	India				Student	1000	10	10000
		Other than	Not			IN303028	l			ABDPG02	l			
637	Individual	promoter		ASHOK KUMAR GUPTA	Equity	13593696	India	Та			Others	8000	10	80000
		Other than	Not	DALPATSINGH RAMSINGH		IN303028				AQSPR63				
638	Individual	promoter		RATHORE	Equity	25092736	India	Та			Business	1000	10	10000
		Other than	Not	KETAN KUMAR ARVIND KUMAR		IN303028				ANWPK1				
639	Individual	promoter		KANDHWAY	Equity	27469022	India	Та			Business	1000	10	10000
		Other than	Not			IN303028				AEQPG1				
640	Individual	promoter	applicable	NAGENDRA GUPTA	Equity	30143787	India	Та	x PAN	279K	Business	1000	10	10000
		Other than	Not			IN303028				APPPP60				
641	Individual	promoter	+ ' '	CHHATAR PAL	Equity	30896987	India				Business	1000	10	10000
		Other than	Not			IN303028				AMKPJ77				
642	Individual	promoter	+ • •	SURBHI JAIN	Equity	39071774	India				Others	2000	10	20000
		Other than	Not			IN303028				AXXPG92				
643	Individual	promoter	+ ' '	MAMTA GUPTA	Equity	43142417	India	Та			Business	1000	10	10000
		Other than	Not	HEMANTKUMAR		IN303028				BSZPM63				
644	Individual	promoter	applicable	BHAGWANTRAO MANE	Equity	43511257	India	Та			Business	1000	10	10000
		Other than	Not			IN303028				ADEPB69				
645	Individual	promoter	applicable	VINAY BAGRI	Equity	50872705	India	Та	x PAN	66F	Service	3000	10	30000
		Other than	Not			IN303028		Inc		BCWPJ06	Housewif			
646	Individual	promoter	applicable	JYOTSANA JAISWAL	Equity	54078493	India	Та		41P	е	1000	10	10000
		Other than	Not			IN303028		Inc	come	AAHPT24				
647	Individual	promoter	applicable	BADRI NARAYAN TIWARI	Equity	57360531	India	Ta	x PAN	37R	Service	2000	10	20000
		Other than	Not			IN303028		Inc	come	AEZPV52	Professio			
648 l	Individual	promoter	applicable	NILESH ARUNKUMAR VAKHARIA	Equity	60510109	India	Ta	x PAN	96A	nal	1000	10	10000

		Otherthen	Not	1	Т		1	T II		DIODMEO		T	T	<u> </u>
640	Individual	Other than	Not	KSHITIZ MITTAL	Equity	IN303028 62936934	India	1		BIQPM58 54H	Service	2000	10	20000
049	IIIuiviuuai	promoter Other then	applicable Not	RSHITIZ WITTAL	Equity	IN303028	IIIuia			AIRPP54	Service	2000	10	20000
GEO	امينامان بأماريما	Other than		NAZUL DDACAD	Lauit.		ladia	1			Ducinosa	2000	10	20000
050	Individual	promoter	 ' ' 	NAKUL PRASAD	Equity	66706269	india				Business	2000	10	20000
ا ء ۔		Other than	Not	ZANAID ALIMED TALK		IN303028	l	1	ncome	AEBPT75		4000	1,0	40000
651	Individual	promoter		ZAMIR AHMED TAK	Equity	73732251	India	+	Tax PAN		Business	1000	10	10000
		Other than	Not			IN303028	l	1	ncome		Housewif		1	
652	Individual	promoter	applicable	MAYA	Equity	75517568	India	+		788M	е	2000	10	20000
		Other than	Not			IN303028		1		AZUPS45	Housewif			
653	Individual	<u> </u>		AMITA RUPESH MASAVKAR	Equity	82058104	India			81P	е	10000	10	100000
		Other than	Not			IN303028				CFEPK53				
654	Individual	promoter	applicable	JEET KANANI	Equity	82222584	India	7	Γax PAN	09B	Business	1000	10	10000
		Other than	Not	BIPINCHANDRA HARKISANDAS		IN303028			ncome	ABYPK63				
655	Individual	promoter	applicable	KADHIWALA	Equity	95435459	India	7	Γax PAN	37K	Business	8000	10	80000
		Other than	Not			IN303052		1	ncome	ASHPS60				
656	Individual	promoter	applicable	ALPESHBHAI RASIKLAL SHAH	Equity	10497813	India	-	Γax PAN	53N	Service	2000	10	20000
		Other than	Not			IN303052		l		DJQPS63	Housewif			
657	Individual	promoter	applicable	NIRALI VIJAYBHAI SHAH	Equity	10748886	India	-		38H	е	18000	10	180000
-		Other than	Not			IN303108		+	ncome	ASDPM55			1	100000
658	Individual	promoter	l .	AGRIM MEHANDIRATTA	Equity	10084494	India	1			Student	1000	10	10000
		Other than	Not	MANJU KRISHNAKUMAR	1 and 1	IN303108	maia	+		AGNPJ99		1000	1.0	1.0000
659	Individual	promoter	applicable	JAGNANI	Equity	10293846	India	1		l	е	1000	10	10000
	maividadi	Other than	Not		Legaity	IN303116	India		ncome	APYPS93		1000	1.0	10000
660	Individual	1	l .	JASPAL SINGH	Equity	11342778	India	1			Business	1000	10	10000
000	maividuai	Other than	Not	ONOT THE CHINCH	Lquity	IN303116	IIIdia		ncome	ABCPG24	Dusiness	1000	+10	10000
661	Individual	promoter		ANIL GATTANI	Equity	13186318	India	1			Business	1000	10	10000
001	IIIdividuai	Other than	Not	ANE OATTAN	Lquity	IN303116	IIIuia			AAKHN48	Dusiness	1000	110	10000
662	Individual	promoter	l .	NAMAN GARG HUF	Equity	14423163	India	1			Others	1000	10	10000
002	Illulviduai	promoter		INAMAN GARG FOR	Equity	14423103	IIIuia		I AX FAIN	233	Others	1000	110	10000
		O 4 la a 11 4 la a 12	Body			IN1202070		,		A A A O KO 4				
		Other than	corporate	ICHOUNA ALLOYO LINATED	_ ,	IN303270	l	1		AAACK94	011	0000	10	00000
663	Entity	promoter	(not	KUSUM ALLOYS LIMITED	Equity	11019880	India	+			Others	3000	10	30000
		Other than	Not			IN303591	l			ВНТРМ79			1	
664	Individual	promoter	+ · · · 	ADITYA KUMAR MISHRA	Equity	10068259	India		Γax PAN	80G	Service	7000	10	70000
			Body											
		Other than	corporate	MULTITUDE GROWTH FUNDS		IN303622		1		AASCA84				
665	Entity	promoter	(not	LIMITED	Equity	10031679	India]			Others	196000	10	1960000
		Other than	Not			IN304246			ncome	AEZPT10				
666	Individual	promoter	applicable	PATHIK NATWARLAL THAKKAR	Equity	10000633	India	7	Γax PAN	05M	Business	3000	10	30000
		Other than	Not			IN304295			ncome	AQAPS51				
667	Individual	promoter	applicable	AMIT RAMESH SAWHNEY	Equity	17377711	India	<u> </u>	Γax PAN	72R	Service	12000	10	120000
		Other than	Not			IN304295			ncome	DSNPK99				
668 l	Individual	promoter	applicable	MOHAMMAD IMRAN KHAN	Equity	71466203	India	-	Γax PAN	79Q	Service	1000	10	10000
		Other than	Not			IN304295				CVPPK64				
669 l	Individual	promoter	l .	PARASHARAM KITTOR	Equity	74853689	India	1	Γax PAN		Service	1000	10	10000
		Other than	Not			IN304295				AKVPM07			1	
670 l	Individual	promoter	applicable	RUPESH RAMESH MASAVKAR	Equity	87370177	India				Service	1000	10	10000
3.0		Other than	Not		1-4-17	IN304586			ncome	ACOPC4	30.1100		1.5	1.5555
671	Individual	1		JAGDISH PRASAD CHOLIDHARY	Fauity		India	1			Rusiness	1000	10	10000
671	Individual	promoter	applicable	JAGDISH PRASAD CHOUDHARY	Equity	10000447	India		Γax PAN	175G	Business	1000	10	10000

			Body	NATIONAL STOCK EXCHANGE									T
		Other than	corporate	OF INDIA LIMITED ACCOUNT		IN306114		Income	AAACN17				
672	Entity	promoter	(not	GUINESS SECURITIES LIMITED	Equity	12331343	India	Tax PAN	97L	Others	12000	10	120000
		Other than	Not			IN306114		Income	EBSPK56	Housewif			
673	Individual	promoter	applicable	SANJU KUMARI	Equity	52862812	India	Tax PAN	92B	е	1000	10	10000
		Other than	Not			IN306114		Income	AJOPJ22				
674	Individual	promoter	applicable	MANITA JAISWAL .	Equity	67396253	India	Tax PAN	02J	Business	1000	10	10000
		Other than	Not			IN306122		Income	ESKPS94				
675	Individual	promoter	applicable	ANHAD SETHI	Equity	10209837	India	Tax PAN	27K	Service	4000	10	40000



DEEPAK DHIR & ASSOCIATES

Company Secretaries

Office No. 5-6, First Floor, WZ-98, Lamba Complex Jwala Heri Market, Paschim Vihar, New Delhi-110063 Mob.: +91-7503304860, Ph.: 011-45019978 E-mail: csdeepakdhir@gmail.com

Form No. MGT-8

[Pursuant to section 92(2) of the Companies Act, 2013 and rule 11(2) of Companies (Management and Administration) Rules, 2014]

CERTIFICATE BY A COMPANY SECRETARY IN PRACTICE

Company Registration No.: L52190BR2002PLC009872

I have examined the registers, records and books and papers of "ADITYA CONSUMER MARKETING LIMITED" as required to be maintained under the Companies Act, 2013 and the rules made there under for the financial year ended on 31st March, 2025. In my opinion and to the best of my information and according to the examinations carried out by me and explanations furnished to me by the Company, its officers and agents, I certify that:

- A. The Annual Return states the facts as at the close of the aforesaid financial year correctly and adequately.
- B. During the aforesaid financial year, the Company has complied with provisions of the Act & Rules made there under in respect of:
 - 1. The Company is a 'Public Limited Company' listed in BSE on SME Platform.
 - 2. The Company has kept and maintained all registers/records and making entries within the time prescribed therefore.
 - 3. The Company has duly filed the forms and returns as stated in the annual return, with the Registrar of Companies, Regional Director, Central Government, the Tribunal, Court or other authorities within/beyond the prescribed time under the Act and the rules made there under.
 - 4. The Company has duly called, convened and held meetings of Board of Directors and its committees and the meetings of the members of the Company on due dates as stated in the annual return in respect of which meetings, proper notices were given and the proceedings have been properly recorded in the minutes' book/registers maintained for the purpose and the same have been signed.

Board Meeting: 06 (Six) times on 24.05.2024, 03.07.2024, 28.10.2024, 12.11.2024, 17.02.2025 and 12.03.2025

- 5. The Company closed its Register of Members and Share Transfer book as and when required-NA
- 6. The Company has not made any advances/loans to its directors and/or persons or firms or companies referred in section 185 of the Act during the financial year under review.

7.	The Company has not entered in Section 188 of the Act.	into modulifracts/a	rrangements with related parties as specified Contd2
		C.P. No. 17296	Contd2

Aditya Consumer Marketing Limited......2

However, there were certain transactions with related parties as specified in Section 188 of the Act during the financial year under review which were on Arm's length basis and were in ordinary course of business as mentioned in the financial statements of the Company.

- 8. During the Financial Year:
 - a. There was no issue or allotment or transfer or transmission or buy back of securities.
 - b. There was no redemption of preference shares or debentures.
 - c. There was no alteration or reduction in share capital
 - d. There was no conversion of shares/ securities.
- 9. There were no transactions necessitating the Company to keep in abeyance the rights to dividend, rights share and bonus shares pending registration of transfer of shares.
- 10. The Company was not required to post dividend-warrants to any of its members as no dividend was declared during the financial year 2024-25. The provisions in accordance with section 125 of the Act relating to transfer of amount remaining in unpaid dividend account, application money due for refund, matured deposits, matured debentures and the interest accrued thereon which have remained unclaimed or unpaid for a period of 7 years to Investor Education and Protection Fund are not applicable as no such amount remains outstanding in the Books of Accounts of the Company.
- 11. The Company has complied with the provisions of section 134 of the Act regarding Signing of audited financial statement and that report of directors is as per sub-sections (3),(4) and (5) thereof;
- 12. During the Financial Year:
 - a. The Board of Directors of the Company is duly constituted.
 - b. During the financial year 2024-25, no any new Directors has been appointed and no any resignation request from Directors has been received.
 - c. The Directors of the Company have made due disclosers of their interest to the Company in compliance with the provisions of the Act.
 - d. The Company is duly constituted with the Key Managerial Personnel.
 - e. The remuneration paid to the directors and Key Managerial Personnel is in due compliance with the provisions of the Act.
- 13. M/s Nirmal & Associates, Chartered Accountant, Statutory Auditors of the Company having membership No. 079995 and Firm Registration No. 002523C, hold the office from 19th Annual General Meeting to 24th Annual General Meeting hence, there was no casual vacancy of auditors during the financial year.

14. A	is per the information provided by the management, the Company was not required to obtain
а	any approvals of the Central Government, Tribunal, Regional Director, Registrar, Court or such
c	other authorities under the various provisions of the Act during the financial year.

Contd.....3

Aditya Consumer Marketing Limited......3

- 15. The Company has not invited/ accepted any deposits from the public covered u/s 73 to 76 of the Companies Act, 2013 during the year ended March 31, 2025. There were no unclaimed or unpaid deposits as on March 31, 2025.
- 16. During the Financial Year:
 - a. The Company has borrowed an amount of Rs. 54,604,015.11/- from Banks.
 - b. The Company has not created and modified any charge.
- 17. During the year under review, the Company has not advanced any loans/ given guarantees/ made investments/ provided securities to other bodies corporate or persons falling under the provisions of section 186 of the Act;
- 18. During the financial year the Company has not altered the provisions of the Memorandum or Articles of Association of the Company.

For Deepak Dhir & Associates
Company Secretaries

Deepak Kumar Dhir M. No. FCS 11633

CP No. 17296 Peer Review No. 1918/2022

Date: 09.09.2025

Place: New Delhi

UDIN: F011633G001207597

Note: This certificate is to be read with our letter which is annexed as 'Annexure-A' and forms an integral part of this certificate.



DEEPAK DHIR & ASSOCIATES

Company Secretaries

Office No. 5-6, First Floor, WZ-98, Lamba Complex Jwala Heri Market, Paschim Vihar, New Delhi-110063 Mob.: +91-7503304860, Ph.: 011-45019978 E-mail: csdeepakdhir@gmail.com

'Annexure-A'

To,

Board of Directors **Aditya Consumer Marketing Limited**Ground Floor, M-19
Road No. 02, S. K. Nagar
Patna, Bihar-800001

Our certificate is to be read along with this letter:

- 1. Maintenance of secretarial records is the responsibility of the management of the Company. Our responsibility is to express an opinion on these secretarial records based on our inspection of records produced before us for audit.
- 2. We have followed the audit practices and processes as were appropriate to obtain reasonable assurance about the correctness of the contents of the secretarial records. The verification was done on test basis to ensure that correct facts are reflected in secretarial records. We believe that the processes and practices, we followed provide a reasonable basis for our opinion.
- 3. We have not verified the correctness and appropriateness of financial records and books of accounts of the Company.
- 4. Wherever required, we have obtained the management representation about the compliance of laws, rules and regulations and happening of events etc.
- 5. The compliance of the provisions of corporate and other applicable laws, rules, regulations, standards is the responsibility of management. Our examination was limited to the verification of procedures on test basis.
- 6. The certificate in Form MGT-8 is neither an assurance as to future viability of the Company nor of the efficacy or effectiveness with which the management has conducted the affairs of the Company.

For Deepak Dhir & Associates
Company Secretaries

Date: 09.09.2025

Place: New Delhi

CP No. 17296 Peer Review No. 1918/2022

Deepak Kumar Dhir M. No. FCS 11633

UDIN: F011633G001207597